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.REPT 0
IDENi IF ICATION
PRODUCT CODE : AC-8190B-MC
PRODUCT NAME : CVKABBO LSI-11 EIS INST TEST
DATE CREATED: JuLy, 1981
MAINTAINER: DIAGNOSTIC GROUP

COPYRIGHT (C) 1975,1981
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASS.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE FOR USE ONLY

ON A SINGLE COMPUTER SYSTEM AND MAY BE COPIED ONLY WITH
THE INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS

SOF TWARE, OR ANY OTHER COPIES THEREOF, MAY NOT BE PROVIDED
OR OTHERWISE MADE AVAILABLE TO ANY OTHER PERSON EXCEPT

FOR USE ON SUCH SYSTEM AND TO ONE WHO AGREES TO THESE
LICENSE TERMS. TITLE TO AND OWNERSHIP OF THE SOF TWARE
SHALL AT ALL TIMES REMAIN IN DEC.

THE INFORMATION [N THIS DOCUMENT IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A (OMM]T-
MENT BY DIGITAL EQUIPMENT CORPORTATION.

DEC ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY
gEcITS SOF TWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY

56Q@ 0001
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ABSTRA(CT

THIS PROGRAM TESTS THE LSI-11 EXTENDED INSTRUCTION SET
<ASH, ASHC, MUL, AND DIV> OPTION USING RLGISTERS 0=5 AT-
LEAST ONCE WITH EACH INSTRUCTION, IT IS ALSO CHECKED THAT
EXTENDED INSTRUCTIONS CAN BE INTERRUPTED (BY THE CONSOLE
TELETYPE) [HOWEVER TKIS TEST WILL NOT BE EXECUTID WHEN BIT
5 OF SENVM BYTE IS HIGH ]. THE PROGRAM SHQOULD BE RUN FOR
AT LEAST 2 PASSES WITH ALL SWITCHES LOW. THE PROGRAM [S
DESIGNED TO RUN UNDER APT. AND ACT. SYSTEMS. WHEN RUNNING
UNDER APT WITH BIT S OF SENVM LOW IT WILL BE REQUIRED TO
HAVE A SLU WITH TTY REGISTERS HAVING ADDRESSES OF 170560-66
ANDTégTERUPT VECTORS OF 70 FOR RECEIVER AND 74 FOR TRANS-
MIT

REQUIREMENTS

EQUIPMENT

LSI=11 STANDARD COMPUTER WITH EIS OPTION
AND 4K OF MEMORY

STORAGE
PROGRAM STORAGE - THE ROUTINES USE MEMORY 0 - 17500

PRELIMINARY PROGRAMS
NONE

LOADING PROCEDURE
USE STANDARD PROCEDURE FOR ABS TAPES.

STARTING PROCEDURE

CONTROL SWITCH SETTINGS
SEE 5.1 (ALL LOW FOR WORST CASE TESTING)
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4.2

4.3

4.3.1

$.3.2

5.

1

STARTING ADDRESS
AFTER LOADING THE PROGRAM [T SHOULD ALWAYS BE STARTED AT 200.
IF IT 1S DESIRED 10 SAVE THE PASS COUNTER THEN THE PROGRAM

SHOULD BE RESTARTED AT LOCATION RESTRT [I1.E. 2221 OTHERWISE THE
PROGRAM CAN BE RESTARTED AT 200

PROGRAM AND/OR OPERATOR A(TION

STAND ALONE
1)  PLACE LTC SWITCH IN OFF POSITION (IF APPLICABLE).

2) LOAD PROGRAM INTO MEMORY USING ABS LOADER OR XXDP+ (.R VKAB??).

3) SET SWITCHES (SEE SEC 5.1) ALL LOW FOR WORST CASE.

&) TYPE 200G IF USING ABS LOADER.

5) THE PROGRAM WILL LOOP AND '‘END PASS'' WILL BE TYPED AFTER
COMPLETION OF FIRST PASS AND EVERY 4TH PASS. HOWEVER TYPE
QUT WILL BE SUPPRESSED IF BIT 5 OF LOCATION SENVM S HIGH

6) A MINIMUM OF TWO PASSES SHOULD ALWAYS BE RUN.

UNDER APT

LOAD THE PROGRAM AND START AFTER SETTING THE DESIRED SWITCHES
(SEE SEC. 5.1). HOWEVER IF THE DIAGNOSTIC IS RUN UNDER APT.
WITH BIT S OF SENVM LOW THEN IT WILL BE REQUIRED THAT A SLU
WITH TTY REGISTERS HAVING ADDRESSES OF 176560-66, AND INTERUPT
VECTORS OF 70 FOR RECEIVER AND 74 FOR TRANSMITTER BE PRESENT,
1T WILL ALSO BE REQUIRED TO CHANGE THE PASS TIME FROM 5 SEC.
TO 15 SECONDS AND THE TEST TIME FROM 3 7O 10 SECONDS

OPERATING PROCEDURE

SWITCH SETTINGS

A 16 BIT LOCATION CALLED $SWREG (1.E. LOCATION 422) HAS BEEN
USED TO GIVE THE FOLLOWING OPTIONS BY INSERTING A 1 IN THEIR
RESPECTIVE POSITIONS

BIT # OCTAL VALUE FUNCTION
15 100000............ HALT ON ERROR
13 020000............ INHIBIT PRINTOUT

AN 8 BIT BYTE SENVM []1.E. LOCATION 421] HAS BEEN USED TO DEF INE
THE OPERATING MODE. ALL TYPEOUTS CAN BE SUPPRESSED BY MAKING
BééA?Iga ?géE SENVM HIGH, IN OTHER WORDS BY PLCING A 20000 IN

L

SEQ 0004
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5.2

5.2.1

5.2.2

6.2

SUBROUT INE ABSTRA(TS

HALT ROUTINE

THIS ROUTINE CALLED VIA JSR INSTRUCTION IS USED EACH TIME
AN ERROR IS SEEN AND AN ERROR MESSAGE OF THE FORMAT GIVEN
IN SEC. 6.1 IS TYPED OUT UNLESS SUPRESSED BY THE SWITCHES
DEFINED IN SEC. 5.1

TRAP CATCHER

A ''.+2' = "HALT'' SEQUENCE IS REPEATED FROM 0-776 TQ CAT(H
ANY UNEXPECTED TRAPS. THUS ANY UNEXPECTED TRAPS OR
INTERRUPTS WILL HALT AT THE VECTOR +2.

ERRORS

ERROR PRINTOUT

THE FORMAT IS AS FOLLOWS:
ADR ERRNM

WHERE :

ADR ADDRESS OF ERROR

ERRNM ERROR NUMBER

IN MOST CASES THE COMMENT BESIDE THE CALL FOR HALT SUBROUTINE
TELLS WHAT WAS BEING CHECKED AND WHAT WAS EXPECTED. ALL
PRINTOUTS WILL BE SUPPRESSED WHEN BIT 5 OF LOCATION

$ENVM IS HIGH. WHILE RUNNING UNDER APT THE DIAGNOSTIC

WILL NOT SUPPORT SPOOLING OF CONSOLE OUTPUTS.

ERROR RECOVERY
RESTART AT 200 OR 222 (SEE SEC 4.2)

RESTRICTIONS
NONE

MISCELLANEQUS

EQ 0005
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269
270
g;; 8.1 EXECUTION TIME
273 DUE TO THE RANDOM CHARACTERISTIC OF THE INTERRUPT TESTS, THME
274 EXECUTION TIME CAN BE 5 SECONDS OR MORE PER PASS. HOWEVER,
275 NORMALLY FIRST ''END PASS'' WILL BE TYPED WITHIN 5 SECONDS AND
g;? WITHIN SO SECONDS FOR EVERY CONSECUTIVE 10 PASSES
278
Sgg 8.2 STACK POINTER
281 STACK IS INITIALLY SET TO 600
282
283
284
ggz 8.3 PASS COUNT
287 A 16 BIT LOCATION ''SPASS'‘ (I1.E. LOCATION 406) IS USED TO KEEP
Sgg PASS COUNT. IT CAN BE CLEARED BY RESTARTING THE PROGRAM AT 200
290
291
Sg% 8.4 TEST NUMBER
294 A 16 BIT LOCATION '*STESTN'' (I.E. LOCATION 404) IS USED TO KEEP TRA(K
295 OF THE TEST NUMBER, UPPER BYTE OF THIS LOCATION GIVES THE ITERATION
Sgg NUMBER AND THE LOWER BYTE THE TEST THAT WAS BEING EXECUTED
298
%gg 8.5 POWER FAIL
301 THE DIAGNOSTIC CAN Bt POWER FAILED WITH NO ERRORS. TO USE,
302 START THE TEST AS USUAL AND POWER DOWN THEN UP AT ANY TIME,
308 THE PROGRAM SHOULD RESTART FROM TEST O AFTER TYPING "POWER'
304 WITH NO ERRORS. HOWEVER IF THE PROGRAM IS STORED IN A MOS
305 MEMORY THAT CAN NOT HOLD DATA WITH POWER DOWN THEN THE PROGRAM
%89 WILL NOT RECOVER FROM A POWER FAIL
308
309
310 9. PROGRAM DESCRIPTION

]
2 THIS PROGRAM TESTS ALL THE EIS INSTRUCTIONS OF THE LSI-11

3 FOR ASH AND ASHMC INSTRUCTIONS EVERY EVEN PASS IS EXECUTED

4 WITH DESTINATION MODE O FOR ALL REGISTERS AND EVERY 0ODD PASS
5 WITH DESTINATION MODE OF 67. THE DIAGNOSTIC DOES NOT MAKE A
9 PASS WITH T BIT SET.

AN A NN NN
P S S g——

.ENDR
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w
-
0

320 .ABS

321 NLIST ™MD _MC,CND

322 LIST  ME

325 .TITLE DVKABA

(1) :«COPYRIGHT (C) AUGUST 1975

(1) -«D]GITAL EQUIPMENT CORP.

(}; tMAYNARD MASS. 01754

(

g}; -PROGRAM BY PERVE? ZAKI

(1) tTHIS PROGRAM WAS ASSEMBLED USING THE PDP=-11 MAINDEC SYSMA(
g}; *PACKAGE (MAINDEC-11-DZQAC~C5), JAN, 1981,

(1) 000001 :T N=1

g}; 160000 $SWR=160000 ::HALT ON ERROR, LOOP ON TEST, INMIBIT ERROR TYPOU)
327
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329
330 :"tttlttttttttttttattt'ttntttlttttQttttttttttitttitttttt.t.tttQ!.
331
%_;’% 000000 .=0 :TRAP CATCHER 0 - 776
33, '-:ttt*ttttttttttttltttitttttltttttttttttttllttttttttitttttttt!tlvt
341
3?? LSBTTL  ACT11 HOOKS
(
(2) .';t*tttlttttlttttttttttttttttttiitttttlttt'ttttt..ttltﬂtttlttttn.
(1) ;HOOKS REQUIRED BY A(TN
(1) 001000 $SVPC(C=. ;SAvE PC
(n 000046 =46 :
(1) 000046 017032 $ENDAD ::1)SET LOC.46 TO ADDRESS OF SENDAD IN ,SEOP
(1) 000052 .=52
(1y 000052 000000 .WORD 0 :;2)SET LOC.52 TO ZERC
;2% 001000 .=8SVP({ :: RESTORE PC
344 000000 DUMMY- O
345 000001 ERRNM= 1
346 000051 fF= 51
347 000176 N= 176
348 000007 PC- %17
349 000006 SP= 26
350 010701 SCoPe= 10701
51 010701 SCOPE1= 10701
352 010703 SCOPE3= 10703
353 001000 sSwi9= 1000
254 002000 Swi0= 2000
355 004000 swil= 4000
356 010000 Swié= 10000
357 000004 TYPE= 107
358
156
360 000020 .~20
361 000020 017300 $TYPE
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006400
000400
000402
000404
000406
000410
000412
000414
200416
000420
000420
000421
000422
000424
000426

000430

000024
000044

000430
000430
000432
0004 34
000436
000440
000442

000430
000432

30(1046) 14-SEP-87
14-SEP-81 16:31

000400

000000
000000
000000
000000
000000
000000
000000
000000

000
000
000000
000000
000000

000430
000024
000200
000044
000430
000430

000000
000400
000003
000005
000000
000014

000430
C00432

16:32 PAGE 4-4
ACT11 HOOKS ¢ 0009
.=600
.SBTTL APT MAILBOX-ETABLE
;;tttttlttttttttlttttttttttttttttttittt.t-attwtﬁt-t-t--t----.o-o-
.EVEN
$MAIL : ; sAPT MAILBOX
$MSGTY: .WORD  AMSGTY . MESSAGE TYPE CODE
$FATAL: .WORD AFATAL ;:FATAL ERROR NUMBER
$TESTN: .WORD  ATESIN ;;TEST NUMBER
$PASS: .WORD APASS ;;PASS COUNT
$DEVCT: .WORD  ADEVCT ;;DEVICE COUNT
SUNIT: .WORD  AUNIT ;170 UNIT NUMBER
$MSGAD: .WORD  AMSGAD ;;MESSAGE ADDRESS
$MSGLG: .WORD  AMSGLG ;:MESSAGE LENGTH
$SETASLE: ;;APT ENVIRONMENT TABLE
SENV: .BYTE  AENYV ; ; ENVIRONMENT BYTE
SENVM: _BYIE  AENVM ;. ENVIRONMENT MODE BITS
$SWREG: .WORD  ASWREG ;;APT SWITCH REGISTER
$USWR: .WORD  AUSWR ;sUSER SWITCHES
$CPUOP: .WORD ACPUOP ;;(CPU TYPE,OPTIONS
X BITS 15-11=CPU TYPE
X 11/04=01,11/05=02,11/720=03,11/40=04,11/45=05
o* 11/70=06,PDQ=07,0=10
M BIT 10=REAL TIME CLOCK
;Y BIT 9=FLOATING POINT PROCESSOR
o X BIT 8=MEMORY MANAGEMENT
$SETEND:
LMEXIT
.SBTTL APT PARAMETER BLOCK
;;ttttttttttttt**tttttttttttttttttttﬁttttkttﬁtttttttt'ttttitttttv
“SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
-;tttttt*tttttitttitt*ttt!tttttt*tt*tttttttt!tttttttttttttttitttw
C8X=. ;:SAVE CURRENT LOCATION
.=24 ;;SET POWER FAIL TO POINT TO START OF PROGRAM
2C0 ;:FOR APT START UP
. =44 ;2POINT TO APT INDIRECT ADDRESS PNITR.
$APTHOR ;:POINT TO APT HEADER BLOCK
.=.8X  ;;RESET LOCATION COUNTER
;;ttttttttttttttttttttttttt*t*ttttttttttttttttttttttttttttttttttt
:SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDPI1 DIAGNOSTIC
s INTERFACE SPEC.
$APTHD:
$HIBTS: .WORD 0 ::TWO HIGH BITS OF 1B BIT MAILBOX ADDR.
$MBADR: .WORD  SMAIL : ADDRESS OF APT MAILBOX (BITS 0-15)
$TSTM:  _WORD 3 ;;RUN TIM OF LCNGEST TEST
$PASTM: _WORD p) ::RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
SUNITM: _WORD ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
.WORD SETEND-SMAIL/2 ;:LENGTH MA]LBOX-ETABLE (WORDS)
.=$SAPTHD
COUNT:
. ~COUNT+2
PSWORD :
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372 000434 .=PSWORD+?2
373 000434 TEMPT :

374 000436 =TEMP1+2
375 000436 TEMP2:

376 000440 =TEMP2+2
377 000440 TEMP3:

378 000442 =TEMP3+42
379 000442 TEMP4 :

380 000444 =TEMP4 +2
381 000444 000000 TEMPS: .WORD

182 000446 000000 TEMP6: .WORD

383 000450 000 TYPCNT: .BYTE

386 (00451 000 $TPCNT: .BYTE

785 000452 000007 S0: 7

186 000454 177771 S1: -7

387 000456 000454 S¢: S1

388 Q00460 177772 S3: -6

389 000462 17//777 S4: -1

390 000464 040000 S5: 40000

391 Q00466 000464 S6: S5

392 000470 040000 §7: 40000

393 000472 177776 58: A

394 (000474 000002 $9: 2

395 000476 000474 $10: S9

396 (000500 000002 S11: 2

397 000502 000064 TTYOUT: 64

398 000504 177566 $TPB: 177566
399 000506 177564 $TPS: 177564

400 000510 005015 020040 000040 S$CRLF: .ASCIZ <15><12>/ /
401 000516 006412 047520 062527 POWER: .ASCIZ <12><15>/POWER/
000524 000122

402

404

405

410

420

440

&4

47

448

449

450



DVKABA
{ vk ABB

716
717
718
719

MACY 1 30(1046)
14-SEP-81

P17

000200
000206
000212
000214
000220
000222

000600
000604
000610
200614
000620
00620
000624
000632
000634
000640
000644
000650
000654
000662
000666
000674

000700
000702
000706
000714
000716

000722
000724
000726
006232
000732
000736
000744
000746

€00200
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005040
022700
001374
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000600

012705
005037
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017064
000410

000400
000352

000404
000430
000001
000600

000001

000510
176564
176566
000074
000001
000436
000001
000442

000434
000001

000436

177504

000442
016142

14-?EP-81

000024

000420

000434
000440

000406

000432

2$:

RESTRT:
.=600
BEGIN:

2%:

START:

2%:
4%:

16:32 PAGE 4-6
STARTING OF

MOV
MOV
(LR
(MP
BNE
JMP

MOV
CLR
MOv
MOV
MTPS
.WORD
BITH
BEQ
MOV
MOV
MOV
MOV
Mov
CLR
MOV
(LR

SCOPE1
MOV
BIT
BNE
MOV

ASH
BR
ASH
MFPS
.WORD
(MP8
BEQ
JSR

THE PROGRAM

#SPWRON , 3424
#SDEV(CT RO
-(RO)

#SMAIL ,RO
2%

BEGIN

HSTESTN,RS
a#COUNT
#1,(R5)
#BEGIN,SP
#0
106400!..C
#1,aNSENV
2%

#$TPS+2 RO
4176564 ,-(R0O)
#176566,-(R0O)
#7464 ,~(RO)
#1,aNTEMP]
IATEMP?2
#1,aNTEMP3
S#TEMPS

;PREPARE TO SERVICE POWER DOWN ROUTINE
:PREPARE TO INITIALIZE THE STA(K

;MAKE RS POINT TO THE LOCATION STESTN
;CLEAR THE COUNTER

;INITIALIZE TEST NUMBER

;et STACK AT BEGIN »«

;PLACE #0 IN PSW

;ARE WE UNDER APT ?
;1F NOT THEN GO TO 2%
;OTHERWISE SET FOR OTHER SLU

;TEMPY=
:TEMPZ2=0
:TEMP3=1
:TEMPS (O

"i*tttttt*t'ittt**tittﬁt*ttt*ttt

ASH INSTRUCTION TESTS

:tttttiit*tttﬁtt*t*t**ttt*tttttt

AR AR ANR

L TESTS 1-36

:titi*tittttt

SNTEMPT,20
II.E#SPASS

2
A#TEMP2 R
R? 'Ro

4%
TEMPZ2,%0

a#PSWORD
1067(0!..C

;LOAD RO WITH THE CONTENTS OF TEMPI
;1S 1T AN EVEN PASS ?

;]JF NOT THEN GO TO 2%

;OTHERWISE EXECUTE THE INSTRUCTION
:IN MODE 0 USING R1

:SHIFT RO BY THE NUMBER SPECIFIED BY TEMP?
:SAVE PS

QN TEMP4 ,@#PSWORD; IS THE PS - TEMPS ?

.+10

PC,SHLT

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 0

SEQ 0011
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(2) 000752 000001 1
784 000754 005237 000430 iNC a#(OUNT s INCREMENT THE COUNTER
785 000760 023700 000440 cMP SNTEMP3, 20 :1S THE RESULT IN RO EQUAL TO TEMP3?
786 000764 001403 8EQ .+10
787 000766 6%:
(2) 000766 004767 016122 JSR PC,SHLT SEEN AN ERROR, GC TO TH HALT ROUTINE
(2) EITHER INCORRECT RO OR INCORRECT SEQUENCE
(2) 000772 000002 2
788 000774 021537 000430 CMP (RS5) ,a#COUNT ;1S THE TEST NUMBER EQUAL TO THE
789 : COUNTER?
790 001000 001372 BNE 6% ;IF NOT GO TO THE HLT ABOVE
791 001002 005215 INC (R5)
792 001094 010701 SCOPE1
793 0010C6 021527 000037 CMP (R5) ,#37 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
794 tBY 14. AND RIGHT BY 14.7?
795 001012 002011 BGE 8$
796 001016 005237 000436 INC a#TEMP?
797 001020 006367 1:/°414 ASL TEMP3 ;SHIFT TEMP3 LEFT.
798 001024 021527 000020 CMP (R5) 420 *HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.°
799 001030 001004 BNE REG1
800 001032 000167 000764 JMP NEGAT ;IF SO GO TO NEGAT AND INITJATE RIGHT SHIFT
801 001036 004767 001006 8%: JSR PC,TST3? ;IF SO GO AND CONTINUE THE REST OF THE PROGRAM
802 001042 010703 REG1:  SCOPE3
803 001044 013701 000434 MoV I#TEMP1 21 ;LOAD R1 WITH THE CONTENTS Of TEMP1
804 001050 032737 000001 000406 BIT #1,a48PASS ;1S IT AN EVEN PASS ?
805 001056 001004 BNE 2% :IF NOT THEN GO TO 28
806 001060 013702 000436 MOV Q¥ TEMPZ ,R2 *OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
807 001064 072102 ASH RZ,R1 :USING R1
808 001066 0004602 BR 4%
809 001070 072167 177342 2%: ASH TEMP2,%1 ;SHIFT R1 BY THE NUMBER SPECIFIED BY TEMPZ
813 001074 (%: MFPS B#PSUORD ; SAVE PS
(1) 001074 106737 .WORD  106700!.
817 001100 123737 000442 0004632 CMPB INTEMPS, BIPSNORD IS THE PS = TEMP4 ?
818 001106 001403 BEQ .+10
819 001110 004767 016000 JSR PC,SHLT ;SEEN AN ERROR, GC TO TH HALT ROUTINE
(2) sTHE PS IS NOT EQUAL TO 0
(2) 001114 000003 3
820 001116 005237 000430 INC a#COUNT ; INCREMENT THE COUNTER
821 001122 023701 000440 CMP AN TEMP3, X1 *1S THE RESULT IN R1 EGUAL TO TEMP3?
822 001126 001403 BEQ .10
823 001130 6%:
(2) 001130 004767 015760 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) ;EITHER INCORRECT R1 OR INCORRECT SEQUENCE
(2) 001134 000004 4
824 001136 021537 000430 CMP (R5) ,a# COUNT ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
825 001142 001372 BNE 6% ;IF NOT GO TO THE HLT ABOVE
826 001144 005215 INC (R5)
827 001146 010703 SCOPE3
828 001150 021527 000037 CMP (R5),437 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
829 :BY 14. AND RIGHT BY 14.
830 001154 002011 BGE 8%
831 001156 005237 000436 INC N TEMP2
832 001162 006367 177252 ASL TEMP3 ;SHIFT TEMP3 LEFT
833 001166 021527 000020 (MP (R5),#20 *HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?
834 001172 001004 BNE REGZ
835 001174 000167 0GJ622 JMP NEGAT :IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
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LN

001272

001276
001300
001304
001306
001310
001312

001316
001320
001324
001330
001334
001336
001342
001346
001350
001354
001362
001364

001434

3001046)
14-SEP-81

001403
004767
000006

004767

000007
005237
023703
001403

004767

14-3EP-81

16:31
000644

000434
000001

000436

177200

000442
015636

000430
000440

015616

000430

000037

000436
177110
000020

000460
000502

000434
000001
000436
177036

000442
015474

000430
000440

015454

000406

000432

060406

000432

16:32 PAGE 4-8

ASH IN>TRUCTION TESTS

8%:

REGZ:

2s:
4% :

6%:

8%:
REG3:

2%:
4%:

6%:

JSR
SCOPET
MOV
BIT
BNE
MOV
ASH
BR
ASH
MFPS
. WORD
(MPB
BEQ
JSR

5

INC
cMP
BEQ

JSR

6

cCMP
BNE
INC
SCOPE1
cMp

BGE
INC
ASL
(Mp
BNE
JMP
JSR
SCOPE1
MOV
BIT
8NE
MOV
ASH
BR
ASH
)
.WORD
(MPB
BEQ
JSR

/

INC
(MP
BEQ

JSR

PC,TST3?

SNTEMPT X2
ll.alSPASS

2

SN TEMP2 ,R3
RS;RZ

3
TEMP2,%2
a#PSWORD
106700!..C

.+10
PC,SHLT

a#COUNT
ANTEMP3, X2
.+10

PC,$HLT

(RS) ,a#COUNT

6%
(R5)

(R5), 437

8%
ANTEMP?
TEMP3
(R5) ,#20
REG3
NEGAT
PC,TST37

IMTEMPT %3
#1,a48PASS

2%

AN TEMP2 RS
R4 ,R3

4%
TEMP2,%3
a#PSWORD
106700!..C

INTEMPL ,a#PSWORD; 1S THE PS

L.+10
PC,$HLT

S# COUNT
SNTEMPS, %3
.+10

PC,SHLY

;SE
JEI
:{E THE TEST NUMBER EQUAL TO THE COUNTER?

SEQ 0013

:IF SO GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R2 WITH THE CONTENTS OF TEMP1

;1S 1T AN EVEN PASS ?

:1F NOT THEN GO TO 2%

‘OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
:USING R2

:SHIFT R2 BY THE NUMBER SPECIFIED BY TEMP?
;SAVE PS

S#TEMP4L ,a#PSWORD; IS THE PS =

TEMPS ?

;SFEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS [~ NOT EQUAL TO 0

;1S THE RESULT IN R2 EQUAL TO TEMP3?

EN AN ERROR, GO TO TH HALT ROUTINE
THER INCORRECT RZ2 OR INCORRECT SEQUENCE

NOT GO TO THE HLT ABOVE

;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
;LEFT B8Y 14, AND RIGHT BY 14.?

:SHIFTED TEMP3 LEFT
:HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?

;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
;IF SO GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R3 WITH THE CONTENTS OF TEMP1

;IS IT AN EVEN PASS ?

:1F NOT THEN GO TO 2§

8§?£2UISE EXECUTE ASH INSTRUCTION IN MODE O

:SHIFT R3 BY THE NUMBER SPECIFIED BY TEMP?
;O5AVE PS

= TEMP4 ?

;SEEM AN ERROR, GO TO TH HALT ROUTINE
;THE PS 1S NOT EQUAL TO 0.

;1S THE KESULT IN R3 EQUAL TO TEMP3?

:SEEN AN ERROR, GO TO TH HALT ROUTINE
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1

0014640
001442
001446
001450
001452
001454

001460
001462
001466
001472
001476
001500
001502
001506
001510
001514
001516
001524
001526
001532
001534
001536
001542
001542
001546
001554
001556

001562
00156+
001570
001574
001576
001576

001602
001604
001606
001612
001614
001816
001620

001624
001626
001632
001636
001642
001644
001646
001652
001654
001656
001662

30(1046)
14-SEP-81

072467

106737
123737
001403
004767

000011
005237
023704
001403

004767

14=-SEP-81
16:31

000430

000037

000436
176746
000020

000342
000434
000001
000436

176674

000442
015332

000430
000440

015312
000430

000037

000436
176602
000020

000176

000434
000001

*4:32 PAGE 4-9
ASH INSTRUCTION TESTS

8%:
REG4:

000406

2%
4»:

000432

6%:

8%:
REGS:

000406

10
CMP
BNE
INC
SCOPE 1
CMP

BGE
INC
ASL
CMP
BNE
B8R
JSR
SCOPE3
MOV
MOV
BIT
BNE
MOV
ASH
BR
ASH
MFPS
. WORD
(MPB
BEQ
JSR

1
INC
CMP
BEQ

JSR

12
MOV
cMP
BNE
INC
SCOPE
cMp

BGE
INC
ASL
CMP
BNE

JSR
SCOPE1
MoV
MOV
BIT

(RS5) ,a#COUN"

6%
(R5)

(RS5) ,#37

8$

SN TEMPZ
TEMP3
(RS) ,#20
REG&4
NEGAT
PC,TST37

SN TEMP1, X4
R3,R1
#1,a48PASS

2%

Q¥ TEMPZ RS
R5.R4

48
TEMPZ2, X4
a#PSWORD
106700!..C

SN TEMP4 ,34PSWORD,; IS PS =

.+10
PC,SHLT

a# COUNT
SNTEMP3, X4
.+10

PC,SHLT
R1,

6%
(R5}
(R5) ,#37

8%

QN TEMP?
TEMP3
(R5) ,#20
REGS
NEGAT
PC,TST37

RS ,R1
NTEMP1,%5
#1,308PASS

R5
(RS) N COUNT

SEQ 0014
;EITHER INCORRECT R3 OR INCORRECT SEQUENCE

;1S THE TEST NUMBER EQUAL TO THE COUNTER?
:IF NOT GO TO THE HLT ABOVE

sHAS THE CONTENTS OF REGISTERS BEEN SHIFTED
;LEFT BY 14, AND RIGHT BY 1'4.

;SHIFT TEMP3 LEFT?
*HAS THE CONTENTS OF REGISTEKS BEEN SHIFTED LEFT BY 1¢.°

;1F SO GO TO NEGAT AND INJTIATE RIGHT SHIFT
:1F SO GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R4 WITH THE CONTENTS OF TEMP1

;SAVE RS

;1S IT AN EVEN PASS ?

:1F NOT THEN GO TO 28

*OTHERWISE EXECUTE ASH 'NSTRUCTION IN MODE 0
:USING Ré

;SHIFT R4 BY THE NUMBER SPECIFIED BY TEMP?
:SAVE PS

TEMPS ?

;SEEN AN ERROR, GO TO TH HALT ROUTINE

;THE PS IS NOT EQUAL TO O

;1S THE RESULT IN R4 EQUAL TO TEMP3?

;SEEN AN ERROR, GO TO TH HALT RCUTINE
;EITHER INCORRECT R4 OR INCORRECT SEQUENCE
;RESTORE RS

;1S THE TEST NUMBER EQUAL TO THE COUNTER?
;IF NOT GO TO THE HLT ABOVE

;HAS THE CONTENTS OF REGISTERS BEEN
;SHIFTED LEFT BY 14. AND RIGHT BY 4.7

;SHIFT TEMP3 LEFT
:HAS THE CONTENTS OF REGISTER BEEN SHIFTED BY 14.?

;1F SO GO TO NEGAT AND INITIATE RIGHT SHIFT
“IF SO GO AND CONTINUE THE REST OF THE PROGRAM

;SAVE RS
*LOAD RS WITH THE CONTENTS OF TEMP1
*IS IT AN EVEN PASS 2
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948
949
950
951
952
956
(1)
960
961

962
(2)
(2)

963
964
965
966
(2)

(2)

\2)

967
968
969
970
971
972

973
974
975
976
977
978
979
980
981

982
983
984

985
986
987
988
989
990
991

001670
001672
001676
001700
001702
001706
001706
001712
001720
001722

001726
001730
001734
001740
001742
001742

001746
001750
001754
001756
001760
001762
001764

001770
00177¢
001776
002002
002006
002010
002012
002016
002022
002030
002036
002044
002050
002054
002056
002062
002070
002074
002102
002104
002110
002112
002116
002120
002124
002126
002134
002136
002142
002144

14-SEP-81

14~SEP~B81 16:31

001004
013700
072500
000402
072567

106737
123737
001403
004767

000013
005237
023705
001403

004767

000436

176530

000442
015166

000430
000440

015146

000430

000037

000436
176436
000020

000032
176656
040000
177762
000001
176630
000037

000434
000020
000440
000004
000040
000436
000041
177760
€00042

100000

000432

000434
000436
000440

000436

000442

000436

000434

16:32 PAGE 4-10

ASH INSTRUCTION TESTS

2%:
4% :

6%:

8%:
10%:

NEGAT :

TST37:

TST40:

TST41:

TST42:

BNE
MOV
ASH
BR
ASH
MFPS
. WORD
CMPB
BEQ
JSR

13

INC
CMP
BEQ

JSR

14
(mMp
BNE
MOV
INC
SCOPE1
cMp

BGE
INC
ASL
CMP
BEQ
BR

JSR
JMP
MOV
MOV
MOV
JMP
CMP
BNE
CLR
MOV
CLR
MOV
RTS
CMP
BN

CLR
RTS
CMP
BNE
MOV
RTS
CMP
BNE
MOV

SEQ 0015
2% ;IF NOT THEN GO TO 2%
Q¥ TEMP? RO OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
22.R5 JUSING RS
TEMPZ , X5 ;SHIFT RS BY THE NUMBER SPECIFIED BY TEMP?
a#PSWORD ;SAVE PS
106700...C
SJ¥EMP4,3#PSUORD:IS PS = TEMP4L ?
X
PC,$HLT ;SEEN AN ERROR, GO 7O TH HALT ROUTINE
;THE PS IS NOT EQUAL T0 0.
a#COUNT
3#¥5MP3.15 ;1S THE RESULT IN RS EQUAL TO TEMP3?
.+
PC.SHLT ;SEEN AN ERROR, GC TO TH HALT ROUTINE
;EITHER INCORRECT RS OR INCORRECT SEQUENCE
(R1) ,a#COUNT ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
6% ;1F NOT GO TO THE HLT ABOVE
R1,R5 ;RESTORE R5
(R5)
(R5) ,#37 :HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
JLEFT BY 14. AND RIGHT BY 14.?
8% :IF SO GO AND CONTINUE THE REST OF THE PROGRAM
ANTEMP?
TEMP3 ;SHIFT TEMP3 LEFT
(R5),#20 :HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?
?SgAT :IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
PC,TST37
START ;G0 BACK TO START

#40000,3#TEMPT - TEMP1=40000
#177762 ,aNTEMP? : TEMP2=177762

¥, aNTEMP3 CTEMP3=1

START

(RS) ,#37 218 IT TEST 377

15740 “IF NOT THEN TRY TEST 40
aATEMP1 ;0

#16. aNTEMP2  -SHIFTED BY 16

ATEMP3 15=0

gé.axrfnpa “AND PS=4

(RS) . #40 215 IT TEST 40?

15741 “1F NOT THEN TRY TEST 41
ggrenpz *0 SHIFTED BY 0=0 AND PS=4
(RS) , #41 SIS IT TEST 412

15742 “IF NOT THEN TRY TEST 42
3216..aprfnpz 0 SHIFTED BY -16.=0 AND PS=4
(RS) , #42 <1S IT TEST 422

1ST43 “IF NOT THEN TRY TEST 43
#100000,3#TEMPT >100000
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CVKABB.P11 14-SEP-81 16:31 ASH INSTRUCTION TESTS

1004 002152 005237 000436 INC ANTEMP? :SHIFTED BY =15

1005 002156 005337 000440 DEC aNTEMP3 115=-1

1006 002162 012737 000010 000442 MGV #10,a# TEMP4 :AND PS$=10

1007 002170 000207 RTS PC

1008 002172 021527 000043 TST43: CMP (RS) , #43 IS IT TEST 437

1009 002176 001012 BNE TST4L4G :IF NOT THEN IF NOT THEN TRY TEST 44

1010 002200 012737 125252 000434 MOV #125252 INTEMP1 125252

1011 002206 012737 177777 000436 MOV INTEMP2 "SHIFTED BY -1

1012 002214 012737 152525 000440 MOV #152525 a#TEMP3 :15=152525 AND PS=10

1013 002222 000207 RTS

1014 002224 021527 000044 IST44: (MP cns: 244 SIS IT TEST 442

1015 002230 001012 BNE 154§ “IF NOT THEN TRY TEST 45

1016 002232 012737 000001 000436 MOV #1, FTEMP? 1125252 SHIFTED BY 1

1017 002240 012737 052524 000440 MOV #52524 . aNTEMP3  + 15252524

1018 002246 012737 000003 000442 MOV ¥3, INTEMPS *AND PS=3

1019 002254 000207 RTS PC

1020 002256 021527 000045 TST45: CMP (RS5) ,#45 IS IT TEST 45?

1021 002262 001012 BNE TST46 :]F NOT THEN TRY TEST 46

1022 002264 012737 177776 000436 MOV #~2  INTEMP? 1125252 SHIFTED BY -2

1023 002272 012737 165252 000440 MOV #165252. 34 TEMP3 : 15=165252

1026 002300 012737 000011 000447 MOV 11, a#TEHP4 :AND PS=11

1025 002306 000207 RTS PC

1026 002310 021527 000046 IST46: CMP (RS) ,#46 SIS IT TEST 462

1027 002314 001014 BNE rsrt.? “IF NOT THEN TRY TEST 47

1028 002316 012737 177777 000434 MOV 1,30 TEMP1 121

1029 002324 012737 000020 000436 MOV #16..3#T£HP2 “SHIFTED BY 15.

1030 002332 005037 000440 CLR AATEMP3 215=0

1031 002336 012737 000007 000442 MOV #7 . aXTEMPS “AND PS=7

1032 002344 000207 RTS PC

1033 002346 021527 000047 IST47: CMP (RS) ,#47 SIS IT TEST 477

1034 002352 001011 BNE 1$750 “IF NOT THEN TRY TEST 50

1035 002354 005337 000436 DEC INTEMP2 *=1 SHIFTED BY 15

1036 002360 012737 100000 000440 MOV #100000,3#TEMP3 > 15=100000

1037 002366 012737 000011 000442 MOV #11. ¥ TEMPS *AND PS=11

1038 002374 000207 RTS PC

1039 002376 021527 000050 TSTS0: CMP (RS) ,#50 SIS 1T TEST 50

10640 002402 001007 BNE ENTS1 :1F NOT THEN TRY TEST 51

10641 002404 012737 137777 000434 MOV #137777.3#TEMP1 137777 SHIFTED BY 15. 15=100000

1042 002412 012737 000013 000442 MOV #13,3XTEMP4 :AND PS=13

1043 002420 000207 RTS PC

1044 002422 021527 000051 ENT51: CMP (RS) , #51 SIS IT ENTERING TEST 512

1045 002426 901403 BEQ 410

10646 002430 004767 014460 JSR PC.SHLT SSEEN AN ERROR, GO TO TH HALT ROUTINE
(2) “TEST NUMBER GOOFED

1555 002434 000015 15

1048 002436 005726 ST (SP)+ -RESTORE STACK POINTER

1049 002440 012704 177771 MOV #-7. %4

1050 002444 012702 000454 MOV #S1.%2

1051 002450 012703 000456 MoV #52.%3




OVKABA MACY'1 30(1046) 14~SEP-81 16:32 PAGE 4-12
(VKABB.P11 14~SEP-81 16:31 ASH INSTRUCTION TESTS

1082 R CI T TEII LA L LR LA A AR ARAA AL L L SN Sb bbbl i ieioiaialieinildadieldlfl
(1) “TEST:S1  LSI-11  ASH 125252 SHIFTED BY #5 = 52500 PS = 3
(1) ,'tttttttttttttttttttttttttttttttt.ttlithiitttt.tttttii....t.t!QQQ'Qtl
(1)

(1) 002654 010701 TST51: SCOPE1

(1) 002456 012701 125252 MOV #125252.%1 ;LOAD R1 WITH 125252

(1) 002462 072127 000005 ASH #5,%1 “SHIFT R1 BY #5

(1) 002466 MFPS a#PSWORD ;SAVE PS

(2) 002466 106737 LWORD  106700...C

(1) 002472 122737 000003 000432 (MPB  #3,34PSWORD ;1S THE PS 32

(1) 002500 007403 BEQ .+10

(3) 002502 004767 014406 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALs ROUTINE
(3) “THE PS 1S NOT EQUAL TO 3

(3) 002506 000016 16

(1) 002510 022701 052500 CMP #52500, %1 :1S THE RESULT 525007

(1) 002516 001403 BEQ .+10

(1) 002516 1%:

(3) 002516 004767 014372 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT RCUTINE
(3) "R1 IS NOT EQUAL TO 52500 OR INCORRECT SEQUENCE
(3) 002522 000017 17

(1) 002524 021527 000051 CMP (RS),#51 SIS STESTN - #51

(1) 002530 001372 BNE 18 SIF NOT THEN GO TO HLT ABOVE

<}> 002532 005215 INC (R5)

(1)

(})

(1)

1053 "ttttttttttt**i'ttittt'tittttttttttttitttttit'ttit.itttttttttt'tQtttt
(1) TTEST:52  LSI-11  ASH 125252 SHIFTED BY @S2 = 177525 PS = 10
(1) .'tttttttt*ttttttttttttttitttttttltttttttttl’tt‘ltttttttttttttttttttttt
(1)

(1) 002534 010701 TSTS52: SCOPE!

(1) 002536 012700 125252 MOV #125252.%0 :LOAD RO WITH 125252

(1) 002542 072077 175710 ASH 252, %0 “SHIFT RO BY aS2

(1) 002546 MFPS  a#PSWORD *SAVE PS

(2) 002546 106737 _WORD  106700".

(1) 002552 122737 000010 000432 CMPB #10 a#PSUORD ;1S THE PS 10?

(1) 002560 001403 BEQ L+10

(3) 002562 004767 016326 JSR PC $HLY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “THE PS IS NOT EQUAL 1O 10

(3) 002566 000020 20

(1> 002570 022700 177525 CMP #177525,%0 -1S THE RESULT 177525?

(1) 002574 001403 BEO 410

(1) 007576 1$:

(3) 0..576 004767 0143772 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) RO 1S NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 002602 000021 21

(1) 002604 021527 000052 CMP (RS),#52 ;1S STESTN = #52

(1) 002610 001372 BNE 13 :IF NOT THEN GO TO HLT ABOVE

:}; 002612 005215 INC (RS)

(1)

(1)
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1070
1270
7203
0673
2273
0140
004767

000022
022700
001403

004767

000023
021527
001372
005215

000024
022700
001403

004767

000025
021527
001372
005215
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125252
000454

000010
0146246
177525

014232

000053

125252
000010
0164170
177525
014156

000054

14-?EP-81

00V632

000432

16:32 PAGE 4-13

ASH INSTRUCTION TESTS
B I L T T T T T ST ST NS R R TR Y

TTEST:53  (SI-11  ASH 125252 SHIFTED BY a#S1 = 177525 PS = 10

.‘tttttttl‘.ttttttit!iltt"ti'tttiittitt.ttt'l...ﬂ.ﬁiitt.."t'llt'ttttt

TST53: SCOPE!

MOV #125252.,%0 :LOAD RO WITH 125252
ASH a#s$1.,%0 :SHIFT RO BY a#S?
MFPS a#PSWORD :SAVE PS

.WORD  106700...C
(MPB #10,3#PSWORD ;1S THE PS 10?

BEQ .4+10
JSR PC,SHLT -SEEN AN ERROR, GO TO TH HAL: ROUTINE
s “THE PS IS NOT EQUAL TO 10
CMP #177525,%0 ;15 THE RESULT 17752572

o BEQ 410

' JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

’3 “RO 1S NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(MP (RS) ,#53 215 $TESTN = #53
BNE 18 <1F NOT THEN GO TO HLT ABOVE
INC (RS)

2232222220222 2232222222332 X222 2020022 RS Rl Rl Al A

STEST:S4  (SI-11  ASH 125252 SHIFTED BY (2) = 177525 PS = 10

;l.tttt.itt.t.'tllttti 2222332322 X23 2322232223222 RRR22 iR RRRdddl Rl

TST54: SCOPE1

MOV #125252.%0 :LOAD RO WITH 125252
ASH (2).%0 SSHIFT PO BY (2)
MFPS a#PSWORD *SAVE PS
.WORD 106700!,.C v
(MPR #10, 3#PSWORD ;1S THE PS 10?
BEQ .+10
_SR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
y “THE PS IS NOT EQUAL TO 10
CMP #177525,%0 ;1S THE RESULT 177525?
s BEAQ .+10
JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
s “RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
CMP (RS) ,#54 SIS STESTN = #54
BNE 1% :1F NOT THEN GO TO HLT ABOVE
INC (RS)

SEQ 0018
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" JRABH P 14-SEP=8" 16: 0 ASH INSTRUCTION TESTS
1’\55 "tttittttitlttttt.ttttt-ttttttttlt.t'itlttttl!tt.ttt'tt---no-.--o--.-
e STEST:S55  LSI- ASH 125252 SHIFTED BY 2+ 77528 #w¢ '
1', .-tttttt!t'ltttttttttttt'ttttt.ttttttltnttttttt'ttt'ttttqtttooQno-onco
i
13 002752 010701 TSTSS5: SCOPE!?
vy 002754 (12700 125252 MoV #125252.%0 :LOAD RO wlTH 12525¢
(1) 002760 072022 ASH (2)+,%0 :SHIFT RO BY (2)+
(1) 002762 MFPS aN#PSWORD ;SAVE PS
(2y 002762 106737 .WORD 106700'..C
(1) 002766 122737 000010 000432 (MPB #10 ,a#PSWORD ;1S THE PS 107
(1) 002774 001403 BEQ .+10
(3) 002776 004767 0146112 JSR PC,SHLY :SEEN AN ERROR, GO TO TH HAL: ROUTINE
(3) :THE PS IS NOT EQUAL TO 10
(3) 303002 000026 26
(1) 003004 022700 177525 (MP #177525.,%0 ;1S THE RESULT 1775252
(1) 003010 001403 BEQ .+10
(1) 003012 *s:
(3) 003012 004767 014076 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;RO 1S NOT EQUAL Y0 177525 OR INCORRECT SEQUEN(E
(3) 003016 000027 27
(1) 003020 021527 000055 CMP (R5), 455 ;1S STESTN = #55
(1) 003024 001372 BNE 1% :1F NOT THEN GO TO HLT ABOVE
(}; 003026 005215 INC (RS)
(
(1
(1
105? . lttttttlttttttttttttitt'ttttttttttltttttttttttttttttttttQttttltttttt
(1) ;TEST:56  LSI-11 ASH 125¢52 SHIFTED BY -(2) 177525 PSS 10
( ') ;ttttlttttttttttttltttttttttttlittttttt!ttttttttttttttttttttttt't'-n.
(1)
(1) 003030 010701 TSTS6: SCOPE1
(1) 003032 012700 125252 MoV #125252,%0 :LOAD RO WITH 125252
(1) 003036 072042 ASH -(2).,%0 :SHIFT RO BY =(2)
(1) 003040 MFPS a#PSWORD :SAVE PS
(2 003040 106737 LWORD 106700!'..C
(1) 0030446 122737 000010 000432 CMPS #10,a#PSWORD 1S THE PS 10?
(1) 003052 001403 8EQ .+10
(3) 003054 004767 014034 JSR PC,SMLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQUAL T0 10
(3) 003060 000030 30
(1) 003062 022700 177525 (MP #177525.%0 ;IS THE RESULT 177525?
(1) 003066 001403 BEQ .+10
(1) 003070 1%:
(3) 003070 004767 014020 JSR PC,SHLT :CEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :RO IS NOT EQUAL TO 177525 OR INCORRE(CT SEQUENCE
(%) 003074 000031 31
(1) 003076 021527 000056 (mMp (R5) ,#56 ;1S STESIN = #56
(1) 003102 001372 BNE 1% -1F NOT THEN GO TO HLT ABOVE
:{; 003104 005215 INC (RS)
(1)
(N




JFABA MALY 1 3001044 14-SEP-B1 16:32 PAGE 4-15
veABE P11 14-SEP=-81 16:31 ASH INSTRUCTION TESTS SEQ 0020

'ttt!t'tttt.'tt.'ttl't!I"tt!ltt'tt.!l.iQ.‘l...!ll.t...............'..

TTEST:S?  LSI-11  ASH 125252 SMIFTED BY 2(3) = 177252 PS = 11

;tt'l‘ttttttt'titt..‘ttt't"tli.'..t..i'ttltt....Qt...'.'.'.........'

- 4
— . e
- - Q0

(', 003106 010701 TST57: SCOPE?
1) 003110 012700 125252 MOV #125252.10 ;LOAD RO wITH_ 125252
(1) Q03114 072063 000002 ASH 2(3),%0 ;SHIFT RO BY 2(3)
(1) 003120 MFPS a#PSWORD ; SAVE PS
(2) Q03120 106737 .WORD  106700!..C
‘1) 003126 122737 0C0011 000432 (MPB #11,3#PSWORD ;1S THE PS 112
(1) 003132 001403 BEQ .+10
(3) 003134 004767 013754 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HAL: ROUTINE
(%) :THE PS IS NOT EQUAL TO N
(3) 003140 000032 32
(1) 003142 022700 177252 (MP #177252.%0 ;1S THE RESULT 1772527
‘1) 003146 001403 BEQ .+10
1) 003150 1%:
(3) 003150 004767 013740 JSR PC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) ;RO IS NOT EQUAL TO 177252 OR IN(ORRECT SEQUENCE
(3) 003154 000033 33
(1) 003156 021527 000057 CMP (R5) ,#57 ;1S STESTN = #57
(1) 003162 001372 BNE 9 :1F NOT THEN GO TO HLT ABOVE
f;) 003164 005215 INC (R5)
)
(1)

(

1059 YA A R R R AN AR NN E TR RANRARR AR R I RA AR RARN AR CRAAAAATTRR T AR Re
N ;TEST:60  LSI-11  ASH 125252 SKIFTED BY @(3) - 177525 PS 10
1) AR AR RN RN R AR AR AR R TR PR L AN AN A AR AR RN R A ARSI RARRCRA NN A AR RaR TRt
(1)

(1) 003166 010701 TST60: SCOPE!

(1) 003170 012700 125252 MoV #125252.,%0 ;LOAD RO WITH 125252

(1) 003174 072073 000000 ASH a(3),%0 ;SHIFT RO BY a(3)

(1> 003200 MFPS a#PSWORD :SAVE PS

(2> 003200 106737 .WORD  106700!..C

(1) 003204 122737 000010 000432 C(MPB #10,a#PSWORD ;1S THE PS 10?

(1) 003212 001403 BEQ -+10

(3) 003214 0064767 013676 JSR PC,SHLY JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 10

(3) 003220 000034 34

(1) 003222 022700 177525 (MP #177525.,%0 ;IS Thi RESULT 177525

(1) 003226 001403 BEQ .+10

(1) 003230 1%:

(3) 003230 004767 013660 JSR PCLSHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) ;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003234 000035 35

(1) 003236 021527 000060 (MP (R5) ,#60 ;1S STESTN = #60

(1) 003242 001372 BNE 13 ;IF NOT THEN GO TO HLT ABOVE

(;; 003244 005215 INC (R$)

(

(1)

(M
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vkABHE .- Tu-LEP-8Y 6T ASH INSTRUCTION TESTS
1060 T R R LR R R LR R L bbb bbbt il e eidod
(H ;TEST:61 LsSI-1 ASH 125252 SHIFTED BY a(3)+ = 177925 PS  1C

:i'tlﬁt!lt.ﬁ‘.ttt.tttttttttitttt.ttt"'..tiittitttt"'l.ttQQtt..!ll.-

1) 003246 010701 1ST61: SCOPE?
(1) 003250 012700 125252 MOV 2125252 ,%0 :LOAD RO WITH 125252
1) 003254 072033 ASH a(3.+.%0 “SHIFT RO BY @(3)+
(1) 003256 MFPS  aAPSWORD *SAVE PS
(2) 003256 106737 _WORD  106700'..C
vy 003262 122737 000010 000432 CMPB  #10.a#PSWORD ;IS THE PS 10?
(') 003270 001403 BEQ .+10
(3) 003272 004767 013616 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HAL+ ROUTINE
(3) “THE PS 1S NOT EQUAL TO 10
(3, 003276 00003¢ 36
(1) 003300 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775257
(1) 003304 001403 BEQ +10
(1) 003306 1%:
(3) 003306 006767 013602 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "RO IS NOT EQUAL TO 177525 OR INCORRECT SEOQUENCE
(3) 003312 000037 37
(1) 003314 021527 000061 CMP (R5) . #61 ;1S STESTN = #61
(1) 003320 001372 BNE 1% <1F NOT THEN GO TO HLT ABOVE
f}; 003322 005215 INC (R5)
(})
1)

1061 IR AR RN AR AN RN ATV AR RAN AN AANAR R AN RARN NG SACRANAREATRRGAarann
(1) CTEST:62  LSI=11  ASH 125252 SHIFTED BY @8-(3) = 77525 PS = 1C
(]) ;tttittttt.ﬁitt..tttttitiiit'ttﬁtﬁttt.!tt.lltitttitttttttit".t.ttt..
(1)

(1) 003324 010701 1ST62: SCOPE1

(1) 003326 012700 12552 MOV #125252 ,%0 :LOAD RO WITH 125252

(1) 003332 072053 ASH a-(3).10 SSHIFT RO BY a-(3)

(1) 003334 MFPS  a#PSWORD :SAVE PS

(2 00333¢ 106737 _WORD 106700!'..C

(1) 003340 122737 000010 000432 CMPB  #10,3#PSWORD ;IS THE PS 10?

(1) 003346 001403 8EQ L+10

(3) 003350 004767 013540 JSR PC.SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
(3) :THE PS IS NOT EQUAL Y0 10

(3) 03354 000040 40

(1) 003356 022700 177525 CMP #177525.%0 ;1S THE RESULT 177525?

(1) 003362 001403 BEQ _+10

(1) 003364 18

(3) 003364 004767 013524 JSR PC,SHLT <SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003370 000041 41

(1) 003372 021527 000062 CMP (RS) 462 ;IS STESTN = #62

(1) 003376 001372 BNE 1% -IF NOT THEN GO TO HLT ABOVE

f}; 003400 005215 INC (RS)

(1)

(1

1065 YR 2232232222323 2232 022320200 d )

1066 ASHC INSTRUCTION TESTS

1067 AR TR ARARNNCRRR RN NR RN

1068
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001403

004767
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010705
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000001
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000001
000446

000434
000436

000001
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174732

000446
013366
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000444
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000430
000436

000444

000406

000432

16:32 PAGE 4-17

ASHC INSTRUCTION TESTS

REGO1:

2s:
4%:

MOV
(LR
MOV
CLR
CLR
MOV
(LR

SCOFE3
MOV
MOV
MOV
(L
BIT
BNE
MOV
ASHC

ASH(
MFPS
.WORD
(MPB
BEQ
JSR

42

INC
cMP
BEQ
JSR

43
CMP
BEQ

JSR

44

MOV
CMP
BEQ
JSR

45

INC
(MP
BGE
INC

S AL AR RN R

TTESTS 63-157

:'itt'itt'l’ii

#62 ,8#COUNT
afTEMP
1, ANTEMP?2
SN TEMP3
S# TEMP4
1, aNTEMPS
AN TEMP6

RS ,RZ
INTEMPT X0
ANTEMP2,20.1

l}.alSPASS

2
ANTEMP3 RS
R5,R0

3
TEMP3, X0
a#PSWORD
106700!..C

SN#TEMP6 ,a#PSWORD; COMPARE PS WITH THE CONTENTS OF TEMP6
;SEEN AN ERROR, GO TO TH HALT ROUTINE

.+10
PC,SHLT

a#COUNT
INTEMPS X0
.+10
PC,SHLT

ANTEMPS X1
.+10
PC,SHLT

R2,RS
(RS) . a#COUNT
.+10

PC,SHLT

(RS)
(R5) ,m60

6%
INTEMP3

:SAVE RS

;PLACE THE CONTENTS OF TEMP1 IN R
:PLACE THE CONTENTS OF TEMPZ2 IN R

;1S IT AN EVEN PASS ?
;1F NOT THEN GO 10 2%
;OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE O

JUSING RO

;ASHC REGISTER O BY THE CONTENTS OF TEMP3

:SAVE PS

;WRONG PS

;1S THE RESULT IN RO SAME AS TEMP4?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN RQ

;IS THE RESULT IN R1 SAME AS TEMP5?
;TEMPT TEMP2 SHIFTED BY TEMP3=TEMP4{ TEMPS

;AND PS=TEMP6

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN R1

;RESTORE RS

;1S TEST NUMBER=COUNTER?
;SEEN AN ERROR, GO TO TH HALT ROUTINE

;NO

;vAgE THE FIRST 159 TEST BEEN EXECUTED?

£Q 0022
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(VKABB.F11 14-SEP-81 16:3 ASHC INSTRUCTION TESTS SEQC 0023
1122 003616 000241 cLe
1123 003620 006137 000444 ROL a#TEMPS :ROTATE TEMPS LEFT BY 1 PLACE
1124 003624 006137 000442 ROL aN#TEMPS4 :INTRODUCE CARRY FROM TEMP& [N TEMPS
1125 003630 021527 000121 CMP (RS) ,#121 ©1S IT TEST 1212
1126 0036346 001004 BNE REG2S
1127 003635 004467 000410 JSR R4 ,RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFT
1128 003642 00477 000440 6$: JSR 17.7ST160
1129 003646 0107 REG23: SCOPE1 ) ]
1130 003650 01370 N00434 MOV SNTEMPT ,%¢ PLACF THE CONTENTS OF TEMP1 IN REGISTER 2
1131 003654 013703 20436 MOV ANTEMP2.%2 .1 :F ACE THE CONTENTS OF TEMP2 IN REGISTER 3
1132 003660 000241 cLC
1133 003662 032737 000001 000406 BIT #1.a48PASS :IS IT AN EVEN PASS ?
1134 003670 001004 BNE 2$ *IF NOT THEN GO TO 2%
1135 003672 013704 000440 MOV SATEMP3 R4 :OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE O
1136 003676 073204 ASHC  R4,R2 *USING R2
1137 003700 000402 BR 4%
1138 003702 073267 174532 2%: ASH( TEMP3, X2 ;ASHC REGISTER 2 BY THE CONTETNS OF TEMP3
1142 003706 4% : MFPS a#PSWORD ;SAVE PS
(1) 003706 106737 JWORD  106700!..C
146 003712 123737 000446 000432 CMPB DM TEMPG ,a#PSWORD ;: COMPARE PS WITH THE CONTENTS OF TEMPO
1147 003720 001403 BEQ .+10
1148 003722 004767 013166 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :WRONG PS
(2) 003726 000046 46
1149 003730 005237 000430 INC S#COUNT
1150 003734 023702 000442 {MP a#TEMPS X2 :1S THE RESULT IN RZ2 SAME AS TEMP4?
1151 003740 001403 BEQ .+10
1152 003742 004767 013146 JSR PC,S8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) “WRONG RESULT IN R2
(2) 003746 000047 47
1153 003750 023703 000444 CMP AHTEMPS, %3 :1S THE RESULT IN R3 SAME AS TEMPS?
1154 003754 001403 BEQ .+10 :TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4 TEMPS
1155 :AND PS=TEMP6
1156 003756 004767 013132 JSR PC,SHLTY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2" :WRONG RESULT IN R1
(2) 003762 000050 50
1157 003764 021537 000430 cMP (RS) ,a#COUNT ;IS TEST NUMBER=COUNTER?
1158 003770 001403 BEQ L+10
1}3? 003772 004767 013116 JSR PC,SHLT :§SEN AN ERROR, GO TO TH HALT ROUTINE
(2) 003776 000051 51
1160 004000 005215 INC (RS)
1161 004002 021527 000160 CMP (RS) . #160 :HAVE THE FIRST 159 TEST BEEN EXECUTED?
1162 0046006 002014 BGE 6$ SYES
1163 004010 005237 000440 INC INTEMP3
1164 004014 000241 cLC
1165 004016 006137 000644 ROL A TEMPS :RCTATE TEMPS LEFT BY 1 PLACE
1166 0046022 006137 000442 ROL AN TEMPL, “INTRODUCE CARRY FROM TEMPS IN TEMP4
1167 004026 021527 000121 CMP (RS) ,#121 YIS IT TEST 1212
1168 004032 001004 8NE REG4S
1169 004034 004467 000212 JSR R4 ,RITSH S[F SO THEN GO AND INITIATE RIGHT SHIFT
1170 004040 004767 000242 6% : JSR ¥7.15T160
1171 004046 010701 REG4S: SCOPE1
1172 004046 010501 MOV RS,R1 :SAVE RS
1173 004050 013704 000434 MOV anTEMP1, %4 "PLACE THE CONTENTS OF TEMP1 [N REGISTER &
*174 006054 013705 000436 MOV aNTEMP2 %411 "PLACE THE CONTENTS OF TEMP2 [N REGISTER S
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(VKABB.FP1 14=-SEP-81 16: 3 ASHC INSTRUCTION TESTS ~EQ 0024
1175 004060 000241 boeLe
1176 006062 032737 000001 000406 BIT #1.INSPASS ;1S IT AN EVEN PASS ?
1177 004070 001004 BNE ’$ ;1F NOT THEN GO T0 2%
1178 004072 013700 000440 MOV a¥#TEMP3,R0 ;OTHERWISE EXECUTE ASHC INSTRUCTYION IN MODE 0
1179 006076 073400 ASHC  RO,R& *USING Ré
1180 004100 (00402 BR 48
1181 004102 073467 174332 2%: ASHC TEMPS, X4 :ASHC REGISTER 4 BY THE CONTENTS OF TEMP3
1185 004106 4%: MFPS a#PSWORD :SAVE PS
(1) 006106 106737 WORD  106700'..¢
1189 004112 123737 000446 000432 CMPB AN TEMPG , a#PSWORD ; COMPARE PS WITH THE CONTENTS OF TEMPS
1190 004120 001403 BEQ 410
1191 004122 004767 012766 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MAL i ROUTINE
(2) ;WRONG FS
(2) 006126 000052 52
1192 006130 005237 000430 INC ANCOUNT
1193 004134 (023704 000442 CMP SN TEMPS L %4 ;IS THE RESULT IN R4 SAME AS TEMPS?
1194 004140 001403 BEQ .+10
1195 004142 004767 012746 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :WRONG RESULT IN R4
(2) 006146 000053 53
1196 004150 023705 000444 CMP S# TEMPS , %5 ;1S THE RESULT IN RS SAME AS TEMPS?
1197 004154 001403 BEQ .+10 :TEMP1 TEMP?2 SHIFTED 8Y TEMP3I=TEMP4L TEMPS
1198 :AND PS=TEMP6
1199 004156 004767 012732 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :WRONG RESULT IN RS
(2) 006162 000054 54
1200 004164 021137 000430 CMP (R1) ,a#COUNT ;IS TEST NUMBER=COUNTER?
1201 004170 001403 BEQ .+10
128? 004172 004767 012716 JSR PC,SHLT :SSEN AN ERROR, GO TO TH HALT ROUTINE
( ;N
(3) 006176 000055 55
1203 004200 010105 MOV R1,RS :RESTORE RS
1204 004202 005215 INC (R§)
1205 0064204 021527 000160 CMP (R5) ,#160 sHAVE THE FIRST 159 TEST BEEN EXECUTED?
1206 004210 002014 BGE 63 TYES
1207 004212 005237 000440 _ INC INTEMP3
1208 004216 000241 CLC
1209 004220 006137 000444 ROL a#TEMPS ROGTATE TEMPS LEFT BY 1 PLACE
1210 004224 006137 000442 ROL SATEMP4 :INTRODUCE CARRY FROM TEMPS [N TEMP4
1211 004230 021527 000121 CMP (R5) . #121 YIS IT TEST 1212
1212 004234 001004 BNE 8s
213 004236 004467 000010 JSR R4 ,RITSH :1IF SO THEN GO AND INITIATE RIGHT SHIFT
1214 006242 004767 000040 6% : JSR €7. 157160
1215 004246 000167 177172 8$: JMP REGO1
1216 0046252 022424 RITSH: (MP (R4)+ ,(R&G)¢ :MAKE R4 POINT TO THE NEXT R:G TAG
1217 006254 012737 040000 000434 MOV 240000 3#TEMPT S TEMP1=4000
1218 004262 005037 000436 CLR INTEMP2 S TEMP2=0
1219 004266 012737 177742 000440 MOV #~30..3#TEMP3 - TEMP3=-30
1220 004275 005037 000442 CLR aNTEMPS L TEMPL=0
1221 004300 005237 000444 INC N TEMPS * TEMPS=1
1222 004304 000204 RTS R4
1223 004306 021527 000160 TST160: (MP (RS),#160 :1S IT TEST 160
12246 004312 001010 BNE TST161 ;17 NOT THEN TRY TEST 161
1225 004314 005037 000434 CLR NTEMP1 "0 0 SHIFTED BY 0
1226 004320 005037 000442 CLR INTEMPL “15 EQUAL TO 0 0
1227 004324 012737 000004 000446 MOV #G aNTEMPE :AND PS=4
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MACY 1 30(1046) 14=-SEP-81 16:32 PAGE 4-20

P11 14-SEP=-81 16:31 ASHC INSTRUCTION TESTS SEQ 0025
004332 000207 RTS 17

0046334 021527 000161 TST161: (CMP (RS) , 4161 1S 1T TEST 161

004340 001004 BNE TST162

006342 012737 177746 000440 MOV #-32.34TEMP3 ;0 O SHIFTED BY =32=0 0, PS=4
004350 000207 RTS %7

004352 021527 000162 TST162: CMP (RS)  #162 IS IT TEST 162

004356 001004 BNE TST163 JIF OT THEN TRY TEST 163
006360 012737 000032 000440 MOV #32, a8 TEMP3 ‘0 0 SHIFTED BY 32=0 0, PS=z4
004366 000207 RTS X7

004370 021527 000163 TST163: (MP (RS) . #163 SIS 1T TEST 1632

0046374 001016 BNE 157164 “1F NOT THEN TRY TEST 164
006376 012737 052525 000434 MOV #52525.34TEMPT 552525 0

004404 012737 177760 000440 MOV #-16. .a#TEMP3  :SHIFTED BY ~16.

004412 005037 000442 CLR ANTEMPG

004416 012737 052525 000444 MOV #52525,a#TEMPS ;IS EQUAL TO 0 52525

004424 005037 000446 CLR aNTEMP6 CAND PS = 0

004430 000207 RTS 17

004432 021527 000164 TST164: CMP (RS) , X164 SIS IT TEST 1642

004436 001014 BNE 157165 “IF NOT THEN TRY TEST 165
0046440 012737 125252 000434 MOV #125252 ,a#TEMP1 :125252 O SHIFTED BY -16.
004446 005337 000642 DEC NTEMPS

0046452 012737 125252 000644 MOV #125252 ,a#TEMPS -1S EQUAL TO -1 125252
004460 012737 000010 000446 MOV #10,a¥TEMP6 SAND PS=10

004466 000207 RTS 17

004470 021527 000165 3T165: CMP (RS) ,#165 <1S IT TEST 1652

004474 001007 BNE TST166 :IF NOT THEN TRY TEST 166
0046476 012737 177777 000434 MOV #=-1,a8TEMP1 *=1 0 SHIFTED BY -16

004504 012737 177777 000444 MOV #-1,3#TEMPS 1S EQUAL TO -1 -1, AND PS=10
004512 000207 RTS 17

004514 021527 000166 TST166: CMP (RS) . #166 SIS IT TEST 1667

004520 001011 BNE 1ST167 “IF NOT THEN TRY TEST 167
004522 012737 100000 000434 MOV #100000,a#TEMP1 100000 0

004530 012737 177740 000440 MOV #-32. Q#TEMP3  -SHIFTED BY =32 IS EQUAL TO -1 -°
004536 005237 000446 INC BNTEMPE CAND PS=11

004542 000207 RTS 17

0046544 021527 000167 TST167: CMP (RS) , 4167 SIS IT TEST 1672

004550 001014 BNE 1$T170 “IF NOT THEN TRY TEST 170
004552 005037 000434 CLR NTEMPI

004556 005337 000436 DEC NTEMP? ;0 -1

004562 012737 000020 000440 MOV #16. ,9#TEMP3  :SHIFTED BY 16,

004570 005037 0006444 CLR INTEMPS ;1S EQUAL TC -1 0

004574 005237 000446 INC AN TEMPS SAND PS=12

004600 000207 RTS 17

004602 021527 000170 7ST170: CMP (R5) ,#170 SIS IT TEST 170?

004606 001007 BNE 1ST171 “1IF NOT THEN TRY TEST 171
004610 012737 125252 000436 MOV #125252,a#TEMP2 -0 125252 SHIFTED BY 16
004616 012737 125252 000442 MOV #125252 a#TEMPG -]S EQUAL TO 125252 0, AND PS=12
004624 000207 RTS 17

004626 021527 000171 IST171: CMP (R5) ,#171 SIS IT TEST 1712

004632 001010 BNE rsr1?2 “IF NOT THEN TRY TEST 172
004634 005337 000440 DEC MP3 “0 125252 SHIFTED BY 15
004640 012737 052525 000442 MOV xszszs a#TEMPL 1S EQUAL TO 52525 0

004646 005037 000446 CLR IFTEMP *AND PS=0

004652 000207 RTS 17 .

0064654 021527 000172 1ST172: (I'® (RS) #1172 S1S 1T TEST 1722

004660 001006 BNt 1ST173 “IF NOT THEN TRY TEST 173
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004662
004670
004674
004676
004702
004704
004712
004716
004724
004732
004734
004740
004742
004750
004754
004760
004766
004770
004774
004776
005004
005010
005014
005020
005026
005030
005034
005036

005042
005044

14~SEP-81
012737

OO0 =20ONO OO —=ONO S

004767
000056
005726

14-SEP~81

16:31

052525
000440

000173

177777
000440
0772777
100000

000174

100000
000436
000444
000002

000175
177777
000436
000440
000442
000007
000176

012052

(00436

000436

000442
000444

000434

000446

000434

000446

16:32 PAGE 4-21

ASHC INSTRUCTION TESTS

TST173:

TST174:

TST175:

ENT176-

MOV
INC
RTS
CMP
BNE
MOV
DEC
MOV
MoV
RTS
(Mp
BNE
MOV
DEC
CLR
MOV
RTS
CMP
BNE
MOV
CLR
INC
CLR
MOV
RTS
cmp
BEQ
JSR

56
TST

#52525 ,a#TEMP?2
NTEMPS

X7

(RS) ,#173
TST174
N=1,38TEMP2
ANTEMP3

KI7777 . IRTEMP
:;00006.8#TEMP5

(R5) ,#174
TST175S
#100000,a#TEMPT
XTEMP?
INTEMPS
#2.IMTEMPE

¥4

(RS) ,#175
ENT176
#-1,38TEMP]
aNTEMP?
a#TEMP3
a#TEMPS

A7 . IXTEMPO
X7

(RS) .#176
.+10
PC,$HLT

(SP)+

25
ED BY 16. IS EQUAL TO 52525 0, AND PS-0

TEST 173?
10T THEN TRY TEST 174

HIFTED BY 15.
;1S EQUAL TO 77777 100000, AND PS=0

;IS IT TEST 1742
;IF NOT THEN TRY TEST 175

;100000 -2 SHIFTED BY 15.
;1S EQUAL TO 77777 0
;AND PS=¢2

;IS IT TEST 1752
;IF NOT THEN TRY TEST 176

=10

:SHIFTED BY 16.
;1S EQUAL TO0 0 O
:AND PS=7

;1S THE PROGRM ENTERING TEST 1762

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST NUMBER GOOFED

;0 525
JSHIFT
IT
N

0
S
I
|
;0
S

JRESTORE STACK POINTER

St .
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(VKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0027

1318 R LIV R A A R R L L L A ARG ALLLALA LA AL LA AL MR
(1) ;TEST:176 1 SHIFTED BY 8. = 400 PS =0
(1 :tttttttttttttttttttt'tttttttttttttttttttttttttttttnnttntt.tt-tnttqt'
1)
1) 005046 010701 TST176: SCOPE!
(1) 005050 Q12701 000000 MoV #DUMMY , X1 ;LOAD R1 WITH DUMMY
(1) 005054 012701 000001 MOV 1,311 ;LOAD R1!1 WITH 1
(1) 005060 000241 cLC
(1) 005062 073127 000010 ASH( #8..21 ;SHIFT R1,R1!1 BY 8.
(1) 005066 MFPS a#PSWORD . SAVE PS
(2) 005066 106737 LWORD  1067C0!..C
(1) 005072 122737 000000 000432 CMPB #0,3#PSWORD ;1S THE PS 0?
(1) 005100 001403 BEQ .+10
(3) 005102 004767 012006 JSR PC,SHLT :SEEN AN ERRCR, GO TO TH HALT ROUTINE
(3 ;THE PS IS NOT EQUAL TO O
(3) 005106 000057 57
(1) 005110 022701 000400 (MP #400,%1 ;1S THE RESULT 400?
(1) 005114 001403 BEQ .+10
(3) 005116 004767 011772 JSR OC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :R1 1S NOT EQUAL TO 400
(3) 005122 000060 60
(1) 005124 021527 000176 (MP (R5) ,#176 ;1S STESTN = #1762
(1) 005130 001403 BEQ .+10 ;1F NOT THEN GO TO HLT
(3) 005132 004767 011756 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 005136 000061 61
(1) 005140 005215 INC (R5)
(})
(1)
1316 AN R AN RN AAR R RN P AR AN AR AR AR AR AR AR AN AR ANA AR TRt
(1) ;TEST:177 -1 SHIFTED BY 15. = 100000 PS = 11
(1) AR R AR AR AR AR AR R R E RN AN AN AR AR AN AR AR R AR AR AR R R AR AR TR AR AR AR AR
(1)
(1) 005142 010701 TST177: SCOPE1
(1) 005144 012703 000000 MOV #DUMMY , 13 :LOAD R3 WITH DUMMY
(1) 005150 012703 177777 MOV #-1,%311 ;LOAD R3!1 WITH -1
(1) 005154 000241 CLC
(1) 005156 073327 000017 ASH( #5.,%3 ;SHIFT R3,R3!1 BY 15.
(1) 005162 MFPS 4P SWORD ; SAVE PS
(2) 005162 106737 .WORD  106700!..C
(1) 005166 122737 000011 000432 CMPB #11,a#PSWORD ;IS THE PS 112
(1) 005174 001403 BEQ .+10
(3) 005176 004767 011712 JSR PC.SHLT ;SEEN_AN ERROR, GO TO TH HALT ROUTINE
(3) ;:THE PS IS NOT EQUAL TO 11
(3) 005202 000062 62
(1) 005204 022703 100000 CMP #100000,%3 ;1S THE RESULT 1000007
(1) 005210 001403 BEQ .+10
(3) 005212 004767 011676 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;R3 IS NOT EQUAL TO 100000
(3) 005216 000063 63
(1) 005220 021527 000177 C(MP (RS) ,m177 ;1S STESTN = m1777
(1) 005224 001403 BEQ .4+10 ;IF NOT THEN GO TO HLT
(3) 005226 004767 011662 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) sTEST IS IN WRONG SEQUENCE
(3) 005232 000064 64
(1) 005234 005215 INC (R5)
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DVKABA  MACY™ 1 30(1046) 1L§§EP-81 16:32 PAGE 4-264

(vkABB.P11 14-SEP-B1 16 ASHC INSTRUCTION TESTS SEQ 0029
1 ;ttttttttttttttttttttt!ttttttttttttttttttttttttt-tttntttttnttttt.ttut
;TEST:200 52525 SHIFTED BY 0O = 52525 PS O

"i.tlttiﬁttttl‘l‘tﬁ‘ﬁtit'ti"tl.titttitt‘lQtiﬁttt'tt't!t.tt!ttt'!ttlttt

AR ER AR R AR AN AN RN AR TR RN AN AR R A AR R RAANNRA AR AN A AT RA AR ARSI RN RS

STEST:201 20010 SHIFTED BY -13. - 101 PS - 0

:*tt*‘t'!‘t*tt'tt*t*tttit*t&tt*tﬁitt*lttlﬁtitt*tttttttitttttttt*t!itti

17
1)
})
)
1) 005236 010701 TST200: SCOPE?
1Y 005240 010501 MOV R5,R1 :SAVE R5
1) 0052642 012705 000000 MOV #DUMMY , X5 ;LOAD R5 WITH DUMMY
1) 005246 012705 052525 MOV #52525,%5!1 ;LOAD R5!1 WITH 52525
1) 005252 000241 CLC
1) 005254 073527 000000 ASH( #0,%5 ;SHIFT RS,R5!1 BY O
1) 005260 MFPS a#PSWORD ;SAVE PS
2) 005260 106737 WORD  106700!..C
1) 005264 122737 000000 0004632 CMPB #0 ,a#PSWORD ;IS THE PS 0?
1) 005272 001403 BEQ .+10
3) 005274 004767 011614 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ;THE PS IS NOT EQUAL TO O
3) 005300 000065 65
1, 005302 022705 052525 (MP #52525,%5 ;1S THE RESULT 525257
1) 005306 001403 BEQ .+10
3) 005310 004767 011600 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ;RS IS NOT EQUAL TO 52525
3) 005314 000066 66
1) 005316 010105 MOV R1,R5 ;RESTORE R5
1) 005320 021527 000200 CMP (R5) ,#200 ;1S STESTN = #200?
') 005324 001403 BEQ .+10 ;IF NOT THEN GO TO HLT
3) 005326 004767 011562 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ;TEST IS IN WRONG SEQUENCE
%) 005332 000067 67
;) 005334 005215 INC (RS)
)
1)
18
1
1
]
1

R T T N P P P s T T S B W o T R Y I T R e e N T N B S T T i W ﬂf\f\‘\—\,«ﬂ—-\r\fﬁﬁh,\f\nw

)
}
)
) 005336 010701 TST201: SCOPE1
) 005340 012701 000000 MOV #DUMMY , X1 ;LOAD R1 WITH DUMMY
1) 005344 012701 020010 MOV #20010,%1.1 ;LOAD R1!1 WITH 20010
1) 005350 000241 CLC
1) 005352 073127 177763 ASH( #-13..%1 :SHIFT R1,R1.1 BY -13.
1) 005356 MFPS a#PSWORD ;SAVE PS
2) 005356 106737 .WORD  106700!..C
1) 005362 122737 000000 000432 CMPB #0, a#PSWORD ;IS THE PS 0?
') 005370 001403 BEQ .*+10
$) 005372 004767 011516 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ;THE PS IS NOT EQUAL TO O
3) 005376 000070 70
1) 005600 022701 000101 (MP #101,%7 ;1S THE RESULT 1012
1) 005404 001403 BEQ .+10
3) 005406 004767 011502 JSR PC,SHLT ;SEEN AN ERROR, GO TQ TH HALT ROUTINE
3) ;R1 IS NOT EQUAL TO 101
3) 005412 000071 71
1) 005414 021527 000201 (MP (RS) ,#201 ;IS STESTN = #2012
1) 005420 001403 BEQ .+10 ;1F NOT THEN GO TO HLT
3) 005422 004767 011466 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1) ;TEST IS IN WRONG SEQUENCE
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(3) 005426 000072 72
E}; 005430 005215 INC (RS)
(Y
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(VKABB.P11 14-SEP=-81 16:31 ASHC INSTRUCTION TESTS SEQ 0031
1319 R R SRR A R R A A AR RS AAAAR AL AALLAREAAAARLLEELEEEAALE A
(1) ;TEST: 202 -1 SHIFTED BY 16. = 0 PS = 11
(1) _-tttttttttttttttttttttttttttttttttttttttntnttittnt-nttttq-nn--..-..-n
(1)
(1) Q05432 010701 1S7202: SCOPE1
(1) 005434 012703 000000 MOV #DUMMY X3 :LOAD R3 WITH DUMMY
(1) 005440 012703 177777 MOV #-1,%3.1 ;LOAD R3!'1 WITH -1
(1) 005444 000241 (LC
(1) Q05446 073327 000020 ASH( #16.,%3 ;SHIFT R3,R3.1 BY 16.
(1) 005652 MFPS a#PSWORD ;SAVE PS
(2) 005452 106737 LMWORD  106700!..C
(') 005456 122737 000011 000432 (MPB #11 ,a#PSWORD ;1S THE PS 112
(1) 005464 001403 BEQ +10
(3) 005466 004767 0114622 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
{(3) :THE PS IS NOT EQUAL TO N
(3) 005472 000073 73
(1) 0054746 022703 000000 C(MP #0,%3 ;IS THE RESULT 0?
(1) 005500 001403 BEQ .+10
(3) 005502 004767 011406 JSR OC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;R3 1S NOT EQUAL TO 0
(3) 005506 000074 74
(1) 005510 021527 000202 (MP (R5) ,#202 ;1S STESTN - #2027
(1) 005514 (001403 BEQ .+10 ;IF NOT THEN GO TO HLT
(3) 005516 004767 011372 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 005522 000075 75
(1) 005524 005215 INC (RS)
(N
(1)
1320 .'ttttittttttttttttttttttttitttttlttt*tttll*ttitttttttttttttittttttt't
(1) ;TEST:203 1 SHIFTED BY =1 = 100000 PS -1
(1) ;ttttttttt*tttﬁttttttttititttttttt!tttttt*tttttttttttttnttttttttttttt
(M
(1) 005526 010701 TST203: SCOPE1
1y 005530 (10501 MOV RS.R1 :SAVE RS
(1) 005532 012705 000000 MOV ADUMMY , %5 ;LOAD RS WITH DUMMY
(1) 005536 012705 000001 MOV #1,35!1 ;LOAD R5!1 WITH 1
(1) 005542 000241 CLC
‘1) 005544 073527 177777 ASHC #=-1,%5 :SHIFT R5,R5!1 BY -1
(1) 005550 MFPS a#PSWORD :SAVE PS
(2) 005550 106737 .WORD  106700!..C
(1) 005554 122737 000001 060432 (MPB #1,3#PSWORD ;1S THE PS 1?
(1) 005562 001403 BEQ .+10
(3) 005564 004767 011324 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :THE PS IS NOT EQUAL 10 1
(3) 005570 000076 76
(1) 005572 022705 100000 (MP #100000,%5 ;1S THE RESULT 100000?
(1) 005576 001403 BEQ .+10
(3) 005600 004767 (11310 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) _ RS 1S NOT EQUAL TO 100000
(%) 005604 000077 77
(1) 005606 010105 MOV R1,RS ;RESTORE RS
(1) 005610 021527 000203 CMP (R5),#203 ;1S $TESIN = #2032
(1) 005614 001403 BEQ .+10 :IF NOT THEN GO TO HLT
"3 005616 004767 Q11272 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
e ;TEST IS IN WRONG SEQUENCE
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vKABB,P11 14-SEP-B81 16: 31 ASHC INSTRUCTION TESTS
005622 000100 100
INC (RS)

(3)
:}; 005624 005215
(")

e —————— st
- —



CJLABA  MACYTY 3007066 14=SEP-B"  '6:32 PAGE 4-28
+LABB. P 14-SEP-81 16: 11 ASHC INSTRUCTION TESTS EQ 0033

1 Y23 223222223¢%223 2223322 2233322222020 0 2202l Rl Aol Rl

TTEST:204 125252 SHIFTED BY =16. = 125252 PS = 11

;ttttttlttttlt'tttttitii"ttlltttttl'tl...t..ii...tititttQt'ttt..t"t

e

s

< 005626 010701 157204: SCOPE?
f 005630 012701 000000 MOV #DUMMY 21 :LOAD R1 WITH DUMMY
205634 012701 125252 MOV #125252.%1.1 “LOAD R1.1 WITH 125252
005640 000241 cLe
, 005642 073127 177760 ASHC  #=16..%1 SSHIFT R1,R1.1 BY -16.
{ 005646 MFFS a#PSWORD ; SAVE PS
« 005646 106757 WORD  106700'..C
\ 005652 122737 000011 000432 ({MPR #11,a#PSWORD ;IS5 THE PS 11?
r 005660 001403 BEQ +10
( 005662 004767 011226 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
f ;TRE PS IS NOT EQUAL TO 11
(3) 005666 000°01 101
( 005670 022701 125252 CMP #125252,%1 ;1S THE RESULT 1252527
005674 001403 BEQ .+10
00567¢ 004767 011212 JSR OC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
*R1 IS NOT EQUAL TO 125252
005702 000102 102
005706 021527 000204 CMP (RS) , #204 SIS STESTN = #204?
005710 001403 BEQ .+10 IF NOT THEN GO TO HLT
005712 004767 011176 JSR PC,SHLT "SEEN AN ERROR, GO TO TH HALT ROUTINE
TEST IS IN WRONG SEQUENCE
005716 000103 103
005720 005215 INC (RS)

2222223222323 2222232222 X22233322 23233223 2222220ttt iy

TTEST:205 125252 125252 SHIFTED BY 21. = 52500 000000 PS 3

:ttiltii!tlitttt.ﬁt*ﬁ"t'Qtttitttttittit'ttt*!ttttlititﬁ.tittttttitit

—

B T e P N N T e T I e .
D AN b 2 g o Ay s 0 L g b R e s e —d s a a2 NN =t A e AN e o s e et s 4 e e
- Nt e Y e S e e N T W e e N e N N S e e e v et v A N et e i e e vt W e e e Y N e Ve N Y s e e e e e e al

005722 010701 TST205: SCOPE1
0057264 012702 125252 MOV #125252,%2 ;LOAD R2 WITH 125252
005730 012703 125252 MoV #125252,%2'1 ;LOAD R2!1 WITH 125252
005734 000241 CLC
005736 073227 000025 ASH( 21, ,%2 ;SHIFT R2,R2!1 BY 21,
005742 MFPS a#PSWORD :SAVE PS
005742 106737 LWORD  106700!..C
( 005746 122737 000003 000432 CMPB #3,a#PSWORD ;1S THE PS 3?
( 005754 001403 BEQ .+10
( 005756 004767 011132 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH _MALT ROUTINE
{ ;THE PS IS NOT EQUAL TO 3
( 005762 000104 104
( 005764 022702 052500 CMP #52500,%2 ;IS THE RESULT 525007
{ 00577¢ 001403 BEQ .+10
( 005772 004767 011116 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
( ;R2 1S NOYT EQUAL TO 52500
{ 005776 000105 105
( 006000 022703 000000 (MpP #000000,%2.1 ;1S THE RESULT 000000?
\ 006004 001403 BEQ .+10
( 006006 004767 011102 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
( ;R2!1 IS NOT EQUAL YO 000000
006012 000106 106

006C16 021527 000205 (MP (RS5),#205 ;1S STESIN = #2052

—



CARA MA'Y 1 3001066) 14~SEP-81 16:32 PAGE 4=29
A ARH P 14~-SEP=-81 16: 31 ASHC INSTRUCTION TESTS SEQ 0034
(13 006020 001403 8EQ .+10 21F NOT THEN GO TO HLT
‘3, 006022 004767 C11006 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2) JTEST IS IN WRONG SEQUENCE
3, 006026 000107 107
( 1 ; 006030 005215 INC (RS)
(1)
1323
1326 006032 012702 17771 MOV #-7,%2
1325 006036 012703 000454 MOV #51,13
}ggg 006042 012704 000456 MoV 52,14
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L ABK. P11 1,-SEP=81 16:31 ASHC INSTRUCTION TESTS SEG 0035
*3(8 ;t'i'...‘..‘i.'l‘.t.i‘tt'ttti...t*.ﬁ"l...itl.‘ilti."‘i"l'tttl'..l'
1 “TEST:206 125252 125252 SHIFTED BY S1 = 177525 52525 PS = 10
1) :t.t'itiittiliiit.It‘ﬁ"'ttt'ttttilitiitﬁttttttﬁﬁt‘t...‘.t'tt.!"i'It

(1) 006046 010701 TST206: SCOPE?
1) 006050 012700 125252 MOV #125252.% LOAD RO WITH 125252
1) 006054 012701 125252 MOV #125252.,%0.1 :LOAD R0'1 WITH 125252
1) 006060 000241 - CLC
1) 006062 073067 172366 ASHC  §1,%0 :SHIFT RO.RO'1 BY §1
1) 006066 MFPS  aNPSWORD *SAVE PS
2) 006066 106737 WORD  106700'..C
1) 006072 122737 000010 000432 CMPB #10,a#PSWORD ;IS THE PS 107
1) 006100 001403 BEQ +10
3) 006102 004767 011006 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) “TRE PS IS NOT EQUAL TO 10
3) 006106 000110 110
1) 006110 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775252
1) 006114 001403 ] BEQ .+10
3) 006116 004767 010772 JSR 5C,$HL T :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ‘RO 1S NOT EQUAL TO 177525
3) 006122 000111 11
1) 006124 022701 052525 CMP #52525,%0'1 ;1S THE RESULT 525257
1) 006130 001403 BEQ .+10
1) 006132 1$:
3) 006132 004767 010756 JSR PC,SHLT :S5EEN AN ERROR, GO TO TH HALT ROUTINE
3) 'RO' IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
3) 006136 000112 12
1) 006140 021527 000206 CMP (RS) ,#206 -IS THE STESTN = #2067
1) 006144 001372 BNE 18 :IF NOT THEN GO TO HLT ABOVE
}; 006146 005215 INC (K5)
1)
1 29 'tttt'tttiittﬁtt't'ﬁﬁ*'ﬁii.‘.i.ltitttitiiiltiiiitlﬁﬁlﬁﬁt"iﬁitit‘ttti

o~ S e, S g P, e, P e P S N N Nl W e el el e N e i el e N e e T T T T S SN

1) CTEST:207 125252 125252 SHIFTED BY @S2 = 177525 52525 PS - 10
]\ :ttttttttt'tttttﬁﬂ'itl!‘*ttttttttttit*ttt*t‘tttitﬁtt!tttttttttiiitttt
1)

1) 0067150 010701 1ST207: SCOPE1

1) 006152 012700 125252 MOV #125252.% :LOAD RO WITH 125252

1) 006156 012701 125252 MOV #125252.% '1 SLOAD RO'T WITH 125252

1) 006162 000241 cLC

1) 006164 073077 172266 ASHC 852,20 ;SHIFT RO,RO'1 BY @S2

1) 006170 MFPS axpsuono *SAVE PS

2) 006170 106737 LWORD  106700'.

1) 006174 122737 000010 000432 PR #1) alPSUORD ;1S THE PS 10?

1) 006202 001403 BEQ .+10

3) 006204 004767 010704 JSR PC,SHLT :SEEN AN ERROR, GO TO TH hALT ROUTINE
3) “THE PS IS NOT EQUAL TO 10

3) 006210 000113 113

1) 006212 022700 177525 CMP #177525,%0 ;IS THE RESULT 1775257

1) 006216 001403 BEQ .+10

3) 006220 004767 010670 JSR PC,SHLT SSEEN AN ERROR, GO TO TH HALT ROUTINE
3) “RO 1S NOT EQUAL TO 177525

3) 006224 000114 14

1) 006226 022701 052525 CMP #52525,20 1 ;1S THE RESULT 525257

1) 006232 001403 BEQ L+10

1) 006234 1%:

—— e . ——



DVKABA MACYS1 30(1046) 14=SEP-81 16:32 PAGE 4~31
“VKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0036
(3) 006234 006767 10654 JSR PCLSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(1) “ROT1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006240 000115 115
(1) 006262 021527 000207 CMP (RS) ,#207 ;1S THE STESTN = #207?
(1) 006246 001372 BNE 1% :1F NOT THEN GO TO HLT ABOVE
;; 006250 005215 INC (R5)
1)

~ e



DVKABA

FVKABB.

1330

{
(
(
(
{
(
(
(

Hdﬂwwwdddwww~dwwWaawa—ddAM-_d

e e N e e e N N N W N e Y e e N M e N e hr o S e N N e el N v e e N i N N e e e e e e e N N e N N W e N e v w2

P N e T e T T e N N W i e e i I T T e N N B N

et b A AN A b NN s =Dt s el e ek et LN b

MACY ™
P

006252
006256
006260
006264
006266
006272
006272
006276
006304
006306

006312
006314
006320
006322

006326
006330
006334
006336
006336

006342
006344
006350
006352

006354
006356
006362
006366
006370
006372
006372
006376
006404
oc J6

006412
006414
006420
006422

006426
006430
006434
006436

30(1046)
14=-SEP-81

000117
022701
001403

004767
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021527
001372
005215

000121
022700
001403
004767

000122
022701
001403

00001C
010602

177525
010566

052525
010552

000210

125252
125252

000010

010502

177525
010466

052525

14=-SEP~81
: 31

000432

000432

16:32 PAGE 4-32

ASHC INSTRUCTION TESTS

e Y313 3222 222322222222 s 2 R s 222222 R RNl R DR

125252 125252 SHIFTED BY a#S1 = 177525 52525 PS = 10

:tttttttttttll!t..."ﬁﬁti't'.tttit..lillﬁﬁ.Qtit..l...'i't'tiitlitttt'

‘TEST:210

TS7210: SCOPE1

MOV
MOV
CLC
ASH(
MFPS
.WORD
CMPB
BEQ
JSR

116
CMP
BEQ
JSR

117
CMP
BEQ

JSR

120
(MP
BNE
INC

1%:

appsuono
106700 .
”#10 BJPSUORD

.+10

PC,SHLT

#177525,%0
.+10
°C,$HLT

#52525.%0:1
410
PC.SHLT

(R5) ,#210
1%
(R5)

:SE
;RO

;LOAD RO WITH 125252
;LOAD RO'T WITH 125252

;SHIFT RO,RO!1 BY axS?
; SAVE PS

;1S THE PS 10?

:SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

;1S THE RESULT 177525?

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
:RO IS NOT EQUAL TO 177525

;1S THE RESULT 52525?

g ?N ERROR, GO TO TH HALT ROUTINE

;IS THE STESTN = #210?

;IF NOT THEN GO TO HLT ABOVE

Y132 222222323232222232322333 3323332330332 2322 28022022 Rl Rl

125252 125252 SHIFTED BY (3) = 177525 52525 PS = 10

;ttttttttittt'ttiitlt!ttitt't*tttlttittttttttittttttttﬁﬁtt!'ttttttttt

CTEST:211

TST211:
MOV
MOV
CLC
ASH(
MFPS
.WORD
CMPR
BEQ
JSR

121
(MpP
BEQ
JSR

122

(MP

BEQ
1%:

SCOPE?

#125252,%0
#125252,%0!1

(3),%0
EJPSUORD
106700!.

710 DIPSUORD

+16
PC $HLT

3176525 . X0
PC,SHLT

#52525.,%0!1
.+10

;LOAD RO WITH 125252
;LOAD RO'T WITH 125252

;SHIFT RO,RO!T BY (3)
;SAVE PS

;1S THE PS 10?

;SEEN AN ERROR, GO TO TH HALT ROUTIANE
;THE PS |S NOT EQUAL TO 10

;1S THE RESULT 1775257

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
RO IS NOT EQUAL TO 177525

;IS THE RESULT 525257

S NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

SEQ@ 0037
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{VKABB.P 14-SEP~81 16:31 ASHC INSTRUCTION TESTS S¢Q CO3E
(3) 006436 004767 010652 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
(3) ZRO!1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006442 000123 123
(1) 006444 021527 000211 CMP (RS) ,#211 1S THE STESTN = #2117
(1) 006450 001372 BNE 1% ;1F NOT HEN GO TO HLT ABOVE
(;; 006452 005215 INC (RS)
(
(1)
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(VKABB.P11 14~SEP-81 16:31 ASHC INSTRUCTION TESTS SE@ 0039

1332 ;t!t!tttttttttttttitttttttttlQttttttttt'ttttttttttttttt!lttttl!'-tttt
(1) STEST:212 125252 125252 SHIFTED BY (3)+ = 177525 52525 PS = 10
(1) :ttttttttltittttttttttttittttttttittittttttttttttttttttlthtttttttttt.
(1)
(1Y 006454 010701 TST212: SCOPE?
(1) 006456 012700 125252 MOV #125252.%0 LOAD RO WITH 125252
(1) 006462 012701 125252 MOV #125252°%0!1 : LOAD R0'1 WITH 125252
(1) 006466 000241 CLC
(1) 006470 073023 ASHC (3)+.%0 SSHIFT RO,RO!'1 BY (3)+
(V) 006472 MFPS  a#PSWORD ‘SAVE PS
(2) 006472 106737 _WORD  106700°.

(1) 006476 122737 000010 000432 (MPB 210 arpsuono ;IS THE PS 10?
(1) 006506 001403 BEQ .+10

(3) 006506 004767 010402 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :THE PS IS NOT EQUAL T0 10
(3) 006512 000126 124

(1) 006514 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775257

(1) 006520 001403 BEQ .+10

(3) 006522 004767 010366 JSR PCSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) RO IS NOT EQUAL T0 177525
(3' 006526 000125 125

(1) 006530 022701 052525 CMP #52525,%0.1 ;1S THE RESULT 525257
(1) 006534 001403 BEQ .+10

(1) 006536 1$:

(3) 006536 004767 010352 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006542 000126 _ 126

(1) 006544 021527 000212 CMP (RS).#212 :IS THE STESTN = #2122
(1) 006550 001372 BNE 1$ -IF NOT THEN GO TO HLT ABOVE
(1) 006552 005215 INC (RS)

)

{

1333 ;ttttttttttti*ttttttttttt‘l*ttttttttittttttttttttttttttttttt'ttttttttt
() STEST:213 125252 125252 SHIFTED BY =(3) = 177525 52525 PS = 10
f'l\ ;l'**ttttttttttttt*tttttttttttﬁtttttttttttttitttttttttﬁtttttttlttttttt
(1)

(1) 006554 010701 TST213: SCOPE1

(1) 006556 012700 125252 MOV #125252,%0 :LOAD RO WITH 125252
(1) 006562 012701 125252 MOV #125252.%0'1 SLOAD ROTT WITH 125252
(1) 006566 000241 cLe

(1) 006570 073043 ASHC  =(3).X0 :SHIFT RO,R0'1 BY =(3)
(1) 006572 MFPS appsuono *SAVE PS
(2) 006572 106737 _WORD 106700 .
(1> 006576 122737 000010 000432 cMPB 410 axpsuono ;IS THE PS 10?
(1) 006604 001403 BEQ .+10

(3) 006606 004767 010302 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) “THE PS IS NOT EQUAL TO 10
(3) 006612 000127 127

(1) 006614 022700 177525 CMP #177525,%0 ©1S THE RESULT 1775252
(1) 006620 001403 BEQ .+10
(1) 006622 004767 010266 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177525
(3) 006626 000130 130
(1) 006630 022701 052525 CMP #52525,%0'1 ;1S THE RESULT 525257
(1) 006634 001403 BEQ +10
{1 006636 1%:
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fvKABB.P11 14~SEP-81 16:31 ASHC INSTRUCTION TESTS Sta G0«0
(3) 006536 0064767 010252 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) JRO.1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006642 000131 131
(1) 006644 021527 000213 CMP (RS) , #4213 ;1S THE STESTN = #2132
(1) 006650 001372 BNE 1% :1F NOT THEN GO TO HLT ABOVE
(;) 006652 005215 INC (R5)
(1)
(1)
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CVKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS

133, .'-ttttttttttttttotttttt-tt-ttttttttttttttttttt-ttttttt-cn\na-qt-tn
(1) STEST: 214 125252 125252 SHIFTED BY 2(4) = 177252 125252 PS = 1
(1) tttttttttttttttttttttttttttttttttttttttttttttnt!ttttttntttttttittttt
(1)

(1) 005654 010701 TST214: SCOPE?

(1) 006656 012700 125252 MOV #125252.%0 LOAD RO UITH 125252
(1) 006662 012701 125252 mov #125252,%0!1 . LOAD R0'1 WITH 125?52

(1) 006666 000241 (LC

(1) 006670 073064 000002 ASH(C 2(4),%0 ;SHIFT RO,R0!1 BY 2(&)

(1) 006674 MFPS a#PSWORD :SAVE PS

(2) 006676 106737 .WORD  106700!..C

(1) 006700 122737 000011 000432 (mMP8 #11,3#PSWORD ;IS THE PS 112
(1) 006706 001403 BEQ .+10
(3) 006710 004767 010200 JSR PC,SHLT :SEEN AN ERROR, GO TD TH HALT ROUTINE
(3) ;THE PS 1S NOT EQUAL TO 11
(3) 006714 000132 132
(1) 006716 022700 177252 CMP #177252,%0 ;1S THE RESULT 177252?

(1) 006722 001403 BEQ +10
(3) 006724 004767 010164 JSR oC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) :RO IS NOT EQUAL TO 177252
(3) 006730 000133 133
(1) 006732 022701 125252 CMP #125252,%01 ;1S THE RESULT 125252?

(1) 006736 001403 BEQ .+10
(1) 006740 1%:

(3) 006740 004767 010150 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUIINE
(3) *RO!1 IS NOT EQUAL TO 125252 OR INCORRECT SEQUENCE
(3) 006744 000134 134
(1) 006746 021527 000214 CMP (RS) ,#214 ;1S THE STESTN = #2142
(1) 006752 001372 BNE 1% ;1F NOT THEN GO TO HLT ABOVE
(1) 006754 005215 INC (R5)

i
(

1335 SRR AR AN AR R A AR AR RN AR AR AR AR R R AR R ENARRRA RN R AR AAN AN RN
1) ;TEST:215 125252 125252 SHIFTED BY a@{4) = 177525 52525 PS = 10
(1 AR A AR AR AN AR R E R R R A A RN AR AR AN R AR AN AR CRAERRARRRE AR RN R R NS
(1)

(1) 006756 0107201 TST215: SCOPE1
(1Y 006760 012700 125252 MoV #125252,%0 LOAD RO WITH 125252
(1) 006764 012701 125252 MoV #125252,%0!1 ;LOAD R0'1 WITH 125252
(1) 006770 000241 CLC
(1) 006772 073074 000000 ASH(C a(4),%0 ;SHIFT RO,RO'1 BY a(4)

(1) 006776 MFPS GIPSUORD :SAVE PS
(2) 006776 106737 .WORD  106700!..

(1) 007002 "22737 000010 000432 CMPB #10 alPSUURD ;1S THE PS 107
(1) 007010 001403 BEQ  +10
(3) 007012 004767 010076 JSR PC.SHLY ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;THE PS IS NOT EQUAL TO 10
(3) 007016 000135 135
(1) 007020 022700 177525 CMP #177525.%0 ;1S THE RESULT 177525?

(1) 007024 001403 BEQ .+10

(3) 007025 004767 010062 JSR PC.SHLT ;SEEN AN ERROR, GO TO_TH HALT RJUTINE
(3) :RO IS NOT EQUAL TO 177525
(3) 007032 000136 136
(1) 007034 022701 052525 CMP #52525.%0.1 ;1S THE RESULT 525257
(1) 007040 001403 BEQ .+10
(1) 007042 18:
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004767

000137
021527
001372
005215

010046

000215

16:32 PAGE 4-37

ASHC INSTRUCTION TESTS

JSR

137
(MP
BNE
INC

PC,SHLT

(R5) ,#2%5
1%
(R5)

EN AN ERROR, GO TO TH HALT ROUTINE
'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

;1S THE STESTN = #2152
;IF NOT THEN GO TO HLT ABOVE

. SE
;RO

SESG 04«
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(VKABB. P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0043

133§ _'tttt-tattttttttttttttttttttnttﬂnttttttt-ttttttttttttttn\nntntt-qn--
1) TTEST:216 125252 125252 SHIFTED BY a@(4)+ = 177525 52525 PS = 10
f 1 ) "tttttttttttttltltttltt‘tttttttttitttttl’tttitﬁtitﬁtQtittt'ttttﬁtintt.
(1)

(1) 007060 010701 1ST216: SCOPET

(1) 007062 012700 125252 MOV #125252,%0 LOAD RO WITH 125252

(1) 007066 0127C1 125252 MOV #125252.%0"1 :LOAD no'1 WITH 125252

(1) 007072 000241 cLC

(1) 007074 073034 ASHC  @(4)+,%0 sSHIFT RO,RO!1T BY @(4)e

(1) 007076 MFPS B#PSHORD :SAVE PS

(2) 00707€ 106737 JWORD 106700".

(1) 007102 122737 000010 000432 CMPB #10 a#Psuono ;1S THE PS 10?

(1) 007110 001403 BEQ +10

(3) 007112 004767 007776 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “THE PS IS NOT EQUAL TO 10

(3) 007116 000140 140

(1) 002120 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775252

(1) 007124 001403 BEQ .+10

(3) 007126 004767 007762 JSR 5C,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "RO 1S NOT EQUAL TO 177525

(3) 007132 000141 141

(1) 007134 022701 052525 CMP #52525,%0.1 ;1S THE RESULT 52525?

(1) 007140 001403 BEQ .+10

(1) 007142 1%:

(3) 007142 004767 007746 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 007146 000142 142

(1) 007150 021527 000216 (™o (RS) ,#216 ;1S THE STESTN = #2167

(1) 007154 001372 BNE 1% :IF NOT THEN GO TO HLT ABOVE

(1) 007156 005215 INC (RS)

(1)

(V)

1337 S I A R A R L LA R RO LR LMLl bbbl fleddododatodofodntoiaialofoinlalely
(1) CTEST:217 125252 125252 SHIFTED BY a-(4) = 177525 52525 PS - 10
(1 ) ;ttttttttttttttttttttl’ttittittt!lttttttttitttttttttt*tttttttttttttttt
(1)

(1) 007160 010701 TST217: SCOPE1

(1) 007162 012700 125252 MOV #125252.%0 -LOAD RO WITH 125252

(1) 007166 012701 125252 MOV #125252.%0!1 SLOAD ROTT WITH 125252

(1) 007172 000241 cLC

(1) 007174 (073054 ASH(C a-(4),%0 ;SHIFT RO.RO!T BY a-(4&)

(1) 007176 MFPS appswono :SAVE PS$

(2) 007176 106737 JWORD  106700".

(1) 007202 122737 000010 000432 tMPB #10 a#Psuono -1S THE PS 10?

(1) 007210 001403 BEQ .+10

(3) 007212 004767 007676 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQUAL TO 10

(3) 007216 000143 143

(1) 007220 022700 177525 CMP #177525.%0 -1S THE RESULT 1775252

(1) 007224 001403 BEQ +10

(3) 007226 004767 007662 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO 1S NOT EQUAL TO 177525

(3) 007232 000144 144

(1) 007234 022701 052525 CMP #52525,%0!1 215 THE RESULT 525252

(1) 007240 001403 BEQ +10

(")

007242 1%:
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vkABB.P11 14-SEP=-81 16: 3 ASHC INSTRUCTION TESTS SEQ 0044
(3) 007262 004767 007646 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;RO'T IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 007246 000145 145
(1) Q07250 021527 000217 (MP (RS) , #4217 ;1S THE STESIN = #2172
(1) 007256 001372 8NE 8 ;IF NOT THEN GO TO HLT ABOVE
é}) 007256 005215 INC (RS)

)
(1)
1338
1339

1340

1341

1342

1343

1344

1438 SRR AR AR RN AR AN AN R A RN r

1439 ; MUL INSTRUCTION TESTS

1640 R R I R e Al

1441

1442

1443

1444

1445 ;ttttttttttttttttttttttttttttttﬁtﬁtttttttttttttttttttttttttttttttttt-
] STEST: 220 MUL 1«40 =00 PS = 4

"ttlﬁtttﬁt*ﬁt!ttttittttittitttlttl’titQﬁtiﬁltttitl"!tttItttttttttttttt

(1)

(")

1)

(1) 007260 010701 vST1220: SCOPE

(1) Q07262 012700 000001 MOV #1,%0 sLOAD MULTIPLICAND WITH 1

(1) 007266 070027 000000 MUL #0,%0 JMULTIPLY 1 « 40

(1) 007272 MFPS aA#PSWORD ;SAVE PS

(2> 007272 106737 .WORD 106700!..C

(1) 007276 122737 000004 000432 (MPB #4 ,a4PSWORD ;IS PS = 4

(1) 007304 001403 BEQ 410

(3) 007306 004767 007602 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;PS IS WRONG

(3 007312 000146 146

(1) 007314 022700 000000 (MP #0,20 ;1S HIGH ORDER - 0

(1) 007320 001403 BEQ 410

(3) 007322 004767 007566 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) JHIGH ORDER IS WRONG

(3) 007326 000147 147

(1) 007330 022701 000000 CMP #0,%0¢1 ;1S LOW ORDER - 0

(1) 007334 001403 BEQ .+10

(1) 007336 1%:

(3) 007336 004767 007552 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 007342 000150 150

(1) 007344 021527 000220 {MP (RS),#220

(1) 007350 001372 BNE 1% ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007352 005215 INC (RS)
1446 ;tt:tttttttttttttttttttwttwttttttttttntttttt-*tttttttttttttnt-ttttntt
(1) sTEST:221 MUL -1 « #1 = =1 =1 PS = 10

(1) ;tttttttttttttttttttttt*‘tttttttttttttttttttttttﬁt!ttlt‘tttttttttt.tt
(1)

r1y 007356 010701 TST221: SCOPE

(1Y 007356 012700 177777 MoV #-1,%0 ;LOAD MULTIPLICAND WITH =1
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007362
007366
007366
007372
0G7400
007402

007406
007410
007414
007416

007422
007424
007430
007432
007432

007436
007440
0C7444
007446

007450
007452
007456
007462
007462
007466
007474
007476

007502
007504
007510
007512

007516
007520
007524
007526
007526

007532
007534
007540
007542

007544
007546

070027

106737
122737
001403
004767

000151
022700
001403
004767

000152
022701
001403

004767

000153
021527
001372
005215

004767

000154
022702
001403
004767

000155
022703
001403

004767

000156
021527
001372
005215

010701
010501

14=-SEP-81

000001

000010
007506

177777
007472

177777

007456

000221

000002
000002

000000
007412

000000
007376

000004

007362

000222

16:32 PAGE 4-40
MUL INSTRUCTION TESTS

MUL
MFPS
. WORD
CMPB
BEQ
JSR

151
(MP
BEQ
JSR

152
CMP
BEQ

JSR

153
(mP
BNE
INC

1%:

#1,%0
aNPSWORD
106700 ..¢
#10,a#PSWORD
.+10

PC.SHLT

#-1,%0
.+10

PC,SHLT
#=-1,%011
.+10
PC,SHLT
(RS) ,#221

1%
(RS)

MULTIPLY =1 » #1
. SAVE PS

;IS PS =10

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

;1S HIGH ORDER = =1

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER [S WRONG

;IS LOW ORDER = -1

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

23323222222 22232 2232223323222 20 iRl RRRdd iRl Rl

CTEST: 222

MUL 2« # =04

PS - 0

:tttttttttﬁttttti**tiQ“QttttttttltlttﬁtttﬁttttltttﬁtQtttttiitttltttt

*$1222: SCOPE
MOV
MUL
MFPS

.wORD

C(MPB
BEQ
JSR

154
(mMp
BEQ
JSR

155
CMP
BEG

JSR

156
C(MP
BNE
INC

1%:

2. %2

#2,%2

a#PSWORD
106700 . .C

#0 ,3#PSWORD
+10

PC,SHLT
0,22

.+10
PC.S$HLTY

#4,%241
.+10
PC.SHLT
(R5) , #4222

1%
(R5)

:LOAD MULTIPLICAND WITH 2
CMULTIPLY 2 «~ #2

:SAVE PS

;IS PS =0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

;1S HIGH ORDER = 0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
JHIGH ORDER IS WRONG

;1S LOW ORDER - &

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

T I R I 2222222222222 32222233 2 222222 R0l Al

MUL 1000 ~ #4200 1 0 PS 1

:ttttttttttttttttttttntt'tttttttttttittittttttntttiwtttttttttt-t‘ttt-

“TEST: 223

151223: SCOPE
MOV

RS,R1

:SAVE RS

SEQ V045



MACY 1 30(1046)

14=SEP-81

16:32 PAGE &4&-41

RaR 14-SEP=-81 16:31 MUL INSTRUCTION TESTS SEQ 0046
(1) 007550 012704 001000 MOV #1000, %4 :LOAD MULTIPLICAND WiTH 1000
(1) 007554 070427 000200 MUL #200, %4 TMULTIPLY 1000 + #200
(1) 007560 MFPS a#PSWORD :SAVE PS
(2) 007560 106737 _WORD  106700'..C
(1) 007564 122737 000001 CMPB #1,a#PSWORD ;IS PS = 1
(1) 007572 001403 BEQ +10
(%)Y 0075764 004767 CO07314 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HMALT ROUTINE
(3) *PS IS WRONG
(3) 007600 000157 157
(7) 007602 022704 000001 CMP 21, %4 ;1S HIGH ORDER = 1
(1) 007606 001403 BEQ 410
(3) 007610 004767 007300 JER PC,$HLT :SEEN AN ERROR, GO TO TH HAL: ROUTINE
(3) "HIGH ORDER 1S WRONG
(3) 007614 000160 160
(1) 007616 022705 000000 CMP #0,%4 1 ;IS LOW ORDER = 0
(1) 007622 001403 BEQ +10
(1) 007624 1%:
(3) 007624 004767 007264 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “LOW ORDER 1S WRONG OR WRONG SEQUENCE
(3) 007630 000161 161
(1) 007632 021127 000223 CMP (R1),4223 SCHECK THE TEST NUMBER
(1) 007636 001372 BNE 1% :1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007640 010105 MOV R1,RS :RESTORE RS
(1) 007642 005215 INC (RS)
1449 ;tttttttttttttttttittttttttttttt*ktltttttt!tttttttttttttttttttttttttt
(1 TTEST: 224 MUL 2 « H77777 - 0 177776 Ps 1
(] 'tttttttt*tttttﬁttt*tttttttttttttttttttttttitttttnttttttttttttttttttt

01 TST224: SCOPE

00 000002 MOV

27 077777 MUL #77777.%0
MFPS a#PSWORD

37 _WORD  106700'..C

#1, a¥P3WORD

007644

0
007646 0 #2,%0 ;LOAD MULTIPLICAND WITH 2

0 :MULTIPLY 2 ~ #77777

1

;SAVE PS
;IS PS = 1
:SEEN AN ERROR, GO TO TH HALT ROUTINE

007652
007656
007656
007662 122737 000001 {00432 (MPB
007670 001403 BEQ .+10

007672 004767 007216 JSR PC,SHLT

)

)

)

)

)

)

)

)

)

)

)

) ;PS5 1S WRONG

) 007676 000162 162

) 007700 022700 000000 CMP #0,20 ;1S HIGH ORDER = 0
) 007704 071403 BEQ .+10
) 007706 004767 007202 JSR PC,SHLT ;SEEN AN ERKOR, GO TO TH HALT ROUTINE
) ;HIGH ORDER IS WRONG

) 007712 000163 163

) 007714 022701 177776 CMP #177776,%0!1 ;1S LOW ORDER = 177776
) 007720 001403 BEQ .+10

) 007722 1%:

i 007722 004767 007166 JSR
)

)

)

)

0

)

)

)

007726 000164 164
007730 021527 000224 CMP (R5) 4224

007734 001372 8NE 1% ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
007736 005215 INC (RS)

T Y 323 2222222223322 3222303022222 0000 dRRiRiRt Rl dils

CTEST: 225 MUL 7777 « #10 = 0 77770 PS = 0

:tttttttttt*tt*tttﬁittttttttitlitt*tlttitttitttitttittit!ﬁlttttlt!t!t

;SEEN AN ERRQOR, GO TO TH HALT ROUTINE

PC,SHLT
;LOW ORDER IS WRONG OR WRONG SEQUENCE

—
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P 14-SEP-81

007740
007762
007746
007752
007752
007756
007764
007766

007772
007774
010000
010002

(slelelelelslelsle

076

— b ad
QOOOO0 OO0000O ©
@t et d | bk od —d b —h
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WHANMNOTON) — e OO

—h b ek D od
OO N

004767

000166
022703
001403

004767

000167
021527
001372
005215

000170
022704
001403
004767

000171
022705
001403

14-SEP-8°

16: 31

007777
000010

000000
007122

000000
007106

077770

007072

000225

077777
077777

000001
007024

037777
007010

000001

006774

000226

16:32 PAGE 4-4?2

MUL INSTRUCTION TESTS
TST225: SCOPE
MOv #7777 %2

MUL #10,%2

MFPS  a#PSWORD
_WORD  106700'..C
CMPB  #0, a#PSWORD

BEQ .*+10
JSR PC,SHLT
165
CMP #0,%2
BEQ .+10
JSR PC,OHLT
166
CMP #77770,%2.1
BEQ .+10

1%:
JSR S5C,8HLT
147
CMP (R5) ,#225
BNE 1%
INC (R5)

:LOAD MULTIPLICAND WITH 7777
HULTIPLY 7777 « 210

JSAVE PS

;IS PS =0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS 1S WRONG

;1S HIGH ORDER - 0

:SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

;1S LOW ORDER = 77770

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER 1S WRONG OR WRONG SEQUENCE

:1F IN WRONG SEQUENCE GO TO THE HLT ABOVE

2222322233322 222%33222232222323s 0222202222020 ddRRlRtRtttli )

STEST: 226 MUL 77777 « #77777 = 37777 1 PS = 1

;iittttttttt*ttttﬁtﬁtQtttit*'ttttittitttttttﬁtlttti!ttttttitt'ttititt

TST226: SCOPE

MOV R1
MOV 277777 .%
MUL N77777.%4

MFPS a#PSWORD
LWORD  106700!..C

(MPB #1,a4PSWORD

BEQ 410
JSR PC.SHLT
170
CMP ¥37777.%
BEQ .+10
JSR PC,SHLT
171
CMP #1,%601
BEQ .+10

1%:
JSR PC,SHLT
172
CMP (R1).,#226
BNE 1%
MOV R1,RS
INC (rR§)

:SAVE RS

:LOAD MULTIPLICAND WITH 77777
SMULTIPLY 77777 ~ w77777
:SAVE PS

;IS PS =01

;SEEN AN ERROR, GO TO TH HAL:I °NUT[wl
:PS 1S WRONG

;IS HIGH ORDER = 37777

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER 1S WRONG

;1S LOW ORDER = 1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER 1S WRONG OR WRONG SEQUENCE

;CHECK THE TEST NUMBER
:IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
*RESTORE RS

et 2232332322223 222322s223 2332322032330 2222020l R

STEST:227 MUL -1 » #77777 =1 100001 PS = 10

-FQ 0047



OVKABA MACY 1 30(1046) 14-SEP-81 16:32 PAGE 4-43
(VvKABB.P11 14-SEP-81 16:31 MUL INSTRUCTION TESTS

(1) _-ttttttttttttttqtttttttttt'ott--tt-qq--'--‘-.---'.gnq...--ogo.-n.-.-.
(1)
(1) 010134 010701 1§T227: SCOPE
(1) 010136 012702 177777 MOV N=1,%2 -LOAD MULTIPLICAND WiTH =1
(1) 010142 070227 077777 MUL X77877.%2 ~ IMULTIPLY =1 » #77777
(1) 010146 MFPS NPSWORD “SAVE PS
(2) 010146 106737 LWORD  106700'..C
(1) 010152 122737 000010 000432 CMPB  #10,3#PSWORD ;IS PS = 10
(1) 010160 001403 BEQ L+10
(3) 010162 004767 006726 JSR PC,SHLT SSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
(3) 010166 000173 173
(1) 010170 022702 177777 CMP #-1,%2 :1S HIGH ORDER = =1
(1) 010174 001403 BEQ .+10
(3) 010176 004767 006712 JSR PC,SHLT -SEEN AN ERROR., GO TO TH HALT ROUTINE
(%) “HIGH ORDER IS WRONG
'3) 010202 000174 174 ‘
(1) 010204 022703 100001 (MP #100001,%2'1 ;1S LOW ORDER = 100001
(1) 010210 001403 BEQ .+10
(1) 010212 1%:
(3) 010212 004767 006676 JSR PCLSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010216 000175 175
(1) 010220 021527 000227 CMP (RS) ,#227
(1) 010224 001372 BNE 18 -IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010226 005215 INC (RS)
1453 "ttttttiitittttttttttttitt'l’ﬁ'tttttt*ttttttttttttttttttittttt*itlttlt
(1) STEST:230 MUL <2 « H77777 = -1 2 PS = 11
(1) .‘ttitt*tttttil’itttttlt!t**tit*ttiitttttttitttttttttttttttttttttti'ltt
(1)
(1) 010230 010701 TST230: SCOPE
(1) 010232 012700 177776 MOV #-2,10 :LOAD MULTIPLICAND WITH =2
(1) 010236 070027 077777 MUL #77777.%0 CMULTIPLY =2 + W77777
(1) 010242 MFPS a#PSWORD *SAVE PS
(2 010242 106737 .WORD 106700!..C
(1) 010246 122737 000011 000432 CMPB #11, a#PSWORD ;IS PS = 11
(1) 010254 001403 BEQ .+10
(3) 010256 004767 006632 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS 1S WRONG
(3) 010262 000176 176
(1) 010264 022700 177777 CMP #-1,%0 :1S HIGH ORDER - -1
(1) 010270 001403 BEQ 410
(3) 010272 004767 006615 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “HIGH ORDER IS WRONG
(3) 010276 000177 177
(1) 010300 022701 000002 (MP #2.,%01 ;1S LOW ORDER = 2
(1) 01030¢ 001403 BEQ .+10
(1) 010306 1%:
(3) 010306 C04767 006602 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010312 000200 200
(1) 010314 021527 000230 CMP (R5),#230
(1) 010320 001372 BNE 1$ <IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010322 005215 INC (RS)
1454 '-ttttttttttttttttttttttttttttttttttttttttttutttttttttttttttttt:atnngn
(1) TTEST:231 MUL 125252 » #2 = =1 52524 P = 11



DVKABA MACY" 1 30(1046) 14=-SEP-81 16:32 PAGE 4~44
(vKABB.P11 14=SEP-81 16:31 MUL INSTRUCTION TESTS SEQ 0049

(] ) ;tttttttttttttlttttttittttttttttt.!tttttttt!ttittltttttttt'ttttttt!tt
(N

(1) 010324 010701 TST231: SCOPE

(1) 010326 012702 125252 MOV #125252,%2 :LOAD MULTIPLICAND WiTH 125252

(1) 010332 070227 000902 MUL 82,12 TMULTIPLY 125252 « #2

(1) 010336 MFPS  a#PSWORD “SAVE PS

(2) 010336 106737 WORD  106700'..C

(1) 010342 122737 000011 000432 CMPB  #171,3#PSWORD ;IS PS = 11

(1) 010350 001403 BEQ +10

(3) 010352 004767 006536 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS 1S WRONG

(3) 010356 000201 201

(1) 010360 022702 177777 CMP #-1,%2 ;1S HIGH ORDER = =1

(1) 010364 001403 BEQ .+10

(3) 010366 004767 006522 JSR PC,8HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "HIGH ORDER IS WRONG

(3) 010372 000202 202

(1) 0103764 022703 052524 CMP #52524,%2'1 21S LOW ORDER = 52524

(1) 010400 001403 BEQ .+10

(1) 010402 1$:

(3) 010402 004767 006506 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(% ;LOW ORDER IS URONG OR WRONG SEQUENCE
(3) 010406 000203 203

(1) 0106410 021527 000231 CMP (RS) ,#231

(1) 010414 001372 BNE 1% :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010416 005215 INC (RS)

1[,55 "t*tt*tttt*tttttttttttti*tttttttttttt*tttttttttttttttttitttttttﬁttttt
(1 CTEST:232 MUL 125252 ~ #40000 = 165252 100000 ps 11
(]) "tttttt**tttttittttttttitttttttltttttttttﬁﬁtttitttttttttt*ttttttttttt
(1)

(1) 010620 010701 TST232: SCOPE

(1) 010422 (10501 MOV RS,R1 :SAVE RS

(1) 010424 012704 125252 MOV #125252,%4 “LOAD MULTIPLICAND WITH 125252

(1) 010430 070427 040000 MUL #40000, ¥4 ‘MULTIPLY 125252 * #40000

(1Y 010434 MFPS  a#PSWORD *SAVE PS

(2) 010434 106737 .WORD 106700 . .C

(1) 010640 122737 000011 000432 CMPB  #11,a#PSWORD ;IS PS = 11

(1) 010446 001403 BEQ 410

(3) 010450 004767 006440 JSR PC $HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS IS WRONG

(3) 010454 000204 204

(1) 010456 022704 165252 CMP 8165252, %4 ;1S HIGH ORDER = 165252

(1) 010462 001403 BEQ .+10

(3) 010464 004767 006424 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “HIGH ORDER IS WRONG

(3) 010470 000205 205

(1) 010472 022705 100000 CMP #100000,%4 1 -1S LOW ORDER = 100000

(1) 010476 001403 BEQ .+10

(1) 010500 1$:

(3) 010500 004767 006410 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "LOw ORDER IS WRONG OR WRONG SEQUENCE
(3) 010504 000206 206

(1) 010506 021127 000232 CMP (R1) ,#232 :CHECK THE TEST NUMBER

(1) 010512 001372 BNE 18 CIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010514 010105 MOV R1,RS "RESTORE RS

(1) 010516 005215 INC (RS)



DVKABA MACY 1 30(1046) 14=-SEP-8" 16:32 PAGE 4=-45

“UKABB.P11  14-SEP-81 16:31 MUL INSTRUCTION TESTS SEQ 0050
1456 -ttttnttttttttttttttttttttttttttt-ttttttttntttttntttatt-t-tt-ttttttt
(M STEST:233 MUL 107070 « #107070 = 31222 26100 PS = 1
(1) ttttttttttttttttttttttttttttttttttttttlttttttltttttttttttttttittttt'
(1)
(V) 010520 010701 TST233: SCOPE :
(1) 010522 012700 107070 MOV #107070,%0 :LOAD MULTIPLICAND WITH 107070
(1Y 010526 070027 107070 MUL #107070,%0 :MULTIPLY 107070 ~ #107070
(1) Q10532 MFPS a#PSWORD :SAVE PS
(2) 010532 106737 LWORD  106700!..C
(1) 010836 122737 000001 000432 (MPB #1,a#PSWORD ;IS PS =1
(1) 010544 001403 BEQ .+10
(3) 010546 004767 006342 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HAL:1 ROUTINE
(3) ;PS 1S WRONG
(3) 010552 000207 207
(1) 010554 022700 031222 CMP #31222,%0 ;IS HIGH ORDER = 31222
(1) 010560 001403 BEQ +10
(3) 010562 004767 006326 JSR PC $SHLTY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JHIGH ORDER [S WRONG
(3) 010566 000210 210
(1) 010570 022701 026100 (MP #26100,%0!1 ;1S LOW ORDER = 26100
(1) 010574 001403 BEQ .+10
(1) 010576 1%:
(%) 010576 004767 006312 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;LOW ORDER ]S URONG OR WRONG SEQUENCE
(3> 010602 000211 21
(1) 010604 021527 000233 CMP (R5) ,#233
(1) 010610 001372 BNE 13 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010612 005215 INC (RS)
1457 RN AN NN AR AR R LR RN A NANA AR AR AN A AR NN NARRR AR AR AT CA AR AL
oy ;TEST: 234 MUL =1 « #1 = -1 -1 PS = 10
(1) RN R AN AR R AR AR RN R R R R R A AR NN AR A AN AR ENACRRA AR AR AR A AT
(1)
(1) 010614 010707 TST234: SCOPE
(1) 010616 012701 177777 MOV #-1,21 ;LOAD MULTIPLICAND WITH -1
(1Y 010622 070127 000001 MUL #1,11 sMULTIPLY -1 « M1
(1) 010626 MFPS a#PSWORD ;SAVE PS
(2) 010626 106737 .WORD  106700!..C
(1) 010632 122737 000010 000432 (MPB #10,a#PSWORD ;1S PS = 10
(1) 010640 001403 BEQ .+10
(3) 010642 004767 006246 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;PS IS WRONG
(3) 010646 000212 212
(1) 0°0650 022701 177777 (mpP #-1,%1 ;1S HIGH ORDER = -1
(1) 010656 001403 BEQ .+10
(3) 010656 004767 006232 JSR PC,S$HLT :SEEN AN ERROR, GO 'O TH HALT ROUTINE
(3) JHIGH ORDER IS WRONG
(3) 010662 000213 213
(1) 010664 022701 177777 CMP #-1,%1.1 ;1S LOW ORDER = -
(1) 010670 001403 BEQ 410
(1) 010672 1%:
(3) 010672 004767 006216 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 LOU ORDER IS WRONG OR WRONG SEQUENCE
(3) 010676 000214 214
(1) 010700 021527 000234 (MP (R5) ,#234
‘1) 0107046 001372 BNE 1% :1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
Y 010706 005215 INC (RS)



DVKABA MACY 1 30(1046) 14-SEP~B1 16:32 PAGE 4-46

(VKABB.P11 14=-SEP=-81 16: 31 MUL INSTRUCTION TESTS SEQ Q051

1458 ;tttttttttttttittttttttttttttttlttttttttttt'tttttttttttttﬁttttttttttt
n :TEST:235 MUL -1« 40 =00 PS = 4
(1) "lttttttttttttttttttttttttt'tttttitttttttttttﬁttttttttttttttttttttttt
(1)

(1) 010710 010701 TST235: SCOPE

(1) 010712 012703 177777 MOV #-1,%3 ;LOAD MULTIPLICAND WITH =1

(1) 010716 070327 000000 MUL #0,%3 JMULTIPLY =1 ~ #0

(1) 010722 MFPS a#PSWORD ;SAVE PS

(2) 010722 106737 .WORD i106700!..C

(1) 010726 122737 000004 000432 (MPB #4 , #PSWORD ;1S PS - 4

(1) 010734 001403 BEQ .+10

(3) 010736 004767 006152 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HAL:+ ROUTINE

(%) ;PS IS WRONG

(3) Q10762 000215 215

(1) 010764 022703 000000 cMP #0,%3 ;IS HIGH ORDER = 0

(1) 010750 001403 BEG .+10

(3) 010752 004767 006136 JSR PC,8HLT :SEEN AN ERROR, GO TO TH HALT ROUT.NE .
(3) ;HIGH ORDER IS WRONG >
(3) 010756 000216 216

(1) 010760 022703 000000 (MP #0,23.1 ;1S LOW ORDER = 0

(1) 010764 001403 BEQ .+10

(1) 010766 1$:

(3) 010766 004767 006122 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE

(3) 010772 000217 217

(1) 010774 021527 000235 CMP (RS5) ,#235

(1) 011000 001372 BNE 19 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011002 005215 INC (R5)

1459 :ttttttttttttttttttttttttttttttﬁtttttttttttttttttttttttttttttt!t'tttt
(n ;TEST: 236 MUL 77777 « #100000 = 100000 100000 PS = 11
(1) :ttttttttttttttttttttttttﬁttttttttttttttttttttttttttttttttltttttttttt
n
(1) 0110046 010701 1S1236: SCOPE
(1) 011006 010501 MOV RS R1 ; SAVE RS
(1> 011010 012705 077777 MOV #77777,%5 *LOAD MULTIPLICAND WITH 77777
(1) 011014 070527 100000 MUL #100000,%5 :MULTIPLY 77777 « #100000
(1) 011020 MFPS a#PSWORD ;SAVE PS
(2) 011020 106737 WORD  106700!..C
(1) 011024 122737 000011 000432 (MPB #11,3#PSWORD JIS PS = 11
(1) 011032 001403 BEQ L+10
(3> 011034 004767 006054 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JPS IS WRONG
(3) 0110640 000220 220
(1) 011042 022705 100000 CMP #100000,%5 ;1S HIGH ORDER = 100000
(1) 0110646 001403 BEQ .+10
(3) 011050 004767 006040 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;HIGH ORDER IS WRONG
(3) 011054 000221 221
(1) 011056 022705 100000 CMP #100000,%5.1 ;1S LOW ORDER - 100000
(1) 011062 001403 BEQ L+10
(1) 011064 1%:

(3) 011066 006767 006024 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(3) +LOW ORDER IS WRONG OR WRONG SEQUENCE

(3) 011070 000222 222

(1) 011072 021127 000236 (MP (R1) ,#23¢€ ;CHECK THE TEST NUMBER

(1) 011076 001372 BNE 1% :1F IN WRONG SEQUENCE GN TO THE HLT ABOVE
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(VKABB.P11 14-SEP-81 16:31 MUL INSTRUCTION TESTS SEQ 0052

(1) 011100 010105 MOV R1,RS sRESTORE R5

(1) 011102 005215 INC (RS)
1460 IEARNANANAN R RN AR RN AR AN TR PR RN AN AR R AR AN N AR AR AR AR AT R R R C AN O REARR AR
(1) ;TEST:237 MUL =1 « #77777 = 100001 100001 PS = 10
(1) AR RN AN R AR AR AR TR AN AN AR AN R AN A R AR ERRR AR R RO T AR N
(1)

(1) 011104 010701 TST237: SCOPE

(1) 011106 012701 177777 MOV #-1.2%1 ;LOAD MULTIPLICAND WITH -1

(1) 011112 070127 077777 MUL n77777.%1 IMULTIPLY =1 « #77777

(1) 011116 MFPS a#PSWORD ;SAVE PS

(2) 011116 106737 .WORD  106700!..C

(1) 011122 122737 000010 0004632 (MPB #10,a#PSWORD ;IS PS = 10

(1) 011130 001403 BEQ .+10

(3) 011132 004767 005756 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS 1S WRONG

(3) 011136 000223 223

(1) 011140 022701 100001 (MP #100001,%1 ;1S HIGH ORDER = 100001

(1) 011144 001403 BEQ .+10

(3) 011146 004767 005742 JSR PC,SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE
(3) JHIGH ORDER 1S WRONG

(3) 011152 000224 224

(1) 01156 022701 100001 cMP #100001,%1.1 ;IS LOW ORDER = 100001

(1) 011160 001403 BEQ .+10

(1) 011162 1%:

(3) 011162 004767 005726 JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3 011166 000225 225

(1) 011170 021527 000237 CMP (RS) ,#237

(1) 011176 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011176 005215 INC (RS)
1461 ;ttttt*ttttntttt*ttttﬂnttttttt*t*ttuttttttunutttttttttttttttttttttt
(1) ;TEST: 240 MUL 77777 « w77777 = 11 PS = 1

(1) IRARRAA KA AR AR RN AR R AR R AN R AR AA RN AR RN R AR AR RNR RN RN
(1)

(1> 011200 010701 TST240: SCOPE

(1) 011202 012703 077777 MoV #77777,%3 ;LOAD MULTIPLICAND WITH 77777

(1) 011206 070327 077777 MUL 77777 ,%3 MULTIPLY 77777 ~ 77777

(1) 011212 MFPS a#PSWORD :SAVE PS

(2) 011212 106737 WORD  106700!..C

(1) 011216 122737 000001 000432 CMPB #1,3#PSWORD ;IS PS =1

(1) 011226 001403 BEQ .+10

(3) 011226 004767 005662 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RGOUTINE
(3) ;PS IS WRONG

(3) 011232 000226 226

(1) 011234 (022703 000001 (MP #1,%3 ;1S HIGH ORDER = 1

(1) 011240 001403 BEQ .+10

(3) 011242 004767 005646 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;HIGH ORDER IS WRONG

(3) (011246 000227 227

(1) 011250 022703 000001 CMP #1,%3!1 ;IS LOW ORDER = 1

(1) 011254 001403 BEQ .+10

(1) 011256 1%:

(3) 011256 004767 005632 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011262 000230 230

(1) 011264 021527 000240 (MP (RS) ,#240
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(VKABB.P11 14~SEP=-81 16: 31 MUL INSTRUCTION TESTS S€EQ 0053
(1) 011270 001372 BNE 1% ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
1) 011272 005215 INC (RS)

14662 ;ntttttnnttttttttutttttttttt-wtttttttttt-t--tttnttnttnttt‘ntont-t-n
(N ;TEST:241 MUL 2 v H2 =464 PS = 0
(1) :tttttttttttttttttttttttttttttttttttttttttt*ttttlttttttttttttttttittt
(1)
(1) 011274 010701 TST241: SCOPE
(1) 011276 010501 MOV RS ,R1 ; SAVE RS
(1) 011300 012705 000002 MOV #2,%5 ;LOAD MULTIPLICAND WITH 2
(1) 011304 070527 000002 MUL #2,%5 JMULTIPLY 2 « #2
(1) 011310 MFPS a#PSWORD ;SAVE PS
(2) 011310 106737 .WORD 106700!..C
(1) 011314 122737 (000000 000432 {MPB #0,a#PSWORD ;IS PS =0
(1) 311322 001403 BEQ .+10
(3) 011324 004767 005564 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS IS WRONG
(3 011330 000231 231
(1) 011332 022705 000004 (MP #6,%5 ;1S HIGH ORDER = 4
(1) 011336 001403 BEQ .+10
(3) 011340 006767 005550 JSR PC,S$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;HIGH ORDER IS WRONG
(3) 0113446 000232 232
(1) 011346 022705 000004 CMP #6, 2511 ;IS LOW ORDER = 4
(1) 011352 001403 BEQ .+10
(1) 011354 1%:
(3) 011354 004767 005534 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011360 000233 233
(1) 011362 021127 000241 {MP (R1) ,4#241 ;CHECK THE TEST NUMBER
(1) 011366 001372 BNE 1% :JF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 0113720 010105 MOV R1,RS JRESTORE RS
(1) 011372 005215 INC (R5)
1463 011374 012702 Q40000 MOV #40000, %2
1464 011400 012703 000464 MOV #55,%3
}22; 011404 012704 000466 MOV #56,%4
1467 _-ttttt*tnttttttttttttttttttttwttttttttttttttttqttt\tttttttttt-tttnmw
(N TEST: 242 MUL 125252 « S5 = 165252 100000 PS - 11
(1) '-ttttﬁtttﬁtttttt*tﬁt*ttttttttttttttttitttttttittttttttttttttttttttttt
(1)
(1) 011410 010701 TST242: SCOPE
(1) 011412 012700 125252 MOV #125252,%0 ;LOAD MULTIPLICAND WITH 125252
(1) 011416 070067 167042 MUL 55,20 :MULTIPLY 125252 * S5
(1) 0114g2 MFPS a#PSWORD :SAVE PS
(2) 011422 106737 LWORD 106700!..C
(1) 011426 122737 000011 000432 (MFB #11,a#PSWORD ;IS PS = 1N
(1) 01143¢ 001403 BEQ . +10
(3) 011436 004767 005452 JSR PC,8HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;PS IS WRONG
(3) 011442 000234 234
(1) 0114644 (022700 165252 (MP #165252,%0 ;IS HIGH ORDER = 165252
(1) 011450 001403 BEQ 410
(3) 011452 004767 005436 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;HIGH ORDER IS WRONG
(3) 011456 000235 235
(1) 011460 022701 100000 CMP #100000,%0!1 ;IS LOW ORDER = 100000
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(vKABBR.P11 14-SEP=-81 16:31 MUL INSTRUCTION TESTS SEQ 0054
(1) 011464 001403 BEQ .+10
(1) 011466 1%:
(3) 011666 004767 005422 JSR PC,$HLTY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ‘LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011472 000236 236
(1) 011474 021527 000242 CMP (RS) , #2642
(1) 011500 001372 BNE 1% SIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011502 005215 INC (RS)

}(,68 .-tttttttttﬁt*ttttttttttttttttttttttttttttttttttttitttttttitttttt'tttt
(1) CTEST:243 MUL 125252 * @56 = 165252 100000 PS = 11
(1 ) "tttttttttttttttttttt*ttttttt*tttttt**ttﬁ*ﬁttttttttttttttttlttttttttt
(1)

(1) 011504 010701 TST243: SCOPE

(1) 011506 012700 125252 MOV #125252,%0 :LOAD MULTIPLICAND uer 125252

(1) 011512 070077 166750 MUL 356,20 "MULTIPLY 125252 «

(1) 011516 MFPS  @#PSWORD *SAVE PS

(2) 011516 106737 _WORD  106700!..C

(1: 011522 122737 000011 000432 CMPB #11,3#PSWORD ;IS PS = 11

(1) 011530 001403 BEQ .+10

(3) 011532 004767 005356 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RCUTINE
(3) :PS IS WRONG

(3) 011536 000237 237

(1) 011530 022700 165252 CMP #165252.%0 ;1S HIGH ORDER = 165252

(1) 011544 001403 BEO .+10

(3) 011546 004767 005342 JSR PC,SHLT :5EEN AN ERROR., GO TO TH HALT ROUTINE
(3) ;HIGK ORDER IS WRONG

(3) 011552 000240 240

(1) 011554 022701 100000 CMP #100000,%0'1 :IS LOW ORDER = 100000

(1) 011560 001403 8EQ .+10

(1Y 011562 1%:

(3) 011562 004767 005326 . JSR PC,SHLT :SEEN AN ERROR, G0N TO TH HALT ROUTINE
(%) :LOW ORDER ]S WRONG OR WRONG SEQUENCE
(3) 011566 000241 241

(1) 011570 021527 000243 CMP (R5),#243

(1Y 011524 001372 BNE 18 SIF IN WPONG SEQUENCE GO TO THE HLT ABOVE
(1) 011576 005215 INC (RS)

]469 '-ttttttttttttittttt*ttttttttttttttttttttttttttt*tttttttttttittttttitt
(1) CTEST: 244 MUL 125252 = a#SS = 165252 100000 PS - 11
(1 ) "ttttttttttttttttt*ttttittttittttttttttttttttttttttiittttttttttttittt
(1)

(1) 011600 ©10701 TST244: SCOPE

(1) 011602 012700 125252 MOV #125252.%0 :LOAD MULTIPLICAND WITH 125252

(1) 011606 070037 000464 MUL YR "MULTIPLY 125252 * a#S5

(1) 011612 MFPS axpsuoao :SAVE PS

(2) 011612 106737 WORD  106700°.

(1) 011616 122737 000011 000432 CMPB 211 a#PSUORD IS PS =N

(1) 01162¢ 001403 BEQ .+10

(3) 011626 004767 005262 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS 1S WRONG

(3) 011632 000242 242

(1) 011634 022700 165252 CMP #165252 10 -1S HIGH ORDER = 165252

(1) 011640 001403 BEQ +10

(3) 011642 004767 005246 JSR PC $HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "HIGH ORDER IS WRONG

'3 011646 000243 243

(1 011650 022701 100000 cMP #100000,%0!1 ©1S LOW SRDER = 100000
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(vKABB.P11 14-SE°=-81 16:31 MUL INSTRUCTION TESTS 560 0055
1) 011654 001403 BEQ .+10
(1) 011656 ) 18:
(3) 011656 004767 00523¢ JSR PC,SHLT :SEEN AN FRROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER 1S WRONG OR WRONG SEQUENCE
(3) 011662 000244 244
(1) 011664 021527 000244 (MP (RS5) , #4244
(1) 011670 001372 BNE 1% :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011672 005215 INC (RS)

14570 ;qtn-tttttttt*nntnt\ntttttttttttttttttttttuattt«tattqqntt-ntttt--.o-
(") sTEST: 245 MUL 125252 « X2 = 165252 100000 PS = 11
{1) ;tttttttttttttttttnt*untttttt:ttttt*tttttataatttnnntqumumt-t--tn-
(1)

(1) 011676 010701 TS1245: SCOPE

(1) 011676 012700 125252 MOV #125252,%0 ;LOAD MULTIPLICAND WITH 125252

(1) 011702 070002 MUL X2,%0 ;MULTIPLY 125252 « X2

(1Y 011704 MFPS a#PSWORD :SAVE PS

(2) 011704 106737 .WORD 106700...C

(1) 011710 122737 000011 000432 CMPB #11,3#PSWORD ;IS PS = 1

(1) 011716 001403 BEQ .+10

(3) 011720 004767 005170 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;PS IS WRONG

(3) 0117246 000245 265

(1) Q11726 022700 165252 CMP #165252.%0 :1S HIGH ORDER = 165252

(1) 011732 001403 BEQ .+10

(3) 011734 004767 005154 JSR PC,SHLT :5EEN AN ERROR, GO TO TH HALT ROUTINE
(3) :HIGH ORDER IS WRONG

(3) 011740 000246 246

(1) 0117242 022701 100000 CMP #100000,X0!1 ;1S LOW ORDER = 100000

(1) 011746 001403 BEQ .+10

(1Y 011750 1%:

(3) 011750 004767 005140 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011754 000247 247

(1) 0117256 021527 000245 CMP (RS) ,#245

(1Y 011762 001372 BNE 1% :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011764 005215 INC (RS}

1471 "ttttttttttttt*tttttkttttttttttttttttttttttttttttttt*tttiitttttttittt
(1) ;TEST:246 MUL 125252 ~ (3)+ = 165252 100000 PS = N
(1) _-t*tt*tttttttttttttttt*tt*ttttttttitttttttttttttttt*tttttttttttttittt
o
(1) 011766 010701 TST246: SCOPE
(1) 011770 012700 125252 MOV #125252.%0 :LOAD MULTIPLICAND WITH 125252
(1) 011774 070023 MUL (3)+,%0 SMULTIPLY 125252 * (3)+
(1) 0MN776 MFPS a#PSWORD ;s SAVE PS
(2) 011776 106737 .WORD 106700!..C
(1) 012002 122737 000011 000432 {MPB #11,3#PSWORD JISPS = 1N
(1) 012010 001403 BEQ .+10
(3) 012012 004767 005076 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG
(3) 012016 000250 250
(1) 012020 022700 165252 CMP #165252.,%0 ;1S HIGH ORDER = 165252 -
(1) 012026 001403 BEQ .+10
(3) 012026 004767 005062 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :HIGH ORDER ]S WRONG
(3) 012032 000251 251
(1) 012034 022701 100000 (MP #100000,%01 :1S LOW ORDER = 100000
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" vkABB.PY 14-SEP-81 16:31 MUL INSTRUCTION TESTS SEQG 0056
(1) 012040 001403 BEQ .+10
(1) 012042 1¢:
(3) Q12042 004757 005046 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) . ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 012046 000252 252
(1) 012050 Q21527 000246 CMP (RS) ,#246
(1) 012054 (01372 BNE 1% :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012056 005215 INC (RS)

1472 ;tttttt:tttttttttttttttttttttttttttttttttttttttttttttttwatqnttqtttttt
(1) TEST:247 MUL 125252 = ~(3) = 165252 100000 PS = 11
(1) .-tttttttttttttttttttt*ttttttttttttttttttttitt*ttttttttttltttttttttttt
(1)

(1) 012060 010701 TST247: SCOPE

(1) 012062 012700 125252 MOV #125252.%0 :LOAD MULTIPLICAND WITH 125252

(1) 012066 070043 MUL -{3),%0 SMULTIPLY 125252 ~ -(3)

(1Y 012070 MFPS a#PSWORD ;SAVE PS

(20 012070 106737 .WORD 106700!..C

(1) 012074 122737 000011 000432 (MPB #11,3#PSWORD ;IS PS = 1N

(1) 012102 001403 BEQ .+10

(3) 012104 004767 005004 JSR PC,8HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 012110 000253 253

(1) 012112 022700 165252 CMP #165252.,%0 ;1S HIGH ORDER = 165252

(1) 012116 001403 BEQ .+10

(3) 012120 004767 004770 JSR PC.$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :HIGH ORDER IS WRONG

(3) 012124 000254 254

(1) 012126 022701 100000 CMP #100000,%0!1 1S LOW ORDER = 100000

(1) 012132 001403 BEQ .+10

(1) 012134 1%:

(3) 012134 004767 004754 JSR PC,SHLY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEGUENCE
(3) 012140 000255 255

(1) 012142 021527 000247 (MP (RS) ,#247

(1Y 012146 001372 BNE 13 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012150 005215 INC (R5)

1[,73 .-tttttttttttttttttttttt*t*tt'titttt’ttttt*tt*tttttttttttttttttttttttt
(1) :TEST:250 MUL 125252 ~ 2(4) = 165252 100000 PS - 11
(1 .-ttttt*tttttttttttttttitttttttttttttttttttttttttttt*ttttttttttttitttt
(1)

(1) 012152 010701 TST250: SCOPE

(1) 012154 012700 125252 MOV #125252.,%0 :LOAD MULTIPLICAND WITH 125252

(1) 012160 070064 000002 MUL 2(4),%0 SMULTIPLY 125252 « 2(4)

(1) 012164 MFPS a#PSWORD :SAVE PS

(2) 012164 106737 .WORD 106700!'..C

(1) 012170 122737 000011 000432 CMPB #11,3a#PSWORD ;IS PS = 11

(1) 012176 001403 BEQ .+10

(3) 012200 004767 004710 JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :PS IS WRONG

(3) 012204 00025% 256

(1) 012206 022700 165252 CMP #165252.%0 :1S HIGH ORDER = 165252

(1) 012212 001403 BEQ .+10

(3) 012214 004767 004674 JSR PC,S$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
() ;HIGH ORDER IS WRONG

(3) 012220 000257 257

(1) 012222 022701 100000 CMP #100000,%0!'1 :IS LOW ORDER = 100000
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", KABB.F11 14-SEP=-81 16 MUL INSTRUCTION TESTS “£Q@ 0087
(1) oazzga 001403 BEO .+10
(1) 012230 1%:
(3) 012230 004767 0046660 JSR PC.SHLT ;SEEN AN ERROR, GO TQ TH HALT ROUTINE
(3) "LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 012236 000260 260
(1) 012236 021527 000250 CMP (RS) ., #250
(1) 012242 001372 BNE 1$ S1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012244 005215 INC (RS)

147¢, ;tnttttttttttttttnttttttt-tttttttttttttttttqtnwt'tttttttttttttttttttt
(13 CTEST: 251 MUL 125252 « a(4) = 165252 100000 PS = 11
{ 1 ) "ttitttttttttittttittltiittttttiﬁt*tttﬁ'ﬁt.ttﬁittll.'i'.ttttttt..l.tl
1)

1) 012246 010701 1ST251: SCOPE

(1) 012250 012700 125252 MOV #125252.,%0 :LOAD MULTIPLICAND WITH 125252

(1) 012256 070074 000000 MUL 2(4),%0 "MULTIPLY 125252 » @(4)

1) 912260 MFPS o#PSWORD ;SAVE PS

(2, 012260 106737 .wORD  106700'..C

(1) 012264 122737 000011 000432 CMPB #11,3#PSWORD  :1S PS = 11

(1) 012272 001403 BEQ +10

(3) 012274 004767 004614 JSR PC,SHLT SSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS 1S WRONG

(3) 012300 000261 261

(1) 012302 022700 165252 CMP #165252,%0 ;1S HIGH ORDER = 165252

(1) 012306 001403 BEO .+10

(3) 012310 004767 004600 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "HIGH DRDER [S WRONG

(3 012314 000262 262

(1) 012316 022701 100000 (MP #100000,%0"' 1 :1S LOW ORDER = 100000

(1) 012322 001403 BEQ .+10

(1) 012324 1%:

(3) 012324 004767 004564 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘LOW ORDER ]S WRONG OR WRONG SEQUENCE
(3) 012330 000263 263

(1) 012332 021527 000251 CMP (RS5),#251

(1v 012336 001372 BNE 18 SIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012340 005215 INC (R5)

1475 AR AR AN RN AR AR AN T CT RN RO h PR AR A R AN AARAARRR RN CRRA AT R ATROE RIS
(1) CTEST:252 MUL 125252 « a4)+ = 165252 100000 PS = 11
(1) ;Ititittttiit'lltti'iiitttttittt‘ltlIttt!tt!ttlil't!‘.i.'tit't.t.ilttt
(1}

() 012362 010201 1ST252: SCOPE
(1) 012344 012700 125252 MOV #125252,%0 :LOAD MULTIPLICAND WITH 125252
(1) 012350 070034 MUL a4+, %0 TMULTIPLY 125252 + @(4)+
(1) 012352 MFPS a#PSWORD :SAVE PS
(2) 012352 106737 JWORD  106700!,.C
(1) 012356 122737 000011 000432 CMPB #11.a#PSWORD ;IS PS = 11
(1) 012366 001403 BEQ +10
(3) 012366 006767 004522 JSR PC,SHLT :SEEN AN ERROR. GO TO TH HALT ROUTINE
3 ‘PS 1S WRONG
(3) 012372 000264 264
(1) 012374 0227G0 165252 CMP #165252,%0 :1S HIGH ORDER = 165252
(1) 012400 001403 BEQ .+10
(3) 0126402 004767 004506 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) "HIGH ORDER IS WRONG
3 012606 000265 265
CYY 012410 022701 100000 CMP #100000,%0¢1 :1S LOW ORDER = 100000
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TvKABB.P11 14-SEP-81 16:31 MUL INSTRUCTION TESTS

(1) 012414 001403 BEQ .+10

(1) 012416 1%:

(3) 012616 004767 004472 JSR PC,SHLT :SEEN AN ERROR, GO T0O, TH HALT ROUTINE

(3) :LOW ORDER IS WRCNG OR WwRONG SEQUENCE

(3) 012422 000266 266

(1) 012426 021527 000252 CMP (R5) ,#252

(1) 0126430 001372 8NE 1% :1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012432 005215 INC (R5)

1476 ;ttﬁttttttttttttt*tttttttttttttttttttttttltttttttttttttttttttttttttt'
(1) ;TEST:253 MUL 125252 * a=(4) = 165252 100000 PS = 11
(1) ;attttattttttttttttntttttttttttttatnttnttttttttnttntautatt-t-nttnt-cn
(P
(1) 012434 010701 T1ST253: SCOPE
1) 012436 012700 125252 MOV #125252,%0 :LOAD MULTIPLICAND WITH 125252
(1) 012642 070054 MUL 3-(4),%0 SMULTIPLY 125252 » a=(4)

(1) 012444 MFPS a#PSWORD JSAVE PS

(¢) 012444 106737 WORD  106700!..C

(1, 012450 122737 000011 000432 (MPB #11,3#PSWORD ;IS PS = 11

(1) 012456 001403 BEQ .+10

t3) 012460 006767 004430 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS 1S WRONG

(3) 0126646 000267 267

(1) Q12466 022700 165252 cMP #165252,%0 ;1S HIGH ORDER = 165252

(1) 012472 001403 BEQ .+10

(3) 0124746 004767 004414 JSR PC,SHLT ;S5EEN AN ERROR, GO YO TH HALT ROUTINE
(3) JHIGH ORDER IS WRONG

(3 012500 000270 270

(1) 012502 022701 100000 (MP #100000,%0!1 ;1S LOW ORDER = 100000

(1) 012506 001403 BEQ .+10

(1 012510 1%:

(3) 012510 004767 004400 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(%) 012514 (000271 271

(1) 012516 021527 000253 CMP (RS) ,#253

(1Y 012522 001372 BNE 1% :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012524 005215 INC (RS)

1480 IEARRNRC TR R RARAAN AR AR RN RARAAN

1481 ; DIV INSTRUCTION TESTS

14872 IR RN R TR RN R RN AR RNANR AR RN ON

1483

1484

1485

1486 IEAAARAARR AN R AN R AN S TR PR ACR RN R R AR AR RN AREARAEA AR RAAA R RRA AR RO
(M ;TEST:254 DIV 04/ ¥ 2 REM = 0 PS 0
(1) ;tttttwttnttt*ttttttttttttttttttttttatttttttttttttattnt-tt-tnnt"----
(1) .

(1) 0125¢8 010701 TST254: SCOPE

(1) 012530 012700 000000 MOV #0,%0 ;LOAD HIGH ORDER WITH 0

(1) 012534 012701 000004 MOV a6 ,%0+1 ;LOAD LOW ORDER WITH &

(1) 012540 071027 000002 DIV #2,20 ;DIVIDE BY #2

(1) 012544 MFPS aA#PSWORD ; SAVE PS

;%; 012544 106737 LWORD 106700!..C

(1) 012550 122737 000000 000432 CMPB #0,3#PSWORD ;ISPS =0

(1) 012556 001403 BEQ 410

() 012560 004767 0046330 JSR PC,S$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
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(3) ;PS IS WRONG

(3> 012564 000272 272

)

(1) 012566 022700 000002 (MP n2,%0 ;1S QUOTIENT = ¢

(1) 012572 001403 BEQ .+10

(3) 012574 004767 006314 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;QUOTIENT 1S WRONG

f?; 012600 000273 273

(1) 012602 022701 000000 {MP #0,%0+1 215 REMAINDER = 0

(1) 012606 001403 BEQ .+10

(3) 012610 004767 004300 JSR PC,SHLT :SEEN AN ERROR, GO TN TH HAL:1 ROUTINE
(3) ;WRONG REMAINDER

(3) 012614 000274 274

(1) 012616 321527 000254 CMP (RS) ,#254

(') 012622 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO T. THE HLT
(3) 012626 004767 004264 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HA_T ROUTINE
(3) JTEST IS IN WRONG SEQUENCE

(3) 012630 000275 275

:}; 012632 005215 INC (RS)

11,87 :*ttttttﬁttttttttttttttttttttt*ttttttttttttttt*ittttttltttttttttttttt
(1) ;TEST: 255 DIV -1 -9, / #3 -3 REM - 0 PS - 10
(1) .'tttttttttttttttttttttittttttttttttttttttttttttt*tt*ttttttttttttttttt
(7)

(1) 012636 010701 TST255: SCOPE

(1) 012636 012702 177777 MOV #=1,%2 :LOAD HIGH ORDER WITH -1

(1) 012642 012703 177767 MOV #-9.,%2+1 ;LOAD LOW ORDER WITH -9.

(1) 012646 071227 000003 DIV H3,%2 ;DIVIDE BY 43

(1Y 012652 MFPS a#PSWORD ;SAVE PS

(%; 012652 106737 .WORD 106700!..C

(

(1) 012656 122737 000010 000432 CMPB #10,a#PSWORD ;IS PS =10

(1) 012664 001403 BEQ .+10

(3 012666 004767 004222 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :PS IS WRONG

é?: 012672 000276 276

(1) 012674 022702 177775 CMP #-3,%2 ;1S QUOTIENT = <3

(1> 012700 007403 BEQ .410

(3) 012702 004767 004206 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;QUOTIENT IS WRONG

g?; 012706 000277 277

(1) Q12710 022703 000000 (MP #0,%2+1 ;1S REMAINDER = 0

(1) 012714 001403 BEQ .+10

(3) 012716 004767 006172 JSR PC,8HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) (€12722 000300 300

(1) Q127264 021527 000255 cmMp (R5) , #4255

(1) 012730 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TG THE HLT
(3) 012732 004757 0046156 JSR PC,SHLT :SEEN AN ERROR, GO YO TH HALT ROUTINt
(3) :TEST IS IN WRONG SEQUENCE

(3 01273 000301 301

(}; 0127640 005215 INC (RS)

(

<EQ 0099
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TVKABB.P11 14=-SEP-81 16:3 DIV INSTRUCTION TESTS EC 0060

1488 T R A AR LA LA AR
(th ;TEST:256 DIV 09. /7 #2 = 4 REM - 1 PS = 0
{1 ‘-tttttttttttltttttttttﬁtt""'tttttttttttttttQtttttttt'tt.-ttanttlut'
(1,

(1) 012762 010701 TST256: SCOPE

(1) 012744 010501 MOV RS .R1 ; SAVE RS

ttr Q12746 012704 000000 MoV #0,%4 ;LOAD HWIGH ORDER WITH 0

(1) 012752 012705 000011 MOV 9. X441 ;LOAD LOW ORDER WITH 9.

(1) 012756 071427 000002 DIv #2,%4 ;DIVIDE BY #2

(1) 012762 MFPS a#PSWORD ;SAVE PS

(%) 012762 106737 .WORD  106700!..C

(1)

(1) 012766 122737 000000 000432 (MPB #0,a#PSWORD ;IS PS =0

(1) 012776 001403 8EQ .+10

(3) 012776 006767 004172 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINt
(3) ) :PS 1S WRONG

:?; 013002 000302 302

(1) 013004 022704 000004 {MP b6, %6 ;1S QUOTIENT = 4

(1) Q13010 001403 BEQ L+10

(3) 013012 004767 004076 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JQUCTIENT IS WRONG

g?; 013016 000303 303

(1) 013020 022705 000001 CMP 1,244 ;1S REMAINDER = 1

(1) 013024 001403 BEQ .+10

(3) 013026 004767 004062 JSR PC,SHLT ;SEEN AN ERROR, GO TQ TH HALT ROUTINE
(3) :WRONG REMAINDER

(3) 013032 000304 304

(1) 013034 010105 MoV R1,R5 :RESTORE R5

1) 013036 021527 000256 CMP (R5) #4256

(1) 013042 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 013044 004767 004044 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE

(3> 013050 000305 305

(;; 013052 005215 INC (RS)

(

1489 AR RN AR AR NN KRR R AR R R A RN A R C A AN AR T RN AR RN RN NA RN RN TN R TR
(1) ;TEST:257 DIV -1 =9. / #2 - -4 REM = -1 PS = 10
(1) ;ttttttttttttttttt*tttttt*tttttttttttttttttttttttattttttw-utturtt-nt-
(1)

(1) 013056 010701 TST257: SCOPE

(1) 013056 012700 177777 MOV #-1,20 ;LOAD HIGH ORDER WITH =1
(1) 013062 012701 177767 MOV #-9. X0+1 ;LOAD LOW ORDER WITH -9,
(1) 013066 071027 000002 DIV 2,0 :DIVIDE BY #2

(1) 013072 MFPS a#PSWORD ;SAVE PS

E?; 013072 106737 .WORD  106700!..C

(1) 013076 122737 000010 000432 CMPB #1Q,a#PSWORD ;IS PS =10

(1) 013104 001403 BEQ +10

(3) 013106 004767 004002 JSR PC,SHLT :SEEN AN ERROR, GO TO TH 4ALT ROUTINE
(3) ;PS IS WRONG

§?; 013112 000306 306

(1) 013114 022700 177774 (MP =4 ,%0 ;1S QUOTIENT - =4

(1) 013120 001403 BEQ .+10
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{vKABB.P11 14-SEP=-81 16:3 DIV INSTRUCTION TESTS £Q 0061
(3) 013122 0064767 003766 JSR PC,SHLT :SEEN AN ERROR, GU TO Tk HALT ROUTINE
(3) ;QUOTIENT IS WRONG
:?; 013126 000307 307
(1) 013130 022701 177777 CMP #=-1,20+1 ;1S REMAINDER = =1
(1) 0131346 001403 BEQ .*10
(3 013136 004767 003752 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER
(3) 013142 000310 310
(1) 013144 021527 000257 CMP (RS5) , #4257
(1) 013150 001403 BEQ .+10 :1F IN WRONG SEQUENCE GO TO THE HLT
(3) 013152 004767 003736 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HAL1 ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 013156 000311 I
:}; 013160 005215 INC (R5)

1490 ;ttitttttttttttttttttttttttttt&t*tttttttitttttttttttttttttitntﬁttt-tt
(1 ;TEST:260 DIV 02/ #3 -0 REM = ¢ PS - 4
(1) .'ttt*ttttttttttttttttttittttttttttttttittttltitttttttttt*ttttttttttt-
(1)
(1) 013162 010701 TST260: STOPE
(1). 013164 012702 000000 MOV #0,%2 ;LOAD HIGH ORDER WITH 0
(1) 013170 012703 000002 MOV e, X2+1 ;LOAD LOW ORDER WITH 2
(1) 013174 071227 177775 DIV #-5,%2 :DIVIDE BY #-3
(") 013200 MFPS a#PSWORD ;SAVE PS
ﬁ?; 013200 106737 .WORD 106700!'..C
(1) 013204 122737 000004 000432 CMPB 44 ,9#PSWORD ;IS PS = 4
(1) 013212 001403 BEQ .+10
(3) 013214 004767 003674 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;PS 1S WRONG
E?; 013220 000312 312
(1) 013222 022702 000000 CMP #0,%2 ;1S QUOTIENT = O
(1Y 013226 001403 BEQ .+10
(3) 013230 004767 003660 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT IS WRONG
f?; 013234 000313 313
(1) 013236 022703 000002 (mMp #2,%2+1 ;1S REMAINDER = 2
(1) 013242 001403 BEQ .+10
(3) 013244 004767 003644 JSR PC.SHLTY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :WRONG REMAINDER
(3) 013250 000314 314
(1) 013252 021527 000260 (MP (R5) ,#260
(1) 013256 001403 BEQ 410 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 013260 004767 003630 JSR PC,SHLT :SEEN AN ERROR, GO 1O TH HALT ROUTINE
(3) sTEST IS IN WRONG .¢ QUENCE
(3) 013266 000315 315
5}; 013266 005215 . INC (R5)
1491 AR AR AR AR RAARR AR AR AR RN AR E AR AR RARRARRRIRAO RN TR A RRR TR
(N sTEST: 261 DIV -1 -2/ #3 =0 REM = =2 PS = &
(1) AR R AR TR R A A AR R AR A AN AR RR AT R AR RRRA AR ORI R TR R
(1) :
(1) 013270 010701 TST261: SCOPE
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1046
rVKABB.P11 14-SEP-81 16:31 DIV INSTRUCTION TESTS SE0 0067

(1) 013272 010501 MOV RS ,R1 :SAVE RS
(1) 013274 012704 177777 MOV w-1,%6 SLOAD YIGH ORDER WITH -1
(1) 013300 012705 177776 MOV #=2, 1441 “LOAD LOW ORDER WITH =2
(1) 013304 071427 000003 DIV #3, 44 ‘DIVIDE BY #3
(1) 013310 MFPS a#PSWORD :SAVE PS
<¥> 013310 106737 .WORD  106700'..C
(1)
(1Y 013314 122737 000004 000432 CMPB  #4,aNPSWORD ;1S PS = &
(1) 013322 001403 BEQ .+10
(3) 013324 004767 003564 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS IS WRONG
:?; 013330 000316 316
(1) 013332 022704 000000 CMP 80, %4 ;1S QUOTIENT = 0
(1) 013336 001403 BEQ .+10
(3) 013340 004767 003550 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “QUOTIENT IS WRONG
f?; 013344 000317 317
(1) 013346 022705 177776 CMP #=2,%641 ;1S REMAINDER = =2
(1) 013352 001403 BEQ .+10
(3) 013354 004767 003534 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *WRONG REMAINDER
(3) 013360 000320 320
(1) 013362 010105 MOV R1,RS :RESTORE RS
(1) 013364 021527 000261 CMP (RS) 4261
(1) 013370 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 013372 004767 003516 JSR PC,SHLT *SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “TEST 1S IN WRONG SEQUENCE
(3) 013376 000321 321
g}; 013400 005215 INC (RS)

1492 AR AR AN AR RN NN E R AR AN AN R R AN RN A RN R AT AR A C AR TR A R AR R RO R en
(1) STEST:262 DIV -1 =17 # = =1 REM = 0 PS = 10
(1\ ;tﬁtttttttitttlttttttttttttttittlttttttttttttttttttttttttt'tttttttttt
(1)
(1) 013402 010701 157262: SCOPE
(1) 013404 012700 177777 MOV #-1,%0 :LOAD HIGH ORDER WITH =1
(1) 013410 012701 1727777 MOV #=1.%0+1 :LOAD LOW ORDER WITH =1
(1) 013414 071027 000001 DIV #,%0 ‘DIVIDE BY #1
(1) 013420 MFPS  aAPSWORD :SAVE PS
g;; 013420 106737 LWORD  106700'..C
(1) 013424 122737 000010 000432 CMPB  #10,3#PSWORD SIS PS = 10
(1) 013432 001403 BEQ L+10
(3) 013434 004767 003454 JSR PC,SHLT .SEEN AN ERROR, GO TO TH MALT ROUTINE
(3) *PS IS WRONG
g;; 013440 000322 322
(1) 013442 022700 177777 CMP #-1,%0 ;1S QUOTIENT = -1
(1) 013446 001403 BEO .+10
(3) 013450 004767 003440 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) CQUOTIENT 1S WRONG
g?; 013456 000323 323
(1) 013456 022701 000000 CMP #0,%0+1 ;1S REMAINDER = 0
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{vKABB.P11 14-SEP=-81 16:31 DIV INSTRUCTION TESTS SE0 0063
(1) 013462 001403 BEQ .+10
(3) C13464 004767 003424 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :WRONG REMAINDER
(3) 013470 000324 3264
(1) 013472 021527 000262 cMP (R5),#262
(1) 013476 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 013500 004767 003410 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 013506 000325 325
2}; 013506 005215 INC (R5)

1493 RIS A L R LSRR ARAARE AL AAALLLALLALEMLLALLLLLMLALLLL A
(1) ;TEST:263 DIV 00/mMm =20 REM = { PS = &

(1) AR AR AR A NARARAR AN AR AR AR RN A R AR AR REAERRRARERATRRNA NIt
(1)

(1) 013510 010701 TST263: SCOPE

(1) 013512 012700 000000 MOV #0.20 ;LOAD HIGH ORDER WITH 0

(1) 013516 012701 000000 MOV #0,%0+1 :LOAD LOW ORDER WITH 0

(1) 013522 071027 000001 DIV #1,%0 ;DIVIDE BY #1

(1) 013526 MFPS I#PSWORD ;SAVE PS

Ef; 013526 106737 .WORD  106700...C

(1) 013532 122737 000004 000432 (MPB #4 ,a#PSWORD ;IS PS = 4

(1) 013540 001403 BEQ .+10

(3) 013542 004767 003346 JSR PC,SHLT ;5EEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS IS WRONG

g?; 013546 000326 326

(1) 013550 022700 000000 CMP #0,%0 ;1S QUOTIENT = 0

(1) 013554 001403 BEQ .+10

(3) 013556 004767 003332 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JQUOTIENT IS WRONG

;;; 013562 000327 327

(1) 013564 022701 000000 CMP #0,%0+1 ;IS REMAINDER = 0

(1) 013570 001403 BEQ .+10

(3) 013572 004767 003316 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) 013576 000330 330

(1) 013600 021527 000263 (MP (R3),#263

(1) 013604 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 013606 004767 003302 JSR PCLSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;TEST IS IN WRONG SEQUENCE

(3) 013612 000331 331

g}; 013614 005215 INC (R5)

1494 SRR R RN R R A AN AN E AR RAAR KA RN RN AR RO AN R NS 2282283233222 223333 22
(1) ;TEST: 264 DIV -1 125252 / #2 = 152525 REM = 0 PS =10
(1) AR AR AR AR R A AR A AR A AR AR R AR AR AR AR RN AN RRARRAR AR RS
(1)

(1) 013616 010701 TST264: SCOPE

(1) 013620 012702 177777 MOV #-1.%2 ;LOAD HIGH ORDER WITH -1
(13 013626 012703 125252 MOV #125252,%2+1 ;LOAD LOW ORDER WITH 123252
(1Y 013630 071227 000002 DIV n2, %2 ;DIVIDE BY #2

(1) 013634 MFPS a#PSWORD . SAVE PS

(2) 013634 106737 .WORD  106700!..C
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013640
013646
013650

013654

013656
013662
013664

013670

013724
013726
013730
013734
013740
013744
013744

013750
013756
013760
013764
013766
013772
013774

014000

30(1046)
14-SEP-81

122737
001403
004767

000332

022702
001403
004767

000333

022703
001403
004767

000334
021527
001403
004767

000335
005215

122737
001403
004767

000336

022704
001403
004767

000337

022705
001403
006767

000340
010105
021527

14-SEF-81
16: 31

000010 000432

003240

152525
003224

000000
003210

000264
003174

177777
177777
177777

000000 000432

003130

000001
003114

000000
003100

000265

16:32 PAGE 4-59

DIV INSTRUCTION TESTS

;IS PS =10

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

;IS QUOTIENT = 152525

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

;1S REMAINDER = 0

:SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

;IF IN WRONG SEQUENCE GO TO THE HLT
:SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

2232322232232 22332332222 2332322233222 328 22d212 8RRttt B

CMPB  #10,a#PSWORD

BEQ +10

JSR PC,SHLT

332

CMP #152525,%2

BEQ LH10

JSR PC.SHLT

333

CMP #0,%2+1

BEQ L+10

JSR PC,SHLT

334

CMP (RS) ,#264

BEQ .+10

JSR PC.SHLT

335

INC (RS)
STEST: 265 DIV

-1 =17 #1 -1

REM = 0 PS - 0

:itttiitttt*t***itﬁtt'tttitttttlttttttttttti**ttttttltttttttt*ttttttt

TST265: SCOPE
MOV R5,R1

MOV #-1,%4
MOV n-1,%4+1
DIV n=1,%4
MFPS a#PSWORD
LWORD  106700!..(C

CMPB #0, a#PSWORD
+10

8EQ .

JSR PC,SHLT
336

CMP #,%4
BEQ 410
JSR PC,SHLT
337

CMP #0,%4+1
BEQ .+10
JSR PC,SHLT
340

MOV R1,RS
CMP (R5),#265

:SAVE RS

:LOAD HIGH ORDER WITH -1

:LOAD LOW ORDER WITH -1

:DIVIDE BY #-1

JSAVE PS

;ISPS =0

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

;1S QUOTIENT = 1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

;1S REMAINDER = 0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
; WRONG REMAINDER

;RESTORE R5

SEQ 0064
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(1) 014024 001403 BEQ 410 :1F IN WRONG SEQUENCE GO TO THE HLT
(3) 016026 004767 003062 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
t3) :TEST IS IN WRONG SEQUENCE

(3) 014032 000341 341

(}; 014034 005215 INC (RS)

(

1496 P L L L bl bbb bbb bhhbb L LSS L L LR AL
(1) :TEST: 266 Dlv 25253 1 / 4125252 = 100000 REM = 1 PS = 10
(1) AR AR AR A AR R AR A AR AT AR AT R AR AN AR RN AR TR R TR aA e
(1)

(1) 0146036 010701 TST266: SCOPE

(1) 0164040 012700 025253 MOV #25253,%0 :LOAD HIGH ORDER WITH 25253

(1) 014044 012701 000001 MOV #1,%0+1 JLOAD LOW ORDER WITH 1

(1) 014050 071027 125252 DlV #125252,%0 :DIVIDE B8Y #125252

(1) 014054 MFPS a#PSWORD :SAVE PS

é?; 014054 106737 .WORD 106700!'..C

(1) 014060 122737 000010 000432 CMPB #10 ,a#PSWORD ;IS PS = 10

(1) 014066 001403 BEQ .+10

(3) 014070 004767 003020 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE .
(3) :PS 1S WRONG

f?; 014074 000342 342

(1) 014076 022700 100000 CMP #100000,%0 ;1S QUOTIENT = 100000

(1) 014102 001403 BEQ .10

(3) 014104 004767 003004 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT [S WRONG

(?) 014110 000343 343

ap

(1Y 014112 022701 000001 CMP #1,%0+1 :1S REMAINDER = 1

(1) 014116 001403 BEQ .+10

(3) 014120 004767 002770 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :WRONG REMAINDER

(3) 014124 000344 344

(1) 014126 021527 000266 CmMP (R5) ,#266

(1) 0146132 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014134 004767 002754 JSR PC,S$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE

(3) 016140 000345 345

g}; 014142 005215 INC (RS)

1497 AR AR AR RN AR AR R R AL AR AR R R AR AN E R R AR AN AR RN AR R AR RN R NN N RE
(1) :TEST: 267 DIV 37777 77777 / R77777 - 77777 REM = 77776 PS =0
(1) KRR AR AR AR R A AN A AR AR AT RN AN R AR AN AR RN AR AR AN RRANARS
(M
(1) 014144 010701 TST267: SCOPE
(1) 014146 012702 037777 MOV #37777.%X2 :LOAD HIGH ORDER WITH 37777
(1) 014152 012703 077777 MOV ¥77777,%2+1 :LOAD LOW ORDER WITH 77777
(1) 014156 071227 077777 DIV n727777.%2 :DIVIDE BY #77777
(1) 0164162 MFPS a#PSWORD :SAVE PS
E?; 014162 106737 .WORD 106700!..C
(1) 014166 122737 000000 000432 (MPB #0,3#PSWORD ;IS PS =0
(1) 014174 001403 BEQ .+10
(3) 014176 004767 002712 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :PS 1S WRONG
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é?; 014202 000346 346
(1) 016206 022702 077777 (MP n77777,%2 ;1S QUOTIENT = 77777
(1) 016210 001403 BEQ .+10
(3) 014212 004767 002676 JSR PC,SHLY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :QUOTIENT IS WRONG
(?; 014216 000347 347
(
(1) 014220 022703 077776 CMP R77776,%2+1 ;1S REMAINDER = 77776
(1) 014226 001403 BEQ .+10
(3) 014226 004767 002662 JSR PC,S$HLT :SEEN AN CRROR, GO TO TH HALT ROUTINE b
 3) ;WRONG REMAINDER
(3) 014232 000350 350
(1) 014234 021527 000267 (MP (RS) ,#267
(1) 0142460 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014242 004767 002646 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
(%) 014246 000351 351
(}) 0164250 005215 INC ‘RS)
(1)

1498 '-t**ttitttttttttttttttttttlttttttittttttttttttttttttttﬁtltttwtttttttt
(M ;TEST:270 DIV 0 100000 7 #2 = 40000 REM - 0 P 0
(1) :ttttttttttttttttt*tttttttttttttttttttttttttttttttttttQtttttttttttt't
(1)
(1) 074252 010701 TST270: SCOPE
(1) Q14256 010501 MOV RS.R1 :SAVE RS
(1) 014256 012704 000000 MOV #0, 24 ;LOAD HIGH ORDER WITH O
(1) 014262 012705 100000 MOV #100000,%4+1 ;LOAD LOW ORDER WITH 100000
(1) 014266 071427 000002 DIV #2,%4 ;DIVIDE BY #2
(1) 014272 MFPS a#PSWORD ;SAVE PS
(%; 014272 106737 .WORD 106700!..C
{
(1) 014276 122737 000000 000432 CMPB #0,a#PSWORD ;ISPS =0
(1) 014304 001403 BEQ 410
(3) 014306 004767 002602 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS IS WRONG
(}i 014312 000352 352
(1) 014314 022706 040000 CMP #60000, %4 ;1S QUOTIENT = 40000
(1) 014320 001403 BEQ .+10
(3) 014322 004767 002566 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :QUOTIENT IS WRONG
f?; 014326 000353 353
(1) 01433¢ 022705 000000 CMP #0,%4+1 ;1S REMAINDER = 0
(1) 014336 001403 BEQ 410
(3) 014336 004767 002552 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;WRONG REMAINDER
(3) 014342 000354 354
(1) 014344 010105 MOV R1,RS ;RESTORE RS
(1) 014346 021527 000270 CMP (R§),#270
(1) 014352 001403 BEQ .+10 -]F IN WRONG SEQUENCE GO TO THE HLT
3 0146354 004767 002534 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
(3) 014360 000355 355
(1) 014367 005215 INC (R5)
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(1)

1499 R L T I TR T L I L L2 L2 Sedntdaiodnindutabiiebed Suloplobubo b bbbl bt e
(1) sTEST: 27 DIV 177777 777277 7 #177776 = 40000 REM = 17777 PS = 0
(1) AR A AR AR AR P R RN RN RN AR RN R RN R AR R AT ENER R T RN RN
(1)

(1) 014364 010701 TST271: SCOPE

(1) 014366 012700 177777 MOV #177777,%0 ;LOAD HIGH ORDER WITH 177777

(1) 014372 012701 077777 MOV 77777 ,%041 ;LOAD LOW ORDER WITH 77777

(1) 014376 071027 177776 DIV #177776,%0 :DIVIDE BY #177776

(1) 014402 MFPS a#PSWORD :SAVE PS

:{; 014402 106737 .WORD  106700!..C

(1) 014406 122737 000000 000432 CMPB #0,a#PSWORD ;IS PS =0

(1) Q014414 001403 BEQ .+10

(3) 014416 004767 002472 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ) :PS IS WRONG

f?; 014422 000356 356

(1) 014424 022700 040000 CMpP #40000,%0 ;1S QUOTIENT = 40000

(1) 014430 001403 BEQ .+10

(3) 014432 004767 002456 JSR PC,SH_T ;SEEN AN ERROR, 50 TO TH HALT ROUTINE
(3) JQUOTIENT IS WRONG

f?; 014436 000357 357

(1) 014440 022701 177777 CMP #177777 ,%0+1 ;1S REMAINDER = 177//7

(1) 016444 001403 BEQ .+10

(3) 014446 004767 002462 JSR PC.SH.T ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) 014452 000360 360

(1) 014454 021527 000271 cMP (R5) , 4271

(1) 014460 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014462 004767 002426 JSR PC,SHLT ;SEEN AN ERROR, _O TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE

(3) 014466 000361 361

g}; 014470 005275 INC (R5)

1500 AR AR AR AR A AR RN R AR AN AR RA R A AR RN A AR AR RN R AR RN RN
(N ;TEST: 272 DIV 0 502525 7/ #52525 = i REM = 0 PS = 0
(1) R AR AR AR AR AR A AN AR AR AN AN AR A A AR A RARN AR AR TR R RN AR R ORI R Y
(1)

(1) 014472 010701 TST272: SCOPE

(1) 014474 012702 000000 MOV #0,%2 ;LOAD HIGH ORDER WITH 0

(1) 014500 012703 052525 MOv #52525,%2+1 ;LOAD LOW ORDER WITH 52525

(1) 014504 071227 052525 DIV #52525,%2 :DIVIDE BY #52525

(1) 014510 MFPS a#PSWORD ;SAVE PS

;g; 014510 106737 .WORD  106700!..C

(1) 014514 122737 000000 000432 CMPB #0, I¥PSWORD JASPS =0

(1) 014522 001403 BEQ .+10

(3) 014524 004767 0023664 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS IS WRONG

5?; 014530 000362 362

(1) 014532 022702 060001 CMP #1,%2 ;1S QUOTIENT =1

(1) 014536 001403 BEQ .+10

(2 014540 004767 002350 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
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(3) :QUOTIENT IS WRONG
f?’ 014544 000363 363
)
(1) 014546 022703 000700 cMP 80,2241 ;1S REMAINDER = 0
(1) 014552 001403 BEQ .+10
(3) 014554 004767 002334 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *WRONG REMAINDER
(3) 014560 000364 364
(1) 014562 021527 000272 cMP (RS ,#272
(1) 014566 001403 BEQ .+10 :1F IN WRONG SEQUENCE GO TO THE HLT
(3) 014570 004767 002320 JSR PC,SHLT "SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) STEST IS IN WRONG SEQUENCE
(3) 014574 000365 365
f}% 014576 005215 INC (RS)

150" "*ttt***tttttttttttttttttttttttt*ttt*ttiitttttttttitttt'ttttttttt'\Qt
(1 STEST:273 DIV 0 77777 / K0 = DUMMY REM = DUMMY PS 3
(1) ;ttttttt**tt*tttt*tttttttttt*ttttﬁttttttttttt*tttttttttttttttt\ RARK AN
1)

(1) 014600 010701 TST273: SCOPE

(1) 014602 010501 MOV R5,R1 :SAVE RS

(1) 014604 012704 000000 MOV #0. %4 “LOAD HIGH ORDER WITH 0

(1) 014610 012705 077777 MOV H77777.%6+1 "LOAD LOW ORDER WITH 77777

(1) 014614 071427 000000 DIV #0,%4 ‘DIVIDE BY #0

(") 014620 MFPS a4PSWORD *SAVE PS

(2) 0164620 106737 _WORD  106700'..C

<}) 014624 042737 000014 000432 BIC #14 , a#PSWORD

(1)

(1) 016632 122737 000003 000432 (MPB  #3,34PSWORD ;IS PS = 3

(1) 014640 001403 BEQ .+10

(3) 014642 004767 002246 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG

(?; 014646 000366 366

(

(1) 014650 010105 MOV R1,RS :RESTORE RS

(1) 014652 021527 000273 CMP (RS) 4273

(1) 014656 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014660 004767 002230 JSR PC,SHLT “SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “TEST IS IN WRONG SEQUENCE

(3) 014664 000367 367

g}; 014666 005215 INC (RS)

1502 IR RARA AR AR A AR AR IR A AT TR R R AR AR AR R AR AR AR NN RN NAR AR AN AR R R
(1 “TEST:274 DIV 77777 177777 / K2 = DUMMY REM - DUMMY PS = ¢
(1) '-t*tt*titttt*tttttttttttttttttt*ﬁtttlt*tttttttttttttttttt*ttttttttttt
(1)

(1) 0146720 010701 1ST274: SCOPE

(1) 014672 €127200 077777 MOV #77777.%0 :LOAD HIGH ORDER WITH 77777
(1) 014676 0127201 177777 MOV 1777775041 *LOAD LOW ORDER WITH 177777
(1) 014702 071027 000002 DIV #2,%0 :DIVIDE BY #2

(1) 014706 MFPS a#PSWORD *SAVE PS

(2) 014706 106737 JWORD  106700'..C

5%; 014712 042737 000014 000432 BIC #14 , a#PSWORD

(1) 014720 122737 000002 000432 CMPB #2 ., a#PSWORD ;IS PS = 2

(1) 014726 001403 BEQ .+10
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(3) 014730 004767 002160 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS IS WRONG
(?; 014734 000370 370
(
(1) 016736 021527 000276 (MP (R5), 4274
(1) 014762 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014746 004767 002164 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST 1S IN WRONG SEQUENCE
(3) 014750 000371 371
:}; 014752 005215 INC (R5)

1503 014754 012702 000002 MoV #2, %2

1504 014760 012703 000474 MOV #59,%3

1385 014764 012704 000476 MOV #510.%4

1509 .'ti‘*****tl’ﬁ*.*t‘l***'tt'**i*****t*****ﬂ**'**'ti.ttt*‘i*'*tﬁitﬁﬁ'ﬁ.ltﬁ
(1) ;TEST:275 DIV 0 52525 / §9 = 25252 REM - 1 PS 0
(1) R RARR AR AR AR AR R AR AR A RAR KRN AR KRR RN R RN RN R A RS
(1)

(1) Q14770 010701 TST275: SCOPE

(1) 014772 012700 000000 MOV #0,%0 ;LOAD HIGH ORDER WITH O

(1) 014776 012701 032525 MOV #52525,%0+1 :LOAD LOW ORDER WITH 52525

(1) Q15002 071067 163466 DIV 59.%0 ;:DIVIDE BY S9

(1) 015006 MFPS a#PSWORD :SAVE PS

g%; 015006 106737 .WORD  106700!..C

(1) 015012 122737 000000 000432 CMPB #0,3#PSWORD ;IS PS =0

(1) 015020 001403 BEQ .+10

(3) 015022 004767 002066 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS 1S WRONG

g?; 015026 000372 372

(1) 015030 022700 025252 CMP #25252.%0 ;1S QUOTIENT = 25252

(1) 015034 001403 BEQ .+10

(3) 015036 004767 002052 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JQUOTIENT IS WRONG

f?; 015042 000373 373

(1) 015044 022701 000001 CMP #1,%2041 ;1S REMAINDER = 1

(1) 015050 001403 BEQ .+10

(3) 015052 004767 002036 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) 015056 000374 374

(1) 015060 021527 000275 (mp (R5) ., #4275

(1) 015064 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 015066 004767 002022 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) sTEST IS IN WRONG SEQUENCE

(3) 015072 000375 375

g}; 015074 005215 INC (RS)

1508 AR AR AR AR AR AR RN A E AT AR AR RN RAR KRR AR RO AR RN EARRNRRA NIRRT ae
(n ;TEST:276 DIV 0 52525 / as10 = 25252 REM = 1 PS = 0
(1) Y L e R A T A L L SR AR L AR LR AL AR AL
(1)

(1) 015076 010701 TST27%: SCOPE
(1> 015100 012700 000000 MOV #0,%0 ;LOAD HIGH ORDER WiTH 0
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(1) 015104 012701 052525 MOV #52525,20+1 :LOAD LOW ORDER WITH 52525
(1) 015110 071077 163362 DIv 510,20 :DIVIDE BY as10
(1 015114 MFPS a#PSWORD JSAVE PS
(%) 015114 106737 .WORD 106700!..C
(1)
(1) 015120 122737 000000 000432 CMPB #0,3#PSWORD ;IS PS = 0
(1) 015126 001403 BEQ L+10
(3) 015130 004767 001760 JSR C.SHLT ;SEEN AN ERROR, GO TO TH HALT RQUTINE
(3 ;PS IS WRONG
(?) 015134 000376 376
(1)

(1) 015136 022700 025252 CMP #25252,%0 ;1S QUOTIENT = 25252
(1) 015142 001403 BEQ .+10
(3) 015144 004767 001744 JSR PC,SHLY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JQUOTIENT 1S WRONG
(?; 015150 000377 377
{

(1) 015152 022701 000001 (MP #1,%X0+1 ;1S REMAINDER = 1
(1) 015156 001403 BEQ .+10
(3) 015160 004767 001730 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER
(3) 015164 000400 400
(1) 015166 021527 000276 CMP (RS) 4276
(1) 015172 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 015174 004767 001714 JSR PC,SHLT :5EEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
(3)y 015200 000401 401
(]) 015202 005215 INC (RS)

(1)

1509 ;ttttttwtttttttttttttttttnatttttttttttttttttttttttttttttttttttstn-ttt
(1 :TEST:277 DIv 0 52525 / a#S9 = 25252 REM = 1 PS - 0
1) ;tttttttttttttt***t*tttttttttttttttttttt*ttttttttttttttttttttltttittt
(1)

(1) 015206 010701 TST277: SCOPE
(1 015206 012700 000000 MOV #0,20 :LOAD HIGH ORDER WITH O
(1) 015212 012701 052525 MOV #52525,%0+1 *LOAD LOW ORDER WITH 52525
(1) 015216 071037 000474 DIV a#s9,%0 ;DIVIDE BY a#S9
(1) 015222 MFPS a#PSWORD ;SAVE PS
({; 015222 106737 .WORD 106700!..C
{

(1) 015226 122737 000000 000432 CMPB #0,3#PSWORD IS PS =0
(1) 015234 001403 BEQ .+10
(3) 015236 004767 001652 JSR PC,$HLT :SFEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;PS IS WRONG
E?; 015242 000402 402
(1) 015244 022700 025252 CMP #25252.%0 ;IS QUOTIENT = 25252
(1) 015250 001403 8EQ .+10
(3) 015252 004767 001636 JSR PC.BHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JQUOTIENT IS WRONG
g?; 015256 000403 403
(1Y 015260 022701 000001 (MP #1,20+1 ;1S REMAINDER = 1
(1) 015264 001403 BEQ 410
(3) 015266 004767 001622 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :WRONG REMAINDER
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3) 015272 000404 404 )
(1) 015274 021527 000277 (MpP (RS) #4277
(1) 015300 001403 BEQ .+10 :1F IN WRONG SEQUENCE GO TO THE HLT
(3, 015302 004767 001606 JSR PC,SHLT :SEEN AN ERRQOR, GO TO TH HALT ROUTINE
(3) :TEST IS N WRONG SEQUENCE
(3) 015306 000405 405
E}; 015310 005215 INC (RS)

]510 :t*t‘tttttttttttt*tttttttt*tltttttt!ttitttttttttttttttttt.tttttt!tt!t
(1) ;TEST:300 DIV 0 52525 /7 %2 = 25252 REM = 1 PS = 0
(1) ;tttitttttttttitt*ttttittttttttttttttttttttttttttﬁﬁtlttt!ttt!ttittttt
(1)

(1) 015312 010701 TS1300: SCOPE

(1) 018314 012700 00000 MOV #0,%0 :LOAD HIGH ORDER WITH 0
(1> 015320 012701 052525 MOV #52525,%0+1 *LOAD LOW ORDER WITH 52525
(1) 015324 071002 DIV %2.%0 :DIVIDE BY %2

(1) 015326 MFPS a#PSWORD :SAVE PS

(%; 015326 106737 .WORD 106700!..C

(

(1) 015332 122737 000000 000432 (MPB #0,a#PSWORD ;IS PS =0

(1) 015340 001403 BEQ .+10

(3) 015342 004767 001546 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS 1S WRONG

f?; 015346 000406 406
(1) 015350 022700 025252 CMP #25252,%0 ;1S QUOTIENT = 25252
(1) 015354 001403 BEQ .+10
(3) 015356 004767 001532 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT [S WRONG
5;; 015362 000407 407
(1) 015364 022701 000001 (MP #1,%0+1 ;1S REMAINDER = 1
(1) 015370 001403 BEQ .+10
(3) 015372 004767 001516 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :WRONG REMAINDER
(3) 015376 000410 410
(1) 015400 021527 000300 CMP (RS5) ,#300
(1) 015404 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HMLT
(3) 015406 004767 001502 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 015412 000611 411
:}; 015414 005215 INC (R5)

151] :I‘tttlttttitttttttttﬁttt'tttitt!ttt*ttttttttttttt!tttttttlttti!tiittt
(N ;TEST: 301 DIV 0 52525 / (3)+ = 25252 REM = 1 PS - 0
(1) IR R AN AR R AR AR AR AR AR AN R AR R RN T AR AARARARRR AR RN RR Rt
(1)

(1) 015416 010701 IST301: SCOPE

(1) 01520 012700 000000 MOV ¥#0,%0 :LOAD HIGH ORDER WITH 0
(1) 015424 012701 052525 MOV #52525,%0+1 *LOAD LOW ORDER WITH 52525
(1) 015430 071023 DIV (3)+,%0 *DIVIDE BY (3)+

(1) 015432 MFPS AP SWORD :SAVE PS

é%; 015432 106737 .WORD 106700!..C

(1) 015436 122737 (000000 000432 C(MPR #0 ,3#PSWCRD ;IS PS - C

(1Y 015444 00140% BEQ .+10
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004767
000412

022700
001403
004767

000413

022701
001403
004767

000414
021527
001403
004767

000415
005215

wlalele
—NNO
O~NNN

0
0
0
4

N—O—

1
1
1
7
106737

122737
001403
004767

000416

022700
001403
004767

000417

022701
001403
004767

000420
021527
001403
004767

000421
005215

PC,SHLT

#25252,%0
.+10
PC,SHLT

#1,20¢1
.+10
PC,$HLT

(R5) 430
.+10
PC.SHLT

(RS5)

;SEEN AN ERROR, GO 70 TH HALT ROUTINE
:PS 1S WRONG

;1S QUOTIENT = 25252

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

;IS REMAINDER = 1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

;1F IN WRONG SEQUENCE GO TO THE MLT
;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

et 2223223223 2323223322233 3322382223222 00 R0ttt

DIV

0 52525 7 =-(3) = 25252 REM 1 PS -

;tti*iitt*ttltit*tittt**t*iﬁlit*tkittttitttttttttttttﬁttttttt'tttttt!

#0,20
#52525,%0+1
-(3).,%0
a#PSWORD
106700!..C

#0,a#PSWORD

.+10
PC.SHLT

#25252.,%0
.+10
PC,SHLT

#1,%0+1
L+10

PC,$HLT
{RS) ,#302
+10

PC,SHLT

14=SEP-81 16:52 PAGE 4~67
DIv INSTRUCTION TESTS
001442 JSR
412
025252 (MP
BEQ
001426 JSR
413
000001 CMP
BEQ
001412 JSR
414
000301 CMP
8EQ
001376 SR
415
INC
LTEST:302
*ST302: SCOPE
000000 MOV
052525 MOV
DIV
‘o MFPS
.WORD
000000 000432 CMPB
BEQ
001336 JSR
416
025252 CMP
BEQ
001322 JSR
417
000001 CMP
BEQ
001306 JSR
420
000302 CMP
BEQ
001272 JSR
421
INC

(RS)

:LOAD HIGH ORDER WITH O

:LOAD LOW ORDER WITH 52525

:DIVIDE BY ~-(3)

:SAVE PS

;IS PS =0

;SEEN AN ERROR, GO TO TH HALYT ROUTINE
:PS IS WRONG

;1S QUOTIENT = 2525¢

:SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

:1S REMAINDER = 1

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

;1F IN WRONG SEQUENCE GO TO THE HLT
;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

SEQ 0072
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YK ARB.P11 14-SEP-81 16:3 DIV INSTRUCTION TESTS SEQ 0073
(1)

’S'S .'tttt'tQtttt.t!tttttttt'tttitttttttttttttttt.l'ttt!tlttt!tntlt..ll!it
) TTEST:303 DIV 0 52525 / 2(4) = 25252 REM 1 PS =

M "ittﬁttll’tttttttttttttitttittttttl.i!Q!t.tittttttttt'tttttt.ttt.!Qt"

(') 015626 010701 1$7303: SCOPE
1) 015630 012700 000000 MOV #0.20 ;LOAD HIGH ORDER WIlTH Q
(1) 015634 012701 052525 MOV #52525 ,%0+1 "LOAD LOW ORDER WITH 52525
(1) 015640 071066 000002 DIV 214).%0 “DIVIDE BY 2(4&)
(1) 015644 MFPS  @4PSWORD *SAVE PS
c$> 015644 106737 _WORD  106700'..C
1)
(1) 015650 122737 000000 000432 CMPRB #0,9#PSWORD ;IS PS =0
(1) Q015656 001403 REQ .+10

(3) 015660 004767 001230 JSR PC.,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
(3) ‘PS 1S WRONG

5;; 015664 000422 422

(1) 015666 022700 025252 CMP #25252.,%0 ;1S QUOTIENT = 25252
(1) 015672 001403 BEQ .+10

(3) 015674 004767 001214 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "QUOTIENT 1S WRONG
‘?’ 015700 000423 423

(1,

(1) 015702 022701 000001 CMP 41,3041 ;1S REMAINDER = 1
(1) 015706 001403 BEQ .+10

(3) 015710 004767 001200 JSR PC,SHLT SSEEN AN ERROR, GO TO TH.HALT ROUTINE
(3) *WRONG REMAINDER
(3) 015714 000424 424

() 015716 021527 000303 CMP (RS) ,#303

(1) 015722 001403 BEQ .+10 SIF IN WRONG SEQUENCE GO TO THE HLT
(3) 015724 004767 001164 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “TEST IS IN WRONG SEQUENCE
(3) 015730 000425 425

<}; 015732 005215 INC (RS)

{

151‘0 :t*tttttttttttttttttlttl’tt"*ﬁtttlttttttttitttttitttttttttttltttttttt
(1) CTEST:304 DIV 0 52525 / a(4) = 25252 REM - 1 PS - 0
(1) .'tttttttttwtt*ttttttltttttt‘ltttttttttttttttittt*ttﬁttitttttittltitttt
(1)
(1) 015734 010701 1ST304: SCOPE

(1) 015736 012700 000000 MOV #0,%0 :LOAD HIGH ORDER WITH 0
(1) 015742 012701 052525 MOV #52525,%0+1 “LOAD LOW ORDER WITH 52525
(1) 815746 071074 000000 DIV a(4).%0 ‘DIVIDE BY a(4&)
(1) 015752 MFPS  a#PSWORD “SAVE PS
:g; 015752 106737 .WORD  106700'..r

(1) 015756 122737 000000 000432 (MPB  #0,a#PSWORD :IS PS - 0
(1) 015764 001403 BEQ .+10
(3) 015766 004767 001122 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
(?; 015772 000426 426
(
(1) 015774 022700 025252 CMP #25252.,%0 ;1S QUOTIENT = 25252
(1) 016000 001403 BEQ .+10
(%) 016002 004767 001106 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
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" JKABB . P 14~SEP=-81 16: 31 DIV INSTRUCTION TESTS

(3) ;QUOTIENT S WRONG

:?; 016006 000427 427

(1) 016010 022701 000001 (MP #1,%0+7 ;IS REMAINDER - 1

(1) 016014 001403 BEQ .+10

(3) 016016 004767 001072 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) . WRONG REMAINDER

(3) 016022 000430 430

(1) 016026 021527 000304 CMP (R5) ,#304

(1) 016030 001403 BEQ .+10 :1F IN WRONG SEQUENCE GO TO THE HLT
(3, 016032 004767 001056 . JSR PCLSHLT ;SEEN AN ERROR, GG TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE

(3) 016036 000431 $31

(}; 016040 005215 INC (R5)

(

1515 _-ttttttttttttttttttttttttttittttttttttttttttttttﬁtttttﬁ!tttlttt'ttttt
(M ;TEST:305 DIV 0 52525 7/ a(4)+ = 25252 REM = 1 PS - 0
(1) AR AR AR AN AN RN AR AR RRRCERRARR AR R R A AN TR b R attee
(1)

(1) C16042 010701 T5T305: SCOPE

(1) 016044 012700 000000 MOV #0,%0 ;LOAD HJGH ORDER WITH 0

(1) 016050 012701 052525 MOV #52525,%0+1 ;LOAD LOW ORDER WITH 52525

(1) 016054 071034 DIV a(4)+,%0 ;DIVIDE BY a(4)+

(1) 016056 MFPS dA#PSWORD ; SAVE PS

g%; 016056 106737 .WORD  106700!..C

(1) 016062 122737 000000 000432 CMPB #0, a#PSWORD ;IS PS =0

(1) 016070 001403 BEQ .+10

(3) 016072 004767 001016 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

g?; 016076 000432 432

(1) 016100 022700 025252 CMP #25252,%0 ;1S QUOTIENT = 25252

(1) 016104 001403 BEQ .+10

(3) 016106 004767 001002 JSR PC,SHLY ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :QUOTIENT IS WRONG

é?; 016112 000433 433

(1) 016114 022701 000001 (MP #*,%0+1 ;IS REMAINDER = i

(1) 016120 001403 BEQ +10

(3) 016122 004767 000766 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) 016126 000434 434

(1) 016130 021527 000305 CMP (RS) ,#305

(1) 016134 001403 BEQ .+10 ;1F IN WRONG SEQUENCE GO TO THE HLT
(3) 016136 004767 000752 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;TEST IS IN WRONG SEQUENCE

(3) 016142 000435 435

i;; 016144 005215 INC (R5)

1516 IARA AR AR AR AR A AR AR R RN AR AP A AR AR RN R AR C LG R AR RRRN NG Connn
(1) ;TEST:306 DIV 0 52525 /7 a-(4) = 25252 REM - 1 PS 0
(1) NN AR AE AR AR AR R TR R AR AT RN R RANE R RARR AR R RGN RN C TR ORI O
(1)

(1) 016146 010701 TST306: SCOPE
(1) 016150 012700 000000 MOV #0,%0 :LOAD HIGH ORDER WITH O
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(VKABB.P11 14-SEP-81 16:3 DIV INSTRUCTION TESTS SEQ@ 0075

016154 012701 052525 MOV #52525,%0+1 :LOAD LOW ORDER WITH 52525

016160 071054 DIv a=(4),%40 :DIVIDE BY a-(4)

016162 MFPS a#PSWORD :SAVE PS

016162 106737 .WORD  106700!..C

016166 122737 000000 0004632 CMPB #0,3NPSWORD - ;IS PS =0

016174 001403 BEQ .+10

016176 004767 000712 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

016202 0004636 436

016204 022700 025252 CMP #25252,%0 ;1S QUOTIENT = 25252

016210 001403 BEQ .+10

016212 004767 000676 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT [S WRONG

016216 000437 437

016220 022701 000001 CMP #1,%0+1 : 1S REMAINDER = 1

016224 001403 BEQ .+10

016226 004767 000662 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

016232 000440 440

016234 021527 000306 CMP (RS) ,#306

016240 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HMLT

016242 004767 000646 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

016246 000441 441

016250 005215 INC (RS)

2222322223233 33 3222322322332t R iRt R Rttt lds

STEST:307 TEST THAT E1S ABORTS PROPERLY WHEN INTERUPTED

;:tttttt*i*tttt*t*ttttti*titttttttitt*ittﬁii*ttttttttilttttttittt

B T o N A T T T e T an P . Y Y el T e T Rl an T e e e T S I e T T S P N
h ad b i b v ad b e b ek o e b d e PN h d kb ek e d ) b N b 3 NN = S AN AN D D —d N D S NN S N

e et e Ve N e Nt N e e e N e N N Nl et e Nt vavvovvvvv\'vvvvvvvvvv\'v\.—vv\.’vvVVVVV

016252 132737 000040 000621 TST307: BITB  w#40,3#SENVM <IF TYPE OUTS HAS BEEN SUPPRESSED
016260 001100 BNE EASH+2 “THEN SKIP THIS TEST

016262 013702 000502 MOV a#TTYOUT ,R?

016266 012722 016340 MOV #RA307.(R2)+  :SET INTERUPT VECTOR TO RTA307
016272 012712 000340 MOV #3640, (R) “AND THE INTERUPT PSW AS 340
016276 MTPS  #0

016276 106427 JWORD 106400 . .C

016302 012737 000030 000434 MOV #30, a# TEMP1 :PREPARE TO EXECUTE THIS SUB TEST 30 TIMES
016310 005004 CLR R&

016312 112777 000015 162164 MOVBE  #15.a$TPB :0UT PUT A "'CR"

016320 112777 000100 162160 MOVB  #100,asTPS "ENABLE TTY INTERUPT

016326 052704 000001 RTASH: BIS #1.Ré ‘PLACE A 1 IN R4

016332 072427 000020 ASHA:  ASH #16. R4 “SHIFT R4 FOR 16 TIMES

016336 000773 BR RTASH "STAY IN THE LOOP UNTIL INTERUPTED
016340 105077 162142 RTA307: CLRB  a$TPS “CLEAR TTY INTERUPT

016344 022716 016332 CMP #ASHA, (SP) 1S THE RETURN ADDRESS = ASHA
016350 001415 8EQ 48 “IF SO THEN GO TO 48

016352 012777 000015 162124 18: MOV #15,38TPB "OTHERWISE OUT PUT A '‘CR"

016360 105777 162122 28 ISTB  a$TPS "LOOP HERE UNTIL DONE COMES ON
016364 100375 BPL 2%

016366 012777 000015 162110 MOV #15,38$1PB -0UT PUT ANOTHER '‘CR"’

016374 012777 000100 162104 MOV #100,38TPS "ENABLE TTY INTERUPT

016402 000002 RT]
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(VKABB.P11  15~SEP-81 16 INTERUPT ABORT TEST SEQ 0076
016404 020427 000001 ($: CMP RG 41 :CHECK R4 TO CONTAIN PROPER DATA
016410 001403 BEQ 6$
016412 004767 0060476 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
R4 WAS CHANGED DURING THE EXECUTION OF

016416 000442 442
:THE INSTRUCTION

016420 032766 000360 000002 6$: BIT #360,2(SP) *CHECK THE PSW BEFORE INTERUPT

016426 001406 BEQ 8$

016430 004767 000460 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PSW IS WRONG

016436 000443 443

0166436 042766 000020 000002 BIC #20,2(SP) ;CLEAR THE T-BIT IF IT IS SE

016444 005337 000434 8$: DEC IHTEMPT

016450 001340 BNE 18 :IF THE SUB TEST HAS BEEN EXECUTED 30 TIMES
*THEN GO TO THE END OF THE TEST

016452 010277 162024 MOV R2,aTTYOUT :RESTORE TTY INTERUPT VECTOR

016456 005012 CLR (R2)

016460 022626 EASH:  (MP (SP)+,(SP)+ ;RESTORE THE STACK POINTER

016462 021527 000307 CMP (R5) ,#307 :CHECK THE TEST NUMBER

016466 001403 BEQ _+10

016470 004767 000420 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
“TEST IS IN WRONG SEQUENCE

016474 000444 4bk

016476 005215 INC (RS)

1 :;itt*tt*ﬁ**tttti*tt*ittti*ttﬁtttttﬁi*ﬁ*ttttt!iﬂt*tt*tit*t*tititt
STEST:310 TEST THAT EIS ABORTS PROPERLY WHEN INTERUPTED

;:ttttt*ttt***t*ﬁﬁiitt*tttitittlttitt*tﬁt!*t*ttitttttttt*lttttttt

P S S . . e T e e U W N Y W N N el il el e el e e e R T e R el = e e I, Gy
A_“d_gﬂ—dﬁhq—hd—hd—hd—hﬂ—ad—‘dh*ﬂ—hﬂ—hﬂ—h&“ﬁd“ﬁduuuuhﬂ—hﬂ—JJqﬂJ—Jd—“ﬂuﬂﬂ_ﬂm—“ﬂuuﬂ_hd

et N N Nl Nl Nt N Mt e S v N’ e N’ Nt e e’ e N N - i N Nl Nl Nt Nl Nl Nt il Nt N st P Nkl Nl N ol w ot Nt P Nl W N e il et it P et N Vool N

014500 132737 000040 000421 T1S7310: BITB #40 ,aNSENVM :1F TYPE OUTS HAS BEEN SUPPRESSED
016506 001116 BNE EMUL +2 "THEN SKIP THIS TEST

016510 013702 000502 MOV a#TTYOUT.R2

016514 012722 016572 MOV #RTA310,{R2)+ :SET INTERUPT VECTOR TO RTA310

016520 012712 000340 MOV #3640, (R2) 'AND THE INTERUPT PSW AS 340

016524 MTPS  #10

016524 106427 JWORD  106400!..C

016530 012737 000030 000434 MOV #30 a#TEMP1 :PREPARE TO EXECUTE THIS sSuB TEST 30 TIMES
016536 012704 077777 MOV ¥77777 .R6 “PLACE THE MULTIPLIER IN R4

016542 012700 177777 MOV #-1,R0 "AND THE MULTIPLICAND IN RO

016546 012701 100001 MOV #100001.R1 "AND THE LOWER PART OF THE RESULT IN R1
016552 112777 000015 161724 MOVE  #15,3$TPB ‘QUT PUT A 'R

016560 112777 000100 161720 MOVB  #100,a87TPS "ENABLE TTY INTERUPT

016566 070004 RTMUL: MUL R4 RO :MULTIPLY RO BY R4

016570 000776 BR RTMUL :STAY IN THE LOOP UNTIL INTERUPTED
016572 105077 161710 RTA310: CLRB  as$TPS "CLEAR TTY INTERUPT

016576 022716 016566 CMP #RTMUL , (SP) ‘IS THE RETURN ADDRESS - RTMUL

016602 001415 BEQ 4$ SIF SO THEN GO TO 4$

016604 012777 000015 161672 1%: MOV #15,a8TPB "OTHERWISE OUT PUT A '‘CR"

016612 105777 161670 2% TST8  as$TPS *LOOP HERE UNTIL DONE COMES ON
016616 100375 BPL 2% .

016620 012777 000015 161656 MOV #15.,381PB :0UT PUT ANOTHER '‘CR"'

016626 012777 000100 161652 MOV #100,387PS "ENABLE TTY INTERUPT

016634 000002 RTI

016636 (020427 077777 4% : CMP R4 A77777 :CHECK R4 TO CONTAIN PROPER DATA
016642 001403 BEQ 6$

016644 004767 000244 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
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;R4 WAS C(HANGED DURING THE EXECUTION OF

016650 000445 445
;THE INSTRUCTION

016652 020027 177777 6% : (MP  RO,4-1 “CHECK RO TG CONTAIN PROPER DATA

016656 001403 BEQ 88

016660 004767 000230 JSR PCLSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
RO CONTAINS WRONG VALUE

016664 000446 446

016666 020127 100001 8s: (WP /14100001 :CHECK R1 FOR THE PROPER DATA

016672 001403 BEQ

016674 004767 000214 JSR CshiT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
“R1 CONTAINS WRONG VALUE

016700 000447 447

016702 032766 000360 000002 108:  BIT  #360.2(SP) :CHECK THE PSW BEFORE INTERUPT

016710 001406 BEQ 128

016712 004767 000176 JSR  PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PSW IS WRONG

016716 000450 450

016720 042766 000020 000002 BIC  #20,2(SP ;CLEAR THE T-BIT IF 1T IS SET

016726 005337 000434 128:  DEC  Q#TEMPI

016732 001324 BNE 18 :1F THE SUB TEST HAS BEEN EXECUTED 30 TIMES
:THEN GO TO THE END OF THE TEST

016734 010277 161542 MOV R2,aTTYOUT ;RESTORE TTY INTERUPT VECTOR

016740 005012 (LR (RQ)

016742 022626 EMUL: CMP  (SP)+,(SP)+  ;RESTORE THE STACK POINTER

016744 021327 000310 (MP  (R5).#310 SCHECK THE TEST NUMBER

016750 001403 BEQ  .+10

016752 004767 000136 JSR  PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
STEST IS IN WRONG SEQUENCE

016756 000451 451

016760 005215 INC (RS)

.SBTTL END OF PASS ROUTINE

R 2223282223223 423233232323233233 233238382200 0R0R202 0ttt th Rt

*INCREHENT THE PASS NUMBER (SPASS)

:«TYPE "END PASS'’

;«]F THERES A MONITOR GO 1O [T

“«]F THERE ISN'T JUMP TO BEGIN

:«IF IT 1S DESIRED f0 HAVE A BELL INDICATE THE "END OF PASS'' LOCATION
:*$ENDMG CAN BE CHANGED 1O 7.

e S g st s S a2 A S PN AN A NN e b i = A NN N b = NN — NN 2 =

T s e e e e el e e e b T T e T R i T 4 L I R R N B e R N B A R P el e e T W
e e e e N e M N N e e e e e e A et e e e e Mo e PV N s W N e e N e N e s S N N N e N S N N o e e N M S e e e s e

016762 $EOP:

016762 010701 SCOPE

016764 005267 161416 INC $PASS ;; INCREMENT THE PASS NUMBER
016770 042767 100060 161410 BIC #100000,8PASS  ;:DON'T ALLOW A NEG. NUMBER
016776 005327 DEC (PC)+ ;. LOOP?

017000 000001 $EOPCT: .WORD 1

017002 003017 BGT $DOAGN s YES

017004 012737 MOV (PCI+,a(PC+ ;,RESTORE COUNTER

017006 000001 $ENDCT: .WORD 1

017010 017000 $EOPCT

017012 000004 017051 TYPE . SENDMG ;s TYPE "END PASS'’

017016 000004 017046 TYPE L SENULL ,.TYPE A NULL CHARACTER
017022 013700 000042 $GET42: MOV aké2 RO :GET MONITOR ADDRESS
017026 001405 BEQ $DOAGN - :BRANCH IF NO MONITOR
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(VKABB.P11 14-SEP-81 16:3 END OF PASS ROUTINE SEQ 0078
(1) 017030 000005 RESET ::CLEAR THE WORLD
(1) 017032 004710 $SENDAD: JSR PC, (RO) <260 TO MONITOR
(1Y 017034 000240 NOP 2 SAVE ROOM
(1) 017036 000240 NOP S FOR
(1) 017040 000240 NOP YIACTN
(1) 017042 $DOAGN:
(1) 017042 000137 JMP a(PC)+ ; :RETURN
(1) 017044 000600 $RTNAD: .WORD  BEGIN
(1) 017046 377 377 000 SENULL: .BYTE -1,-1.,0 ::NULL CHARACTER STRING
(1) 017051 015 042412 062116 SENDMG: .ASCIZ <15><12>/END PASS/
1;;% 017056 050040 051501 000123
1508 017006 000004 ENDCT: &
1333
153[, ;:tttttt*t*tttttttttt*tttttttttttttt*t*ttttt*t*tttttttttttttttttt
1535
1;;9 _SBTTL POWLR FAIL ROUTINE
1838 017064 012737 017076 000024 $PWRDN: MOV #$SPWRUP , a#24
}gzg 017072 000000 HALT
1541 017076 012706 000600 $PWRUP: MOV #BEGIN,SP ;RESTORE THE SP
1542 017100 012737 017064 000024 MOV #SPWRDN , a# 24
1543 017106 000004 000516 TYPE _POWER -GO AND TYPE ''POWER'’
}gzg 017112 000753 BR $DOAGN
1549 o HALT ROUTINE
1550 "a memmemeemm——
1551 I
1582 T
%ggz o PROGRAM COMES HERE ON ENCOUNTERING ANY ERROR
1
1555
1556 017114 017637 000000 000402 S$HLT: MOV a(SP) ,a#SFATAL ;PLACE THE ERROR NUMBER AT LOCATION SFATAL
1557 017122 032737 020000 000422 BIT #20000, a#$SWREG -HAS THE OPERATOR ASKED TO SUPRESS ERROR TYPE QUTS
1558 017130 001046 BNE 6%
1559 017132 000004 000510 TYPE ,$CRLF :GO AND TYPE A CR. LF., FOLLOWED BY 3 SPACES
1560 017136 010046 MOV RO,-{SP) *SAVE RO
1561 017140 112767 000002 161303 MOVB #2.$TPCNT "ALLOW TYPE OUTS OF PC AND ERROR NUMBER
1562 017146 016600 000002 MOV 2(SP) RO “BRING THE RETURN PC IN RO
1563 017152 162700 000004 SUB #4 RO
1564 017156 112737 000006 000450 ?2%: MOVB 86 akTYPCNT -ALLOW TYPE OUT OF 6 DIGITS
1565 017164 005046 CLR -(SP)
1566 017166 000241 4%: cLe
1567 017170 006100 ROL RO
1568 017172 006116 ROL (SP) -BRING THE C BIT FROM RO IN (SP)
1569 017174 052716 000060 BIS #60, (SP) “PREPARE TO TYPE IT OUT
1520 017200 004767 000130 JSR PC,$TPCHR “AND GO TO OUT PUT A CHARACTER
1521 017204 005016 CLR (SP)
1572 017206 006100 ROL RO
1623 017210 006116 ROL (SP)
1526 Q017212 006100 ROL RO
1575 017214 006116 ROL (SP)
1576 017216 105367 161226 DECB TYPCNT ©HAS ALL THE SIX CHARACTERS BEEN TYPED ?
15727 017222 001361 8NE 4% “1F NOT THEN REPEAT FROM 4$
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1578 017224 005726 TST *(SP)+ JRESTORE STACK POINTER
1579 017226 017600 000002 MoV 82(SP) .RO :PREPARE TO OUT PUT THE ERROR NUMBER
1580 017232 000006 000512 TYPE LSCRLF +?2 :60 AND TYPE 3 SPACES
1581 017236 105367 161207 DECB $TPCNT :1F BOTH PC AND ERROR NUMBER HAS NOT BEEN
1982 017242 001345 BNE 23 ;REPORTED THEN REPEAT FROM 2$
1583 017244 012600 MOV (SP)+ RO :RESTORE RO
1584 017246 105767 161146 6%: TSTB SENV ;IF WE ARE NOT UNDER APT. THEN GO TO
1585 017252 001403 BEQ 8% ;8%
1586 017254 0025237 000400 INC a#SMSGTY :OTHERWISE INFORM APT. ABOUT SEEING THE ERROR
1587 017260 000777 BR . ;AND LOOP
1588 017262 005737 000422 8%: TST INXSSWREG ;IS IT REQUIRED TO HALT ON ERRCR 7
1589 0172066 100001 BPL 108 ;1F NOT THEN GO TO 10%
1590 017270 000000 HALT
1591 017272 062716 000002 108 : ADD #2,(SP) :ADJUST THE RETURN ADDRESS
}ggg 017276 000207 RTS PC :AND RETURN
1597 o TYPE QUT ROUTINE
1598 % meesssccceses-e-
1599 o
1600 . ®
%285 M THIS ROUTINE IS USED TO TYPE ASCIZ MESSAGES
1603
1604 017300 G10046 $TYPE: MOV RO,-(SP) :SAVE RO
1605 017302 017600 000002 MOV 82 (SP) RO :GET THE ADDRESS OF THE ASSCIZ STRING
1606 017306 112046 2%: MOVB (RO)+,=-(SP) :PUSH THE CHARACTER TO BE TYPED ONTO STACK
1607 017310 001005 BNE 43 ;BRANCH [F IT IS NOT THE TEFLMINATOR
1608 017312 005726 1ST (SP)+
1609 017314 012600 MOV (SP)+,R0 ;OTHERWISE RESTORE THE STACK AND RO
1610 017316 062716 000002 3%: ADD #2,(SP) :ADJUST THE RETURN P(C
;2}; 017322 000002 RT] :AND RETURN
1613 017324 004767 000004 4% : JSR P(C,S$TP({HR :GO TO TYPE A CHARACTER
1614 017330 005726 TST (SP)+ ;RESTORE THE STACK POINTER
}2}2 017332 000765 BR 23 :AND RETURN T0Q 2%
1617 017334 132737 000040 000421 S$TPCHR: BITB #40 ., 3NSENVM :HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?
1618 017342 001006 BNE 43 :IF SO THEN RETURN FROM THE SUBROUTINE VIA 4%
1619 017344 105777 161136 2%: TSTB a%$7TPS ;1S THE PRINTER AVAJILABLE?
1620 017350 100375 BPL 2% :1F NOT THEN LOOP HERE
1621 017352 116677 000002 161124 MOVB 2(SP) ,a%1PB ;0UT PUT THE (HARACTER
1622 017360 000207 4$: RTS PC
1623 000001 .END
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SWwil = 004000 3554
Swi2 = 010000 3564
SO 000452 385#
St 000454 I864 387 1050 1054 1325 1328 1330
S10 000476 3954 1505 1508
S11 000500 3964
S2 000456 3874 1051 1053 1326 1329
53 000460 3188«
-S4 000462 3894
S5 000464 3904 391 1464 1467 1469
S6 000466 3914 1465 1468
S7 000470 3924
58 000472 3934
$9 000474 394N 395 1504 1507 1509
TEMP1 000434 3734 374 743 766 803 838 §73 908 946 982+ 988+ 1003« 1010
1028« 1041« 1078« 1087 1130 1173 1217+ 1225+ 1239 1247+ 1254 1259+ 1265+
1296+ 1303« 1520« 1521+*
TEMP2 000636 3754 376 7446 769 773 796+ 806 809 831« 841 844 866+ 876
879 901» 912 915 938+ 949 952 975« 983+ 989+ 995« 999+ 1004«
1011 1016+« 1022« 1029+ 1035« 1079« 1088 1131 1174 1218+ 1266+ 1273 12B4e
1289+ 1297+ 1304«
- TEMPS 000440 3774 378 745 785 797+ 821 832« 856 867« 891 902+ 927 939«
964 976 984« 990 1005+ 1012« 1017« 1023« 1030+ 1036« 1080« 1092 1095
1121« 1135 1138 1163+ 1178 1181 1207+ 1219 1231« 1235« 1240« 1260+ 1267+
1278« 1285« 1290« 1305+
TEMP4L 000442 3794 380 746% 781 817 852 887 923 960 991+ 1006+ 1018+ 1024
1031« 1037%«  1042¢= 1081« 1107 1124~ 1150 1166« 1193 1210+ 1220+ 1226 1241«
1248% 1274« 1279 1291« 1306+
TEMPS 000444 133;# }ggg* 1110 1123+ 1153 1165+ 1196 1209%  1221x 1242+ 1249+ 1255 1268«
* *
TEMP6 Q00446 3824 1083« 1103 1146 1189 1227+ 1243+ 1250« 1261+ 1269« 1280+ 1299 1307«
TST160 004306 112 1170 1214 12234
TST161 004334 1224 12294
TST162 004352 1230 12334
TST163 006370 1234 12374
TST166 004432 1238 12454
TST165 004470 1246 12524
TST166 004514 1253 12574
TST167 004544 1258 12634
TST170 004602 1264 12714
TST171 004626 1272 12764
1sT172 004654 1277 12824
IST173 004676 1283 12874
TST174 004734 1288 12944
7ST175 004770 1295 13014
TST1726 005046 1315#
1ST177 005142 13164
T1ST200 005236 13174
71S1201 005336 1318#
1ST202 005432 13194
157203 005526 13204
1ST204 005626 13214
1ST205 005722 13224
157206 006046 13284
1ST207 006150 13294
1ST1210 006252 1330#
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1ST301 015416 15114
151302 015522 15124
1ST303 015626 15134
TST304 015734 1514n
151305 016042 15154
1ST306 016146 15164
- 181307 016252 15204
1ST310 016500 15214
1ST37 002050 801 836 871 906 943 980 Q86H
TST40 002104 987 993
1S141 002120 994 9974
1ST42 002136 998 10014
TST43 002172 1002 10084
TST44 002224 1009 10144
TST4S 002256 1015 10204
1ST46 002310 1021 10264
1ST47 002346 1027 10334
- TST50 002276 1034 10394
TSTS1 002454 10524
TSTS52 002534 10534
- TSTS53 002614 10544
- TSTS56 002674 10554
1STSS 002752 10564
1S156 003030 10574
TST57 003106 10584
TST60 003166 10594
1ST61 003246 10604
15162 003324 10614
TTYOUT 000502 3974 1520+ 1521»
TYPCNT 000450 3834 1564+ 1576«
TYPE = Q00004 3574 1522 1543 1559 1580
SAPTHD 000430 3664 368
$CPUOP 000426 3644
$CRLF 000510 «00# 1559 1580
$DEVCT 000410 3644 718
$DNAGN 0170+2 15224 1544
$ENDAD (017032 342 15224
SENDCT 017006 1522# 1526
$SENDMG 017051 15224
SENULL 017046 15224
SENV 000420 364H 737 1584
SENVM 000421 3644 1520 1521 1617
$EOP 016762 15224
$EOPCT 017000 15224
$ETABL 000420 3644
$ETEND 000430 3644 366
SFATAL 000402 3644 1556
$GET42 017022 15224
$HD = 000003 325
$HIBTS 000430 3664
$HL T 017114 783 787 819 823 854 858 889 893 925 929 962 966 1046
1052 1053 1054 1055 1056 1057 1058 1059 1060 1061 1105 1109 11°3
1117 1148 1152 1156 1159 1191 1195 1199 1202 1311 1315 1316 1317
1318 1319 1320 1321 1322 1328 1329 1330 1331 1332 1333 1334 1335
1336 1337 1445 16446 1647 1448 1449 1450 1451 1652 14653 1454 1455
1456 1457 1458 1459 1460 1461 1462 1467 1468 1469 1470 1471 1472
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1673 1476 1475 1476 1486 1487  14BB 1489 1490 1491 . 1492 1493 149
1695 1496 1497 1498 1499 1500 1501 1502 1507 1508 ° 1509 1510 1511
1512 1513 1514 1515 1516 1520 1521 1556w
SMATL 000400 3640 366 720
SMBADR 0004 32 3664
SM3GAD 000414 3644
$MSGLG 000416 3644
$MSGTY 000400 3664 1586+
$PASS 000406 3648 767 804 839 874 910 947 1090 1133 1176 1522«
$PASTM 000436 3664
$PWRDN 017064 717 15384 1542
$PWRUP 017074 1538 15414
SRINAD 017044 52204
~ $SETUP= 000020 403 1522
$STUP = 177777 403N
$SVPC = 001000 3420
$SWR = 160000 3254 1522
SSWREG 000422 3647 1557 1588
STESTN 000404 3640 726
C$IN_ = 000001 3254
$TPB 000504 3984 1520+  1521% 1621«
$TPCHR 017334 1570 1613 16174
$TPCNT 000451 384w 1561+ 1581«
$TPS 000506 3994 739 1520% 1521+ 1619
§TSTM 000434 3664
$TYPE 017300 361 16044
SUNIT 000412 3644
SUNITM 000440 3664 .
SUSWR 000424 3644
$$GE T4= 000000 15224
. - 017362 3308 339 3,26 3604 3634 3664 3684 3704 3728 3744 3768 3788 3804
7164  724m 7334 7774 782 786 8134 818 822 848% 853 857 3834
888 892 9194 924 928 9564 961 965 1045  1052%  1053# 10544 10554
10564 1057# 10584 10594 10604 10614 1099 1104 1108 1111 1116 1142 1147
1151 1154 1158 11854 1190 1194 1197 1201 1310  1315# 13164 1317¢ 1218#
13194 13204 13214 13224 13284 13294 13304 13314 13324 13334 1334k 13354 13364
13370 14450 14468 14470 14488 16494 14504 14514 14524 1453k 1454 14550 14564
15574 14SBN 14594 14604 14614 14628 14674  1468K 14694 14708 14714 16728 14734
1676k 14758 14764 14868 14874  1488% 14894 14904 14914 1492 1693 14944 14954
16964 14974 14984 14994 15004 15014 15024 1507# 15084 15094 15104 1511 15124
. 000430 1§ggz 1516# 15154 15164 1520 15214 1522 1525 15264 15304 1587
.3X =
LA 016524 733¢ 777 8134 84BN 8B3# 9194 9564 10524 10534 10544 10554 10564 10574
10584 10594 10604 10614 10994  1142¢  11BSH 13154 13164 13i7¢ 1318 13194 13204
13214 13224  1328% 13294 13304  133Ta 13324 13334 1334k 13354 13364 13374 14454
15660 16478 13488 14494 14504  1L51H 14524 14534 1454w 16558 14564 14574 14584
14590 14608 14614 14620 14674 16684 14694 14708 14714 16720 16738 1674k 16758
10764 14864 14878 14884 14894 16904 14914 14924 14934  1696H 16954  1696X 14974
1498% 14994 15004 15014 15024 15074 15084 15094 15104 15114 15124 15134 15144
15154 15168 15204 15214
..B - 016530 7339 7778 Bi34  B4B# 8834 Q194 9564 10524 10534 10544 10554 10564 10574
1058# 10594 10604 10614 10994 11424 11854 13154 13164 13174 13184 13194 1320#
13214 1322¢  1328% 13294 13304 13374 13324 13334 13344 13354 13364 13374 14454
15668 16478 14688 14494 14504 14514 14504 14534 1454@ 14554 14564 14574 458
14594 14608 14614 14624 14674 16684 14694 14708 16718 16728 16734 1674H 1475H
16768 14864 14874 14884 14894 14904 149714 14924  1493%  1494@ 14958 14968 14974
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14984 14994 15004 15014 15024 15074 1508« 15C9# 15104 1511# 1512# 15134 15144
15154 15164 15204 1521«

onoce’ 733 7774 8134 848# 8834 919» 9564 1052# 1053» 1054# 1055# 10564 10574
1058¢ 10594 10604 10614 10994 11424 11854 13154 13164 13174 13184 13194 13204
13214 13224 13284 13294 13304 13314 13324 13334 13344 13354 13364 13374 14454
14464 1447# 14484 14494 14504 14514 1452# 14534 1454 14554 14564 164574 14582
14598 16600 14614 164628 14678 14688 14698 14704 16718 14728 14738 14748 14758
16760 16864 14874  1488& 14894 145904 14914 14928 14938 14948 14958 149684 14974
1498# 146994 15004 15014 1502# 15074 1508# 15094 15104 1511» 15124 15134 15144
15158 15164 15204 1521»

. ABS. 017362 000

ERRORS DETECTED: O

CVKABS, CVKABB/CRF : SYM/NL : TOC=SYSMAC ., SML/ML, CVKABB.P11
RUN-TIME: 10 11 .8 SECONDS

RUN-TIME RAT]O: 83/23=3.5

CORE USED: 15k (30 PAGES)



